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1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (0,14,2)

= po

A1z 30e+u4 /25
4201+ 0.0
p1 -35.85+ 0.00

TP delay

TVC(Cbch) (o, 14 6

pO
p1

[ns]

© 1 nug, ryve+u4 | 25
4204+ 0.0
-33.99 + 0.00

- C = 29.42 [ps/ch]

50 10'0
TP delay

TVC(eb,ch)=(0, 14, 10

wr

1000

= 90

[ns]

el 3e+04 /25
4231 0.0
p1 -35.94 + 0.00

TP delay

TVC(CbCh) (o, 14 14

= PD
pl

[ns]

T nuiL4spe+u4 / 25
4239+ 0.0
-37.1+ 0.0

PR R R SR R |
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,14,3)

o po

A~ 1 i bUbe+U4 [ 25
4200+ 0.0
pL -35.21+ 0.00

TP delay

TVC(c,b Ch) (0, 14 7

pO
pl

[ns]

=1 nurg 16be+U5 / 25
4203+ 0.0
-34.49 + 0.00

TP delay

TVC(e.beh)=(0, 14, 11

I 4.3

. pO

[ns]

- 3e+04 | 25
4229+ 0.0
pl -36.02+ 0.00

TP delay

TVC(cbch) (0, 14 15

e pO

[ns]

- ugs15e+U4 [ 25
4242+ 0.0
p1 -37.28 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (o, 15 0)

[ C =29.74 [ps/ch]

T rnugnaze+u4 [ 25
- pO 4195+ 0.0
-33.62 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0,154

- i 3zoe+u4 / 25
- pO 4209+ 0.0
pl -35.98:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0o, 15 8

T 1 nuip, 11 /e+U5 / 25
= po 4226+ 0.0
pl -35.37 + 0.00

TP delay [ns]

TVC(cbch) (0,15, 12

T ylie+ud /25
= po 4228+ 0.0
pl -34.82+ 0.00

TP delay [ns]

TVC(chh) (0,15,1)

3000 - T
2000 - T
wof C = 30.24 [ps/ch] .. ]

AT 1w u/e+u4 | 25
4000 [ po 4192+ 0.0
pl -33.07 + 0.00

TP delay [ns]

TVC(cbch) (0,155

4000 S

3000

2000

1000

~1nu1y1e+u4 / 25
pO 4212+ 0.0
pL -36.29+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 15

3000

2000

1000

<1 nuiL z05e+U5 / 25
4000 em, pO 4258+ 0.0
-35.4+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (0.15,13

4000 [

3000

2000

1000

T nuiLvbze+ud [ 25
pO 4220+ 0.0
p1 347+ 0.0

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

1000

1000

TVC(CbCh) (0,15,2)

TP delay [ns]

TVC(cbch) (0.15,6

X~ 1w L 34e+04 /25
- po 4216+ 0.0
o pl -35.31+ 0.00

3000

Ty 3e+ud [ 25
- pO 4220+ 0.0
[ pl -36.43+ 0.00

TP delay [ns]

TVC(cbch) (0, 15 10

- b

1 nug.444e+04 | 25

pl -36.02 + 0.00

4274+ 0.0

TP delay [ns]

TVC(cbch) (0,15, 14

T 1nuiLbsve+u4 [ 25
F-. pD 4217+ 0.0
L -34.38+ 0.00

- C = 29.08 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,15,3)

AT rmuiLzzre+U5 /25
.. po 4207+ 0.0
p1 -34.82+ 0.00

TP delay [ns]

TVC(c, bch) (0,157

-1 nui baze+u4d | 25
- pO 4233+ 0.0
pL -36.57+ 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (o, 15 1

T nugsu/e+U5 / 25
4245+ 0.0
-34.3+ 0.0

[ C=29.16 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(cbch) (0, 15,15

T inai144e+04 /24
e pO 4227+ 0.0
p1 -34.92 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,0

A7 nuiazoe+04 /25
P, po 4182+ 0.0
pl -36.17 + 0.00

TP delay [ns]

TVC(cbch) (1,0,4

-1 355e+04 / 25
™, pO 4163+ 0.0
pl -35.93+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1 0,8

©nuiLysve+u4 / 25
= po 4188+ 0.0
p1 -34.34+ 0.00

TP delay [ns]

TVC(cbch) (1,0,12

T L b34e+04 / 25
= po 4200+ 0.0
pl -34.93+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,1)

AT rnuaiL4re+ud 25
' po 4184+ 0.0
pl -36.77 + 0.00

TP delay [ns]

TVC(c,b ch) (1, O

~nui 3yse+u4 [ 25
pO 4172+ 0.0
pL -35.41% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1 0,9

T nun.4/9e+u4 [ 25
po 4209+ 0.0
p1 -34,53+ 0.00

TP delay [ns]

TVC(cbch) (1,0,13

Tinai 4ze+u4 [ 25
pO 4200+ 0.0
pl -35.92+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,0,2)

AT 1nunazse+04 /25
i po 4178+ 0.0
L pl -35.5+ 0.0

3000

TP delay [ns]

TVC(cbch) (10,6

Tnun144e+04 /25
4183+ 0.0
-35.4+ 0.0

TP delay [ns]

TVC(cbch) (1, 0 10

©1nuz 3ooe+u4 [ 25
= po 4227+ 0.0
- pl -34.73 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,0,14

~ 1L pzse+u4 | 25
= pD 4213+ 0.0
L p1 -37.24+ 0.00

3000

TP delay [ns]

4000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,3

AT rnuiL4r0e+u4 /25
- po 4201+ 0.0
pl -36.31+ 0.00

TP delay [ns]

TVC(c,b ch) (1 0,7

- nui by e+u4 [ 25
e, pO 4193+ 0.0
pL -36.26+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, O

T, /54e+u4/25
= po 4235+ 0.0
p1 -35.45 + 0.00

TP delay [ns]

TVC(C, bch) (1,0,15

Tonai/13e+u4 /25
= pO 4206+ 0.0
p1 -36.39+ 0.00

TP delay [ns]
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1000
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3000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,0

A7 1 nui sone+u4 /25
P po 4175+ 0.0
pl -36.06 + 0.00

TP delay [ns]

TVC(cbch) (11,4

- i 3426404/ 25
= pO 4174+ 0.0
pl -35.57+ 0.00

TP delay [ns]

TVC(ebioh)=(1, 1,8

1 nuiL4ope+U4 / 25
- pO 4194+ 0.0
pl -34.55+ 0.00

TP delay [ns]

TVC(cbch) (1,1,12

T rnuiL4zse+u4 [ 25
- po 4210+ 0.0
pl -36.27 + 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,1

AT rnunLszse+ud [ 25
., po 4195+ 0.0
pl -35.57+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

-1 nui bz4e+04 [ 25
pO 4192+ 0.0
pL -36.02:+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

 C =29.22 [ps/ch]

T inun sg1e+u4 / 25
po 4217+ 0.0
p1 -34.23+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,1,13

Tonan g oze+ud [ 25
pO 4203+ 0.0
pl -36.69 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,1,2)

A7 1 nui Sooe+u4 / 25
- po 4194+ 0.0
o pl -35.23+ 0.00

3000

TP delay [ns]

TVC(cbch) (11,6

1 nuiL494e+04 / 25
[F-e. pO 4201+ 0.0
- pl -35.91+ 0.00

3000

TP delay [ns]

TVCebeh)=(1, 1, 10

- C =29.12 [ps/ch]

T rnuiLys1e+u4 / 25
-, po 4226+ 0.0
- pl -34.34+ 0.00

3000

1
50 100

TP delay [ns]

TVC(cbch) (1,114

T rnuiLpz1e+u4 / 25
= pD 4213+ 0.0
+ pl -36.76 + 0.00

3000

PR IR SRR |
50 100

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,3)

T Lzze+ud [ 25
P, pO 4202+ 0.0
p1 -34.87 + 0.00

TP delay [ns]

TVC(c,b ch) (1 1,7

- /i 4bae+0d | 25
- pO 4201+ 0.0
pL -35.12:+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

1)
T nuia14e+04 /25
- pO 4229+ 0.0
p1 -34.96 + 0.00

TP delay [ns]

TVC(cbch) (1,1,15

-1 nuiquse+ud / 25
= pO 4203+ 0.0
p1 -35.19+ 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,0

A7 1 nui sone+u4 /25
. po 4194+ 0.0
pl -36.54 + 0.00

TP delay [ns]

TVC(cbch) (1,24

T i 1.43e+04 /25
e, pO 4212+ 0.0
p1 -35.78 + 0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(1,2,8

T L, ryve+u4 | 25
= po 4196+ 0.0
pl -34.85+ 0.00

TP delay [ns]

TVC(cbch) (1,212

T i, rgse+u4 | 25
= po 4239+ 0.0
pl -36.61+ 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,1

AT 1 nuiL$oge+u4 [ 25
., po 4195+ 0.0
pl -35.17+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

-1 b3ve+u4 / 25
pO 4231% 0.0
pL -35.69+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

T nuiggo3e+ud / 25
po 4218+ 0.0
pl -35.01+ 0.00

TP delay [ns]

TVC(cbch) (1,213

T nuio3ve+ud [ 25
pO 4238+ 0.0
pl -37.13+ 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (1,2,2)

AT zize+04 /25
=, po 4208+ 0.0
o pl -35.61+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,26

©rnuiL4y1e+04 / 25
- pO 4239+ 0.0
[ pl -35.85+ 0.00

TP delay [ns]

TVC(ebeh)=(1, 2, 10

T L/ rbe+u4 | 25
= po 4227+ 0.0
- pl -35.07 + 0.00

TP delay [ns]

TVC(cbch) (1,2 14

T ru1e+u4 / 25
- pD 4239+ 0.0
L pl -36.11 + 0.00

TP delay [ns]
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1000
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1000
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1000

4000

3000

2000

1000

TVC(cbch) (1,2,3

AT 1 nuiLzsve+ud [ 25
- po 4202+ 0.0
pl -34.58 + 0.00

TP delay [ns]

TVC(c,b ch) (1 2,7

-1 nun g1ye+u4 / 25
- pO 4236+ 0.0
pL -35.52:+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

T, /54e+u4/25
4250+ 0.0
-35.8+ 0.0

TP delay [ns]

TVC(C, bch) (1,215

T nai ryse+ud [ 25
e pO 4234+ 0.0
p1 -36.09 + 0.00

TP delay [ns]
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1000
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1000

4000

3000

2000

1000

TVC(cbch) (1,3,0)

A7 nun ause+ud [ 25
4205+ 0.0
-37.09 + 0.00

TP delay [ns]

TVC(cbch) (1,34

- i zbge+u4 [ 25
e pO 4199+ 0.0
pl -37.06+ 0.00

TP delay [ns]

TVC(cbch) (1 3,8

Tz 134e+04 / 25
- po 4229+ 0.0
pl -35.21+ 0.00

TP delay [ns]

TVC(cbch) (1,312

TrnaiLzrze+u4 /25
== po 4193+ 0.0
pl -33.31+ 0.00

[ C =30.02 [ps/ch] ». ]

PR B SRS |
50 100

TP delay [ns]
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3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,1)

= po

AT 1L sose+ud [ 25
4206+ 0.0
-35.73+ 0.00

pl

1
100

TP delay [ns]

TVC(c,b ch) (1, 3

-1 nui 3bze+u4 [ 25
E pO 4230+ 0.0
pL -38.33+ 0.00

50 1(;0 =
TP delay [ns]

TVC(c,b ch) (1 3,9

~ 1 nuig pbge+ud / 25
- pO 4247+ 0.0
pl -35.84 + 0.00

TP delay [ns]

TVC(cbch) (1,313

~ 1 nuiLgpgae+ud [ 25
feee. 4195+ 0.0
-33.43+ 0.00

[ C =29.92 [ps/ch] ]

PR U S S |
50 100

TP delay [ns]
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1000

4000
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2000

1000

4000
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2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,2)

A"

po
pl

1L oL/e+ud [ 25
4209+ 0.0
-36.03+ 0.00

TP delay [ns]

TVC(cbch) (1,36

- b13e+04 / 25
. pO 4230+ 0.0
[ pl -38.16 + 0.00

TP delay [ns]

TVC(cbch) (1, 3 10

© 1 nuiLg3be+u4 / 25
. po 4269+ 0.0
L pl -35.77 + 0.00

TP delay [ns]

TVC(cbch) (1,314

- nar )61.2 125
- pO 4187+1.1
[ pl -33.2+ 0.0

- C=30.12 [ps/ch] ™. 1

PR IR SRR |
50 100

TP delay [ns]

4000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,3)

A

po
pL

1 UL bube+u4 / 25
4224+ 0.0
-36.49 + 0.00

TP delay [ns]

TVC(c,b ch) (1 3,7

-1 nui byge+u4 / 25
4236+ 0.0
-37.8+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 3

T b/ﬂe+l}4/25
- po 4252+ 0.0
p1 -35.45 + 0.00

TP delay [ns]

TVC(C, bch) (1,315

T naiasze+ud [ 25
= pO 4199+ 0.0
-34.01+ 0.00

[ C =29.40 [ps/ch]

PR I S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,4,0)

A~ 1nuing1e+04 /25
po 4220+ 0.0
pl -38.25+ 0.00

L=
50 100

TP delay [ns]

TVC(cbch) (14,4

- i z83e+u4 [ 25
[, PO 4202+ 0.0
pl -34.95+ 0.00

50 10‘0
TP delay [ns]

TVC(eb.oh)=(1, 4,8

©1nuz lobe+u4 / 25
- pO 4242+ 0.0
pl -36.53 + 0.00

TP delay [ns]

TVC(cbch) (1,412

T rnuiLb31e+u4 / 25
= po 4207+ 0.0
pl -34.85+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,4,1

AT 1 nuiLbu/e+u4 /25
Foase po 4224+ 0.0
pl -38.79 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

= 1nui 33ze+04 / 25
== po 4216+ 0.0
pl -35.88 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

T inun,713e+04 / 25
- po 4269+ 0.0
pl -36.52 + 0.00

TP delay [ns]

TVC(cbch) (1,4,13

T nuiLayze+ud [ 25
— pO 4216+ 0.0
pl -35.79+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000
3000
2000

1000

TVC(cbch) (1,4,2)

AT 1nuosre+ud /25
. po 4226+ 0.0
- pl -37.95+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (14,6

S rnun 1 55e+04 /25
- pO 4221 0.0
[ pl -36.41+ 0.00

TP delay [ns]

TVC(ebeh)=(1, 4, 10

0

T 1nuiz.a43e+04 | 25
- DO 4289+ 0.0
L pl -37.32+ 0.00

TP delay [ns]

TVC(cbch) (1,4,14

T nuiLb1ve+u4 [ 25
4219+ 0.0
-35.7+ 0.0

PR IR SRR |
50 100

TP delay [ns]

4000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,4,3)

e po

p1

AT rnuiLbzre+ud [ 25
4228+ 0.0
-37.6+ 0.0

TP delay [ns]

TVC(c,b ch) (1 4,7

Fo=. pO
pl

-1 nui bgbe+u4 / 25
4227+ 0.0
-35.68 + 0.00

TP delay [ns]

TVC(c,b ch) (1,4,

X~ g,

= po
pL

1)
163e+U4 / 25
4276+ 0.0
-36.27 + 0.00

TP delay [ns]

TVC(C, bch) (1,4,15

= po

p1

T nui o3se+ud [ 25
4211+ 0.0
-36.08 + 0.00

TP delay [ns]



TVC(cbch)(lSO) TVC(cbch)(lSl) TVC(cbch)(152) TVC(cbch)(153)
A™ 1 i 5yoe+u4 [ 25 A~ 1L sure+ud | 25 AT 1L 383e+U4 [ 25 A~ 1w zore+ud | 25
4000 Fomee PO 4191+ 0.0 4000 Mo po 4195+ 0.0 4000 _= po 4200+ 0.0 4000 e, po 4209+ 0.0
pl -35.57 + 0.00 pl -35.38+ 0.00 r pl -35.6+ 0.0 pl -35.03+ 0.00

3000

- 3000 =1 3000 -

-1 3000

2000 E 2000 - 2000 - 2000 F

- 1000 |~

1000 ] 1000 oo C = 28.54 [ps/ch ]
L 1 1 1 - _1 1 -
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (1,54 TVC(cbch) (155 TVC(cbch) (1,56 TVC(c, bch) (1,57

- 1L 3p8e+u4 / 25 T 1.40e+04 [ 25 T3/ /e+04 [ 25 - nun 31ze+04 / 25
4000, pO 4223+ 0.0 4000 pO 4224+ 0.0 4000 e, pO 4241+ 0.0 4000 [ pO 4242+ 0.0
Pl -35.92% 0.00 Pl -36.01% 0.00 I PL_ -36.66+ 0.00 -35.54 0.0

3000} g 3000 E 3000 1 3000 4

2000~ E 2000 E 2000~ ] 2000 B

1000f C 4 1000 - wool- C = 27.27 [ps/ch ] 1000 4

- [ "~ ] -
- [ - -
1 L= o 1 [ 1 -
50 100 50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b Ch) (1, 5 8) TVC(c,b Ch) (1, 5 ) TVC(c,b, Ch) (1, 5 10) TVC(c,b Ch) (1, 5 1)
T nug.Ubre+ud / 25 - Uy, bybe+u4 / 25 © a2, yuge+ud / 25 T 331e+u4 / 25
4000 e, pO 4235+ 0.0 4000 e, pO 4259+ 00 4000 [, DO 4273+ 00 4000 fam, p0 4281% 0.0
Pl -36.32% 0.00 Pl -36.14% 0.00 [ PL_ -36.89+ 0.00 Pl -36.84+ 0.00

3000

-1 3000 - 3000 -1 3000 -1

2000 e 2000 - 2000 — 2000

1000 E 1000 4 1000 E 1000

0 0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(lSl ) TVC(cbch)(1513) TVC(cbch)(151 ) TVC(cbch)(1515)
T L gzze+04 [ 25 T inuip31e+ud / 25 T rnuiLgi4e+04 /25 T nuiplve+ud [ 25
4000 f pO 4251+ 0.0 4000 e, pO 4247400 4000 f, PD 4245+ 0.0 4000 i, pO 4256 0.0
pl -35.89 + 0.00 pl -35.74.+ 0.00 F pl -35.49 + 0.00 pl -35.55 + 0.00

3000

T 3000 1 3000 -1 3000 -1

2000 -1 2000 1 2000 - 2000

1000 1 1000 7 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,0)

. p0

pl

A~ 1 nuiLayre+ud [ 25
4193 0.0
-37.04 + 0.00

TP delay [ns]

TVC(cbch) (1,64

-1 zz4e+04 [ 25
4220+ 0.0
-36.68 + 0.00

e, PO
p1
FC ]
| L -'
50 100
TP delay [ns]
TVC(cbch) (1,6,8)
1 nuiLg4ve+U4 | 25
- po 4220+ 0.0
pl -34.73+ 0.00

TP delay [ns]

TVC(cbch) (1,6,12

~ 1L pyse+u4 / 25
4231+ 0.0
-37.21+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,1)

[ po

AL 4se+Ud ] 25
4197 + 0.0
-36.56 + 0.00

pl

TP delay [ns]

TVC(c,b ch) (1, 6

- nui1/4e+04 / 25
4217+ 0.0
-36.12+ 0.00

TP delay [ns]

TVC(c,b ch) (1 6,9

[, pO

T nugo/3e+ud [ 25
4240+ 0.0
-35.17+ 0.00

pl

TP delay [ns]

TVC(c,b Ch) (1, 6 13

T nuiLpbse+ud / 25
4228+ 0.0
-36.37+ 0.00

TP delay [ns]

4000

3000

2000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,2)

= PO

A~ 1 nui 4goe+u4 / 25
4204+ 0.0
-37.37+ 0.00

pl

TP delay [ns]

TVC(cbch) (16,6

F= P°

pl

© L 2yse+u4 / 25
4220+ 0.0
-35.59 + 0.00

TP delay [ns]

TVC(eb,oh)=(1, 6, 10

- b

- 1L g rge+u4 [ 25
4255+ 0.0
-34.95+ 0.00

pl

TP delay [ns]

TVC(cbch) (1,614

1000

pD
pl

-1 i so/e+u4 [ 25
4222+ 0.0
-36+ 0.0

TP delay [ns]
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1000
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3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,3)

e po

p1

A~ 1 nuiL 353e+u4d [ 25
4212+ 0.0
-35.81+ 0.00

TVC(c,b ch) (1 6,7

C po
pl

1
100

TP delay [ns]

Snun13ze+04 [ 25
4219+ 0.0
-35.04 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (1, 6

= pO

pl

T 41/e+u4/25
4246+ 0.0
-34.62 + 0.00

[ C =28.88 [ps/ch]

50

1
100

TP delay [ns]

TVC(c,b ch) (1, 6 15

Sy foe+ud [ 25
4214+ 0.0
-36.1+ 0.0

1
100

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,7,0

K™ 1 nui zole+ud /25
. po 4185+ 0.0
pl -35.36+ 0.00

TP delay [ns]

TVC(cbch) (17,4

T 31/e+04 /25
= pO 4196+ 0.0
p1 -36.72:+ 0.00

50 10‘0
TP delay [ns]

TVC(eb,oh)=(1,7,8

Trnuzz(e+04 | 25
po 4218+ 0.0
pl -36.36 + 0.00

TP delay [ns]

TVC(cbch) (1,7,12

T o/e+u4 /25
= po 4227+ 0.0
pl -35.38+ 0.00

TP delay [ns]
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3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (1,71

AT rmuiLoroe+ud [ 25
Fee,, po 4202+ 0.0
pl -36.27 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 7

=1 nuiL 2u3e+ud | 25
== po 4194+ 0.0
pl -36.49 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 7

T nugsz1e+u4 /25
= po 4220+ 0.0
pl -35.68 + 0.00

TP delay [ns]

TVC(cbch) (1,7,13

Tinai141e+u4 /25
pO 4228+ 0.0
p1 -36.3+ 0.0

TP delay [ns]
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1000
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2000

1000
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1000

TVC(cbch) (1,7,2)

A7 nun Soze+04 /25
- po 4195+ 0.0
L pl -35.51+ 0.00
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TP delay [ns]

TVC(cbch) (17,6

- 1 i b48e+04 [ 25
- pO 4237+ 0.0
3 pl -36.92+ 0.00

3000

TP delay [ns]

TVC(ebeh)=(1, 7, 10

Tz zz9e+04 | 25
= po 4228+ 0.0
L pl -35.83+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,7,14

T rnuiLzyse+ud | 25
- pD 4223+ 0.0
L pl -35.37 + 0.00

3000

TP delay [ns]
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1000
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1000

4000

3000

2000
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TVC(cbch) (1,7,3)

AT 1L ouse+u4 [ 25
po 4212+ 0.0
pl -36.54 + 0.00

TP delay [ns]

TVC(c,b ch) (1 7,7

-1 nui 49ye+u4 / 25
pO 4220+ 0.0
pL -37.19+ 0.00

TVC(c,b ch) (1, 7

50 100
TP delay [ns]

1)
T nui s se+u4 [ 25
po 4239+ 0.0
p1 -36.48 + 0.00

TP delay [ns]

TVC(C, bch) (1,7,15

T nai zzye+ud [ 25
po 4231% 0.0
p1 -35.58 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000
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TVC(cbch) (1,8,0)

T Lyze+ud /25
P pO 4174+ 0.0
pl -35.95+ 0.00

TP delay [ns]

TVC(cbch) (1,84

=i zuse+u4 / 25
e, pO 4212 0.0
p1 -37.73+ 0.00

50 100
TP delay [ns]

TVC(cbch) (1 8,8

1z Zove+u4 | 25
4204+ 0.0
-36.5+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (1,812

T L doe+ud /25
= po 4239+ 0.0
pl -36.44 + 0.00

TP delay [ns]
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3000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,81

AT rnuanLrsie+ud [ 25
=N po 4201 0.0
pl -37.01+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 8

-1 nui 248e+04 [ 25
e, pO 4204+ 0.0
pL -37.25+ 0.00

TP delay [ns]

TVC(c,b ch) (1 8,9

- nun g.4re+04 [ 25
4231% 0.0
-36.1+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (1,813

T inuisyle+ud / 25
= pO 4220+ 0.0
pl -35.22+ 0.00

TP delay [ns]
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4000
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1000

4000

2000

4000

2000

1000

TVC(cbch) (1,8,2)

1000

AT 1nun rsse+u4 /25
- po 4204+ 0.0
L p1 -36.6 + 0.0

3000

TP delay [ns]

TVC(cbch) (1,86

- rnuiL418e+04 / 25
- pO 4208+ 0.0
[ pl -36.97 + 0.00

3000

TP delay [ns]

TVC(cbch) (1, 8 10

1000

T 1nuzp3pe+ud | 25
= po 4242+ 0.0
- pl -36.01+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,814

~ 1L buse+U4 / 25
- pD 4238+ 0.0
[ p1 -36.97 + 0.00

3000
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50 100
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TVC(cbch) (1,8,3

AT 1 nuiLryve+ud [ 25
- po 4208+ 0.0
p1 -36.7 + 0.0

TP delay [ns]

TVC(c,b ch) (1 8,7

- nun bz /e+u4 [ 25
e, pO 4209+ 0.0
pL -37.08+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (1, 8

AN uz::e+u4/25
= po 4236+ 0.0
pl -35.99 + 0.00

TP delay [ns]

TVC(C, bch) (1,815

T nui vbse+ud [ 25
= pO 4238+ 0.0
p1 -35.77 + 0.00

TP delay [ns]
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TVC(cbch) (1,9,0)

A7 1 nun ssoe+u4 / 25
4195+ 0.0
-36.05+ 0.00

TP delay [ns]

TVC(cbch) (1,94

= 1 i Upbe+ud / 25
4210+ 0.0
-36.22 + 0.00

e pO
pL
3000 ]
2000~ ]
1000~ C ]
0 = 00 -
TP delay [ns]
TVC(cbch) (1,9,8)
© 1 nuiL40ze+04 / 25
4000 pD 4181+ 0.0
p1 -33.88+ 0.00
3000 - ]
2000 - ]
1000 C = 29.52 [pS/Ch] T
1 1 -
b 50 100
TP delay [ns]
TVC(c,b ch) (1,912
2000 po

3000

2000

1000

p1

T rnuiLzsie+u4 [ 25
4207+ 0.0
-34.69+ 0.00
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1000

TVC(cbch) (1,9,1)
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AT 1L sube+ud [ 25
4206+ 0.0
-35.76 + 0.00
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1
100

TP delay [ns]

TVC(c,b ch) (1, 9

F- pO

~nui 34/e+04 [ 25
4223+ 0.0
-36.68 + 0.00

TP delay [ns]

TVC(c,b ch) (1 9,9

1 nu.349e+04 / 25
4213+ 0.0
-34.6 £ 0.0

1
100

TP delay [ns]

TVC(cbch) (1,9,13

T inai zsze+ud [ 25
4195+ 0.0
-34.1+ 0.0

[ C =29.33 [ps/ch]

50

il
100

TP delay [ns]
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1000
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1000
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TVC(cbch) (1,9,2)

- po

pl

AT 1nun szye+u4 /25
4201+ 0.0
-36.14 + 0.00

TP delay [ns]

TVC(cbch) (19,6

- P°

-1 nui334e+04 / 25
4230+ 0.0
-36.9+ 0.0

TP delay [ns]

TVC(cbch) (1, 9 10

o, pO

pl

Tinu.z4(e+04 /25
4231+ 0.0
-35.53+ 0.00

TP delay [ns]

TVC(cbch) (1,914

T ssse+u4 [ 25
4201+ 0.0
pl -35.25+ 0.00

TP delay [ns]
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1000
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1000

TVC(cbch) (1,9, 3)
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p1

AT rnuaiL4ie+ud [ 25
4234+ 0.0
-37.96 + 0.00

TP delay [ns]

TVC(c,b ch) (1 9,7

o, pO

- nui 1yze+u4 / 25
4234+ 0.0
-36+ 0.0

1
100

TP delay [ns]

TVC(c,b ch) (1, 9

pO
pl

T b‘JBe+U4/25
4222+ 0.0
-34.07 + 0.00

[ C=29.35[ps/ch]

50

1
100

TP delay [ns]

TVC(C, bch) (1,9,15

T nuias0e+u4 / 25
4209+ 0.0
-34.2+ 0.0

[ C =29.24 [ps/ch]

50

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000
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4000
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1000

TVC(cbch) (1,10,0)

TonuaiLzrze+ud [ 25
e, PO 4198+ 0.0
pl -35.8+ 0.0

TP delay [ns]

TVC(cbch) (1,104

T 3r1e+u4 / 25
- pO 4186+ 0.0
pl -34.38 + 0.00

TP delay [ns]

TVC(cbch) (1, 10 8

T4 r8e+04 [ 25
- PD 4230+ 0.0
pl -37.18 + 0.00

TP delay [ns]

TVC(cbch) (1,10,12

TinuiL4sie+ud / 25
- PO 4224+ 0.0
-33.88 + 0.00

TVC(cbch) (1,10,1)

3000

2000

1000

X- 1 i sbae+U4 | 25
4000 fRm,, po 4214+ 0.0
pl -35.79 + 0.00

TP delay [ns]

TVC(c, bch) (1,10,5

4000

3000 -

2000

1000 [~

S nun1.43e+04 /25
DU 4187+ 0.0
pL -35.06 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1,10,9

4000 e

3000

2000

1000

T nugu3/e+ud [ 25
DO 4235+ 0.0
pl -35.91+ 0.00

TP delay [ns]

TVC(cbch) (110,13

4000 &,

3000 -

2000 -

T as/e+u4 [ 25
PO 4228+ 0.0
pl -32.9+ 0.0

[ C =29.52 [ps/ch]

PR B SRS |
50 100

TP delay
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00 C = 30.40 [ps/ch] ™

P IR |
50 100

TP delay
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1000
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1000

4000

3000
2000

1000

TVC(cbch) (1,10,2)

X~ 1L so0e+U4 [ 25
- PO 4202+ 0.0
I pl -34.88+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,10,6

~ i bzoe+u4 [ 25
- pO 4205 0.0
I pl -35.31+ 0.00

TP delay [ns]

TVC(cbch) (1, 10 10

T L sz3e+u4 [ 25
- DO 4252+ 0.0
I pl -36.37 + 0.00

TP delay [ns]

TVC(cbch) (110,14

T nuiLo1ye+u4 [ 25
- PD 4229+ 0.0
F pl -34.88 + 0.00

TP delay
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1000
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1000
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3000

2000

1000

TVC(cbch) (1,10,3)

AT nuiLz43e+U4 [ 25
- PO 4199+ 0.0
p1 -34.56 + 0.00

TP delay [ns]

TVC(c, bch) (1,10,7

~rnuan1.b1e+u4 /25
- PO 4218+ 0.0
Pl 3562+ 0.00

TP delay [ns]

TVC(eheh)=(1, 10, 11

-1 nuiL ozZoe+ud / 25
- pO 4278+ 0.0
pl -38.21+ 0.00

TP delay [ns]

TVC(cbch) (1,10,15

T 45/e+U4 [ 25
= 4213+ 0.0
-33.65+ 0.00

[ C=29.72 [ps/ch] ]

PR I S S |
50 100

TP delay

[ns]
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1000

0
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1000

TVC(CbCh) (1,11,0)

A1 L soe+u4 /25
o= po 4201+ 0.0
pl -37.08 + 0.00

TP delay [ns]

TVC(cbch) (1,114

T a1 r5e+04 / 25
- pO 4205+ 0.0
p1 -35.74+ 0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(L, 11,8

T nuig.gEe+U4 / 25
= po 4227+ 0.0
pl -36.79+ 0.00

TP delay [ns]

TVC(cbch) (1,11, 12

K71 nui byze+u4 /25
po 4241+ 0.0
pl -35.98 + 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(Cbch) (1,11,1)

A 1L osae+ud | 25
= po 4211+ 0.0
pL -36.4+ 0.0

TP delay [ns]

TVC(cbch) (1,11,5

-1 nui 403e+04 / 25
- pO 4202+ 0.0
pL -35.98+ 0.00

TP delay [ns]

TVC(eb.eh)=(1, 11, 9

<1 nu.194e+04 / 25
4254+ 0.0
-37.51+ 0.00

TP delay [ns]

TVC(cbch) (1,11,13

T nuisule+ud / 25
pO 4239+ 0.0
pl -36.48 + 0.00

TP delay [ns]
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3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (1,11, 2)

A1 L ooe+u4 [ 25
- po 4226+ 0.0
- pl -37.25+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,116

Tz re+04 [ 25
- pO 4221 0.0
[ pl -36.05 + 0.00

TP delay [ns]

TVC(eb,ch)=(1, 11, 10

1000

0

X~ 11wz puse+u4d [ 25
= po 4272+ 0.0
F pl -36.84 + 0.00

TP delay [ns]

TVC(cbch) (1,11,14)

T rse+ud /25
- pD 4236+ 0.0
- pl -37.22+ 0.00

TP delay [ns]
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1000
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1000

4000

3000

2000

1000

TVC(cbch) (1,11,3)

AT 1 nuiL4zge+ud [ 25
- po 4228+ 0.0
p1 -36.3+ 0.0

TP delay [ns]

TVC(cbch) (1,11,7

-1 nun 33be+04 / 25
- pO 4230+ 0.0
pL -35.91% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 11 11

Tonaizinie+ud /25
- po 4275+ 0.0
pl -36.96 + 0.00

TP delay [ns]

TVC(cbch) (111,15

-1 nui supe+ud / 25
4246+ 0.0
-37.41+ 0.00

50 100

TP delay [ns]
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1000

4000 =

3000
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1000

TVC(CbCh) (1, 12 0)

- rnug431e+04 /25
=N pO 4155+ 0.0
p1 -34.7+ 0.0

TP delay [ns]

TVC(c,b ch) (1, 12 4

=1 nuiL405e+04 / 25
- pO 4172+ 0.0
p1 -35.15+ 0.00

50 5
TP delay [ns]

TVC(ebeh)=(1, 12,8

- 126 re+U4 | 25
- po 4197+ 0.0
p1 -35.55+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 12 12

~uan 1ade+ud [ 25
po 4194+ 0.0
pl -34.84 + 0.00

TP delay [ns]
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1000
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1000

TVC(chh) (1,12,1)

AT 1 nuiLgoye+u4 [ 25
peoe.. po 4164+ 0.0
pl -35.15+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 12 5

-/ uiLadae+0d [ 25
- pO 4185+ 0.0
p1 -35.44 + 0.00

50 150
TP delay [ns]

TVCEbeh)=( 1, 12,9

-,/ (8e+Ud | 25
- po 4203+ 0.0
p1 -34.26  0.00

[ C =29.19 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b ch) (1, 12 13

- TinuiLag/e+ud [ 25
= pO 4192+ 0.0
pl -35.77 + 0.00
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1000

TVC(CbCh) (1,12,2)

X~ 1 nuiL s1be+u4 [ 25
- po 4173+ 0.0
[ p1 -34.87+ 0.00
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TP delay [ns]

TVC(c,b ch) (1, 12 6

T 14ze+04 /25
e pO 4184+ 0.0
N p1 -35.27 + 0.00

TP delay [ns]

TVC(cbch) (112,10

T 1nuiz.a43e+04 | 25
= po 4224+ 0.0
L p1 -35.49+ 0,00

TP delay [ns]

TVC(c,b Ch) (1, 12 14

T rnuiLgsze+u4 [ 25
pD 4208+ 0.0
pl -36.09 + 0.00

TP delay [ns]
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e po 4180+ 0.0
pL 344+ 0.0

TP delay [ns]

TVC(c,b Ch) (1, 12 7

-1 nui bbbe+u4 / 25
- pO 4198+ 0.0
p1 -35.47 + 0.00

TP delay [ns]

TVC(ebeh)=(1, 12, 11

T nuiyzie+ud [ 25
= po 4217+ 0.0
p1 -34.64 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 12 15

_ - 1wt oz4e+Ud [ 25
pO 4196+ 0.0
-35.13+ 0.00

TP delay [ns]
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X~ 1 g usbe+U4 [ 25
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pl -37.47 + 0.00
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= 1 i boge+ud / 25
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-35.18 + 0.00
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1000 C 7]
1 1 "
50 100
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TVC(c,b, ch) (113,8)
© 1 nuz,Quge+u4 / 25
4000 [ pD 4196+ 0.0
p1 -34.21+ 0,00
3000 - ]
2000 = ]
oF C =29.23 [ps/ch] ™, ]
1 1 -
o 50 00
TP delay [ns]

4000

3000

2000

1000

TVC(cbch) (1,13,12

Ty e+u4 /25
4251+ 0.0
pl -36.52+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 [

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,13,1)

P PO

pl

AT 1nun 1z8e+u4 [ 25
4205+ 0.0
-36.87 + 0.00

TP delay [ns]

TVC(c, bch) (1,135

=1 booe+ud / 25
4225+ 0.0
-35.55+ 0.00

TP delay [ns]

TVCEebeh)=( 1, 13,9

pO
pl

. V‘Ul44zbe+U4/25

4254+ 0.0
-34.71+ 0.00

[ C =28.81[ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (113,13

T nuiLbyze+ud / 25
4254+ 0.0
-36.84+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000

2000

4000

3000
2000

1000

TVC(CbCh) (1,13,2)

Frue, PO

X~ 1 g.81e+04 [ 25
4205+ 0.0
pl -36.77 + 0.00

TP delay

TVC(cbch) (1,136

- PO

p1

[ns]

T rz/e+V4 [ 25
4234+ 0.0
-36.16 + 0.00

TP delay

TVC(cbch) (1, 13 10

1000

[ns]

T 1nug.usbe+u4 / 25
4265+ 0.0
-36.3+ 0.0

TP delay

TVC(cbch) (113,14

- pD

[ns]

~ 1L pzde+u4 [ 25
4237+ 0.0
pl -36.08 + 0.00

TP delay

[ns]

TVC(Cbch) (1,13,3)

3000

2000

1000

AT 1 nub,$/Ye+u4 [ 25
4000 =, po 4228+ 0.0
pL -36.27 + 0.00

TP delay [ns]

TVC(c, bch) (1,137

4000 G

3000

2000

1000 [~ C

~nuibrle+u4 / 25
pO 4240+ 0.0
pL -36.32:+ 0.00

50 1(;0
TP delay [ns]

TVC(eheh)=(1, 13, 11

4000 [Gue.

3000

2000

1000

-1 nuiz zooe+ud / 25
pO 4259+ 0.0
pl -35.87 + 0.00

TP delay [ns]

TVC(cbch) (1,13,15

4000 [,

3000

2000

1000

-1 nuiouye+ud / 25
po 4257+ 0.0
p1 -37.02+ 0.00

TP delay [ns]



TVC(chh) (1, 14 0)

4000

3000

2000

1000

T sose+ud [ 25
. pO 4202+ 0.0
p1 -36.75+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 14 4

4000

3000

2000

1000

nur o 1.ze+04 /25
- pO 4179+ 0.0
pl -35.83+ 0.00

TP delay [ns]

TVC(ebeh)=(1, 14,8

4000

3000

2000

1000

- s z53e+U4 | 25
po 4174 0.0
-33.18+ 0.00

[ C =30.14 [ps/ch] ™.

0

1
50 00

TP delay [ns]

TVC(c,b ch) (1, 14 12

4000

3000

2000

1000

- 1 nuiplae+ud [ 25
e, po 4262+ 0.0
pl -36.84 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,14,1)

X- 1 LaZze+U4 | 25
. po 4195+ 0.0
pL -36.12:+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 14 5

~1nuiL414e+04 [ 25
e, pO 41931 0.0
Pl 37.143 000

TP delay [ns]

TVCEebeh)=( 1, 14,9

- U 2200 +U4 | 25
e, pO 4201 0.0
pL -35.03+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 14 13

T nai bzae+ud [ 25
= pO 4255 0.0
pl -37.33+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000 [,
3000
2000

1000

4000

3000

2000

TVC(Cbch) (1,14,2)

A1 414e+04 /25
__—- po 4214+ 0.0
[ p1 -36.69 + 0.00

3000

TP delay [ns]

TVC(c,b ch) (1, 14 6

© 1 nuiL414e+04 / 25
4176+ 0.0
-36.51+ 0.00

TP delay [ns]

TVC(cbch) (1,14, 10

- rnuz r11e+u4 [ 25
4225+ 0.0
-34.81+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 14 14

1000

- Lsle+ud [ 25
-, pD 4262+ 0.0
[ p1 -36.95+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,14,3)

A1 nuiL$7 re+ud [ 25
- po 4231% 0.0
pL -37.03+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 14 7

S nui by e+u4 [ 25
- pO 4200+ 0.0
p1 -36.17+ 0.00

50 160
TP delay [ns]

TVC(c,b ch) (1, 14 11

T onan1y4e+ud [ 25
= pO 4215+ 0.0
-34.26 + 0.00

[ C=29.19 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b ch) (1, 14 15

T nuin3ae+ud [ 25
= pO 4256+ 0.0
p1 -36.54 + 0.00

TP delay [ns]



TVC(c,b,ch)=( 1, 15,0) TVC(c,b,ch)=(1, 15, 1) TVC(c,b,ch)=( 1, 15, 2) TVC(c,b,ch)=(1, 15, 3)

r ] F B 1 B 1+ 1
- E 05 — osf — osf E
=5 T 0 = T 0 = o 0 = T
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=(1, 15,4) TVC(c,b,ch)=(1, 15,5) TVC(c,b,ch)=(1, 15,6) TVC(c,b,ch)=(1, 15,7)
C T T ] . T T ] . T T ] . T T ]
- E o5 E [ E osf E
=5 g 0 = T 0 =5 g 0 = T
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=(1, 15, 8) TVC(c,b,ch)=(1, 15,9) TVC(c,b,ch)=(1, 15, 10) TVC(c,b,ch)=(1, 15,11)
_ T T ] . T T ] . T T ] JF T T ]
- E o5 E [ E osf E
T o 0 = T 0 w5 frig 0 = T
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=(1, 15, 12) TVC(c,b,ch)=(1, 15, 13) TVC(c,b,ch)=(1, 15, 14) TVC(c,b,ch)=(1, 15, 15)
_ T T ] [ T T ] AN T T ] . T T ]
- R o E 05 E [ R
= o 0 = T 0 = o 0 = T

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(cbch)(ZOO TVC(cbch)(ZOl TVC(cbch)(202) TVC(cbch)(203

K~ 1 Suo0e+04 ] 25 X~ Ll e+ud ] 25 X~ 1 1L bboe+04 [ 25 A~/ Loe+Ud 25
4000 po 4206+ 0.0 4000, po 4221+ 0.0 4000, po 4214+ 0.0 4000 e, po 4208+ 0.0
Pl -37.53 0.00 pl_ -37.36+ 0.00 [ Pl -36.42% 0.00 pl -36.2% 0.0
3000 E 3000 E 3000 - 3000 -
2000 B 2000 B 2000 - 2000 E
1000 E 1000 E 1000 ] 1000 ]
0 0 L
50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (2,0,4 TVC(cbch) (2,0, TVC(cbch) (2,0,6 TVC(c, bch) (2,0,

“ g A)A‘:)eﬂJE 125 Tnar Z)UQE+US 125 ~ g U)‘:lbe+U5 125 “rnarg L)SLE+05/25
4000 pO 4192+ 0.0 40008 DU 4195+ 0.0 4000 [, pO 4213+ 0.0 4000 f pO 4213+ 0.0
Pl -34.67+0.00 -34.37 £ 0.00 L Pl -35.29% 0.00 Pl -34.56+ 0.00
3000~ - 3000 4 s000 ] 3000 -
2000 — 2000 |- - 2000~ ] 2000~ 7
L ] [ ] 1000 = E w000k C = _
10001~ 1000 C =29.10 [pS/Ch] ! C=28.34 [pS/Ch . C=28.94 [pS/Ch] 2
" " s -
EY 00 5 T 2 EY Fo— 5 T
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (2 0,8 TVC(cbch) (2 0,9 TVC(cbch) (2, 0 10 TVC(cbch) (2, O

4000 1 nuiLbude+u4 / 25 4000 T nuisp4/e+04 / 25 4000 ©nuz 3o3e+u4 [ 25 S rnung, ///e+u4/25
- PD 4188+ 0.0 = DO 4201+ 0.0 - DO 4227+ 0.0 4000 pom, pO 4236+ 0.0
pl -34.9 + 0.0 pl -35.77 + 0.00 r pl -36.26 + 0.00 pl -36.03+ 0.00

- 3000

3000 - 3000 =1 3000 -1

2000 g 2000 E 2000 - 2000

1000 - 1000 - 1000 X —_ 1000

0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(ZOl ) TVC(cbch)(2013) TVC(CbCh)(ZOl ) TVC(cbch)(2015)
T rnuiLs1se+u4 /25 Tonair33e+ud [ 25 ~ 1L poye+u4 / 25 -1 nui ozZoe+ud / 25
41000 o, PO 4207+ 0.0 4000 4223+ 0.0 4000 __- PD 4220+ 0.0 4000 g, PO 4206+ 0.0
pl -34.34+ 0.00 -35.61+ 0.00 r pl -35.06 + 0.00 pl -34.54+ 0.00

-1 3000

3000~ -1 3000 . 3000 .

2000 - 2000 N 2000 - 2000

1000

N 1000 N 1000

10r C =29.12 [ps/ch]™,_ 7 . ]
IS(I)IIII1(?:0I- Illlglﬁlllllﬂlol-

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,0)

AT 1nuszize+04 /25
4221+ 0.0
p1 -40.17 + 0.00

— po

()
100

TP delay [ns]

TVC(cbch) (21,4

- 1 nuiL4uze+u4 / 25
pO 4179+ 0.0
pl -35.26+ 0.00

TP delay [ns]

TVC(ebeh)=(2, 1,8

©1nuz.4s4e+04 | 25
PD 4217+ 0.0
pl -36.71+ 0.00

TP delay [ns]

TVC(cbch) (21,12

1L byve+u4 / 25
pO 4207+ 0.0
pl -34.92+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,1)

X

Fomme po
pL

1 b41e+u4 /25
4216+ 0.0
-38.98 + 0.00

TP delay [ns]

TVC(c,b ch) (2 1,5

- UL 620e+U4 | 25
e, DU 4195+ 0.0
pl -35.63+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 1

T nusyy/e+ud [ 25
pO 4243+ 0.0
-37.01+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (21,13

TinanLyle+ud /25
pO 4229+ 0.0
pl -36.44 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000
3000
2000

1000

1000

TVC(cbch) (2,1,2)

A"

rre PO
p1

1w 4zze+04 [ 25
4221+ 0.0
-37.81+ 0.00

TP delay [ns]

TVC(cbch) (21,6

“rnu151e+04 /25
P, po 4199+ 0.0
[ pl -35.75+ 0.00

TP delay [ns]

TVC(ebeh)=(2 1, 10

T L br3e+ud [ 25
DO 4243+ 0.0
pl -35.79+ 0.00

TP delay [ns]

TVC(cbch) (21,14

T Lo e+u4 [ 25
4223+ 0.0
-36.2+ 0.0

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,3)

- pO

p1

T g4 se+U4 /25
4229+ 0.0
-37.82+ 0.00

TVC(c,b ch) (2 1,7

TP delay [ns]

-1 nui baze+u4d / 25
pO 4199+ 0.0
pL -35.66+ 0.00

TVC(c,b ch) (2, 1

100
TP delay [ns]

SRR bue+u4/25
po 4248+ 0.0
-36.5 + 0.0

1
100

TP delay [ns]

TVC(cbch) (21,15

T nai s4ze+u4 [ 25
pO 4206+ 0.0
p1 -35.85+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,0

AT 1nuiayie+ud /25
P, po 4176+ 0.0
p1 -35+ 0.0

TP delay [ns]

TVC(cbch) (2,24

=L 30/7e+04/ 25
P, pO 4198+ 0.0
pl -37.18+ 0.00

TP delay [ns]

TVC(ebeh)=(2,2,8

Tz Z1ipe+u4 | 25
= pO 4191+ 0.0
pl -35.17 + 0.00

TP delay [ns]

TVC(cbch) (2,212

T rnuiLpy/e+u4 [ 25
= po 4237+ 0.0
p1 37+ 0.0

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,1

AT 1 nuiLouye+ud [ 25
., po 4189+ 0.0
pl -36.11 + 0.00

TP delay [ns]

TVC(c,b ch) (2 2,5

- 1o 3y1e+u4 /25
', DU 4183+ 0.0
pl -36.11+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 2

T nug.sve+ud [ 25
po 4235+ 0.0
pl -35.39 + 0.00

TP delay [ns]

TVC(cbch) (2,213

Tinun g poe+ud [ 25
pO 4222+ 0.0
pl -36.15+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (2,2,2)

AT inuisr1e+04 /25
- po 4193+ 0.0
L p1 -36.6 + 0.0

3000

1
50 100

TP delay [ns]

TVC(cbch) (2,2,6

T 141e+04 /25
-, pO 4198+ 0.0
r pl -36.96 + 0.00

3000

TP delay [ns]

TVC(ebeh)=(2,2, 10

1000

©1nuizusze+ud | 25
= po 4228+ 0.0
L pl -35.94 + 0.00

3000

TP delay [ns]

TVC(cbch) (2,214

-1 nuiLpobe+u4 / 25
- pD 4228+ 0.0
[ p1 -36.87 + 0.00

3000

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,3

AT rnuiLsrse+ud [ 25
- po 4206+ 0.0
pl -37.49+ 0.00

TP delay [ns]

TVC(c,b ch) (2 2,7

- 1nui /ble+u4 / 25
- pO 4201+ 0.0
pL -36.85+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (2, 2

T b‘Jée+U4/25
= pO 4221+ 0.0
pl -35.31+ 0.00

TP delay [ns]

TVC(C, bch) (2,215

<1 nui oyve+ud / 25
- po 4223+ 0.0
p1 -35.63+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,3,0

AT 1nuiou/e+ud /25
P po 4206+ 0.0
pl -36.56 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (23,4

- i 4p9e+04 / 25
4208+ 0.0
-36.5+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (2 3,8

T rnuz4s1e+04 / 25
= po 4227+ 0.0
pl -36.93+ 0.00

TP delay [ns]

TVC(cbch) (2,312

T4 e+04 /25
4229+ 0.0
-34.71+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,31

A 1L azoe+ud [ 25
o=, po 4214+ 0.0
pl -36.39 + 0.00

TP delay [ns]

TVC(c,b ch) (2 3,5

-1 nui 340e+04 / 25
e, pO 4197 0.0
pL -35.57+ 0.00

TP delay [ns]

TVC(c,b ch) (2 3,9

. Hquzae+u4/25
= po 4258+ 0.0
p1 -37.46 + 0.00

TP delay [ns]

TVC(cbch) (2,313

Tinuigrse+ud [ 25
- pO 4227+ 0.0
p1 347+ 0.0

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,3,2)

TP delay [ns]

TVC(cbch) (23,6

= 1 1uiL4u0e+04 / 25
e pO 4218+ 0.0
[ pl -35.81+ 0.00

AT inuizse+V4 /25
=, po 4210+ 0.0
L pl -36.11+ 0.00

3000

TP delay [ns]

TVC(cbch) (2, 3 10

Tz 1g/e+u4 [ 25
. po 4269+ 0.0
L pl -36.12+ 0.00

TP delay [ns]

TVC(cbch) (2,3 14

T rnuiLgroe+u4 /25
. pD 4226+ 0.0
L pl -34.63+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,33

AT 1 nuiL1yve+ud [ 25
e, po 4208+ 0.0
p1 -35.8+ 0.0

TP delay [ns]

TVC(c,b ch) (2 3,7

-1 nui 2yye+u4 / 25
- pO 4197+ 0.0
pL -35.02:+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 3

SRR b/be+U4/25
- po 4258+ 0.0
pl -35.83+ 0.00

TP delay [ns]

TVC(C, bch) (2,315

-1 nuiquae+ud 25
- po 4228+ 0.0
p1 -35.87+ 0.00

TP delay [ns]



TVC(ehe)=(2,4,0) TVC(ebe)=(2,4,1) TVC(ehe)=(2,4,2) TVC(ehe)=(2,4,3)
A~ 11 449e+04 / 25 AT 3r3e+ud | 25 S g 40e+ud [/ 25 A~ 1w base+ud | 25
4000 [, po 4204+ 0.0 4000 [, po 4190+ 0.0 4000 e, po 4198+ 0.0 4000 fe, po 4220+ 0.0
Pl -34.89+ 0.00 Pl -34.45%0.00 [ Pl -3523%0.00 Pl -36.27:0.00

- 3000

3000 - 3000 -1 3000

2000 E 2000 - 2000 - 2000

1000 - 1000 4 1000 1 1000

50 0% 0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (2.4,4) TVC(cbch) (2,4,5) TVC(cbch) (2,4,6) TVC(cbch) (2,4,7)
S i 1.39e+04 /25 ~ 1 nui 4 8e+04 [ 25 ©1nuiL4s3e+04 [ 25 =11 bbye+u4 / 25
4000 pO 4209+ 0.0 4000 e, pO 4218+ 0.0 4000 e, pO 4229+ 0.0 4000 e, pO 4226+ 0.0
pl -35.74+ 0.00 -35.8+ 0.0 3 pl -36.72+ 0.00 pL -36.24 + 0.00
3000 [ B 3000 — 3000 — — 3000 B
2000~ E 2000 E 2000 — — 2000 B
1000 C ] 1000 1 wool- C = 27.23 [ps/ch 7 wool- C = 27.60 [ps/ch ]
EY 00 = 5 T = 0 EY o 0 5 T -
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b ch) (2,4,8) TVC(c,b ch) (2,4,9) TVC(c,b, ch) (2,4,10) TVC(c,b ch) (2,4,11)
1 nuz.408e+04 / 25 -y y3ye+u4 [ 25 Tnung1pe+u4 /25 T iz 115e+04 [ 25
4000, pO 4245+ 0.0 4000 pO 4260+ 0.0 4000 [, DO 4276+ 00 4000, p0 4280 0.0
pl -38.23 0.00 pL -37.25+ 0.00 3 pl -37.14+ 0.00 pL -37.47+ 0.00
3000~ B 3000 — 3000 — 3000 B
2000~ B 2000 — 2000 — 2000 B
1000~ E 1000 — 1000 — 1000 E
% EY 05— 0 of 0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(24l ) TVC(cbch)(2413) TVC(cbch)(24l ) TVC(cbch)(2415)
~nuiLoyze+ud [ 25 T ozre+u4 [ 25 TnuiLplse+ud / 25 T bore+u4 [ 25
4000 fm, pO 42451+ 0.0 4000 pO 4230+ 0.0 4000 PD 4234+ 0.0 4000 o, pO 4237+ 0.0
-34.54 + 0.00 pl -34.97 + 0.00 r pl -35.06 + 0.00 pl -34.97 + 0.00
3000~ E 3000 [ B 3000 — 3000 —
2000 ] 2000 [ E 2000 — 2000 E

- 1000 |~ =1 1000 = 1000

1000 C = 28.95 [pS/Ch]

PR B SRS |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]




4000

3000

2000

1000

4000

TVC(cbch) (2,5,0)

' po

pl

A7 1nun 1sse+ud /25
4215+ 0.0
-35.75+ 0.00

TP delay [ns]

TVC(cbch) (2,54

X

1.3e+04 /25
4188+ 0.0
-36.28 + 0.00

e, po
pL
3000~ 7
2000 - ]
1000 C 7]
0 = 00 =
TP delay [ns]
TVC(cbch) (2,5,8)
T nu1rge+ud [ 25
4000 [ pD 4215+ 0.0
p1 -34.42.+ 0.00
3000 - 7
2000 = ]
10r C =29.05 [ps/ch]™,_ 7
1 1 -
b 50 100
TP delay [ns]
TVC(cbch) (2,5 12)
T i suze+ud / 25
2000 [ pO 4232+ 0.0
p1 -34.79.+ 0.00

3000

2000
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-34.8+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (2, 7

T nu.z48e+u4 | 25
po 4224+ 0.0
p1 -34,65 + 0.00

TP delay [ns]

TVC(cbch) (2,7,13

T 1 nuiLa4ye+ud [ 25
pO 4213+ 0.0
pl -35.49+ 0.00

TP delay [ns]

4000

2000

4000
3000
2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (2,7,2)

1000

A7 1 nun 3s0e+u4 /25
o=, po 4220+ 0.0
L pl -37.61+ 0.00

3000

TP delay [ns]

TVC(cbch) (2,7,6

- L 303e+04 / 25
4217+ 0.0
-35.3+ 0.0

TP delay [ns]

TVC(ebeh)=(2, 7, 10

T nuz.zo4e+04 | 25
= po 4225+ 0.0
o pl -35.31+ 0.00

3000

TP delay [ns]

TVC(cbch) (27,14

T gr4e+04 /25
= pD 4219+ 0.0
L p1 -35.88 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,3

AT rnuiLs1se+ud [ 25
- po 4223+ 0.0
p1 -36.44 + 0.00

TP delay [ns]

TVC(c,b ch) (2 7,7

Crnan 1426404 1 25
- pO 4213+ 0.0
pL -35.23+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 7

T azse+u4/25
e pO 4242+ 0.0
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-1 nui bzle+u4 / 25
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= po 4213+ 0.0
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- pO 4213+ 0.0
p1 -35.64 + 0.00
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~ 1 nuiL b30e+u4 / 25
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pl -35.02+ 0.00
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1000

T 1 o0e+ud /25
pO 4235+ 0.0
pl -36.39+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3.4,1

A7 1 nuiLbuze+ud [ 25
- po 4189+ 0.0
pl -36.19 + 0.00

TP delay [ns]

TVC(c,b ch) (3 4,5

-1 nui 3gbe+u4 / 25
- pO 4231% 0.0
pL -36.67+ 0.00

TP delay [ns]

TVC(c,b ch) (3 4,9

~ 1 nu 3bbe+ud / 25
- po 4228+ 0.0
p1 -34.83+ 0.00

TP delay [ns]

TVC(cbch) (3,4,13

Tinaiu/e+ud [ 25
- pO 4221+ 0.0
pl -37.18 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (3,4,2)

K™ 1 nuioose+ud /25
[, po 4185+ 0.0
+ pl -35.75+ 0.00

3000

TP delay [ns]

TVC(cbch) (34,6

- nurLb39e+u4 [ 25
- pO 4240+ 0.0
[ pl -37.34+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 4 10

T nuizuzse+ud | 25
[ po 4238+ 0.0
I pl -35.71+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,4,14

1 nuiLbyve+u4 [ 25
= pD 4221+ 0.0
L p1 -36.79+ 0.00

3000

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,4,3

AT 1 nuiL, ruse+u4 [ 25
- po 4205+ 0.0
pl -36.79+ 0.00

TP delay [ns]

TVC(c,b ch) (3 4,7

=1 nui boye+u4 / 25
- pO 4247+ 0.0
pL -35.91% 0.00

TP delay [ns]

TVC(c,b ch) (3, 4

T ybze+u4/25
4243+ 0.0
-34.9 £ 0.0

TP delay [ns]

TVC(C, bch) (34,15

T nuiayse+ud [ 25
po 4224+ 0.0
p1 -36.02+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,5,0)

AT inuizize+04 /25
4201+ 0.0
-35.21+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,54

T b pe+ud [ 25
pO 4213+ 0.0
p1 -35.34+ 0.00

5(‘) 10‘0
TP delay [ns]
TVC(cbch) (3 5,8

T rnuig.zr4e+04 /25
PD 4239+ 0.0
p1 -34.92 + 0.00

0

TP delay [ns]

TVC(cbch) (3,5,12

T L, 44e+04 / 25
pO 4293+ 0.0
pl -36.33+ 0.00

P RS R B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,51)

X1 3ase+ud | 25
po 4227+ 0.0
pL -35.71+ 0.00

TP delay [ns]

TVC(c,b ch) (3 55

“nuibr3e+ud [ 25
pO 4203 0.0
pL -34.67+ 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (3,5,9

X C 50125
po 4252+ 25
pL -34.65+ 0.05

TP delay [ns]

TVC(cbch) (3,5,13

[,

T nui vzae+ud [ 25
pO 4280+ 0.0
pl -36.73+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000
3000
2000

1000

0

4000

3000

2000

TVC(cbch) (3,5,2)

A7 nun suoe+u4 / 25
[, po 4231+ 0.0
o pl -35.87+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,56

1000

=1 nurg bbbe+u4 [ 25
- pO 4207+ 0.0
[ pl -34.35+ 0.00

TP delay [ns]

TVC(cbch) (3, 5 10

©1nuzbase+u4 [ 25
po 4282+ 0.0
p1 -34.88+ 0.00

TP delay [ns]

TVC(cbch) (3,5,14

1000

TrnuiLgse+ud [ 25
:- pD 4281+ 0.0
L pl -36.78 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,5,3

AT rnuiLsrse+ud [ 25
™, po 4239+ 0.0
pl -35.77 + 0.00

TP delay [ns]

TVC(c,b ch) (3 57

-1 nui byge+u4 / 25
e, pO 4219+ 0.0
p1 -34.33+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 5

T ﬁbﬂe+l}4/25
4288+ 0.0
-35+ 0.0

TP delay [ns]

TVC(C, bch) (3,5,15

T nuipole+ud / 25
- pO 4294+ 0.0
p1 -36.88 + 0.00

TP delay [ns]



TVC(cbch) (3,6,0

4000 [Fu

3000

2000

1000

A~ 1 nui 1yie+u4 / 25
- po 4174+ 0.0
p1 -34.1+ 0.0

TP delay [ns]
TVC(cbch) (3,6,4)
S rnuan 1 zZbe+04 /25
4000 [ po 4239+ 0.0
pL -36.65 + 0.00
3000 [ 7]
2000 - ]
1000~ C ]
0 = 00 =
TP delay [ns]
TVC(cbch) (3 6,8)
Tnuprse+ud /25
2000 R pD 4228+ 0.0
p1 -36.52+ 0.00

3000

2000

1000

0

TP delay [ns]

TVC(cbch) (3,6,12

4000

3000

2000

1000

T i goe+u4 / 25
4220+ 0.0
-35.11+ 0.00

L n n n n 1
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,6,1)

T 1zse+ud [ 25
- pO 4186+ 0.0
p1 -34.59 + 0.00

TP delay [ns]

TVC(c,b ch) (3 6,5

“nu Zse+u4 [ 25
- pO 4254+ 0.0
pL -37.45+ 0.00

TP delay [ns]

TVC(c,b ch) (3 6,9

Tonan 4 /z2e+04 125
- po 4255+ 0.0
p1 -36.18+ 0.00

TP delay [ns]

TVC(c,b Ch) (3, 6 13

T inai s1ve+ud / 25
4232+ 0.0
-35.91+ 0.00

PR R SR |
50 100

TP delay [ns]

4000

2000

4000

2000

1000

4000
3000
2000

1000

0

4000
3000
2000

1000

TVC(cbch) (3,6,2)

1000

X~ 1L lo/e+u4 [ 25
[ po 4202+ 0.0
[ p1 -35.2+ 0.0

3000

1
50 100

TP delay [ns]

TVC(cbch) (36,6

- i 363e+04 / 25
- pO 4257+ 0.0
L pl -36.84 + 0.00

3000

TP delay [ns]

TVC(eb,oh)=(3, 6, 10

- i ydze+ud | 25
pO 4249+ 0.0
p1 -35.32:+ 0.00

TP delay [ns]

TVC(Cbch) (3, 6 14

Ty zae+ud [ 25
pD 4244+ 0.0
pl -36.48+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,63)

i sszerud ] 25
-, pO 4191+ 0.0
pL -34.58  0.00

TP delay [ns]

TVC(c,b ch) (3 6,7

= 1 nui 3ge+ud | 25
[ po 4260+ 0.0
p1 -37.79+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (3, 6

SRR b41e+u4/25
. po 4263+ 0.0
p1 -36.71+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 6 15

- sz1e+04 [ 25
pO 4238+ 0.0
p1 -35.59 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,7,0

A7 1nui soze+04 /25
., po 4195+ 0.0
pl -35.16+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (37,4

- i 1sze+u4 [ 25
pO 4203+ 0.0
p1 -35.43+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 7,8

©nuiz,uzoe+u4 | 25
po 4211+ 0.0
pl -36.96 + 0.00

TP delay [ns]

TVC(cbch) (3,7,12

T rnuiLgnie+ud [ 25
pO 4224+ 0.0
pl -34.67 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,71

x- 1 i Suae+ud | 25
[ po 4200+ 0.0
pL -35.04+ 0.00

TP delay [ns]

TVC(c,b ch) (3 7,5

- nun 31ze+04 / 25
- pO 4193 0.0
pL -34.74+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 7,9

~ 1 nu.3uYe+u4 / 25
4238+ 0.0
-36.5 % 0.0

1
50 100

TP delay [ns]

TVC(cbch) (3,7,13

T 1 nui syoe+ud | 25
- pO 4207+ 0.0
pl -34.96 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (3,7,2)

TP delay [ns]

TVC(cbch) (37,6

K™ 1 nuiosze+u4 /25
[, po 4215+ 0.0
L pl -36.07 + 0.00

3000

- nun333e+04 / 25
= po 4211% 0.0
[ pl -35.84+ 0.00

TP delay [ns]

TVC(cbch) (3, 7 10

1000

0

1 nuz 3upe+u4 / 25
[ po 4253+ 0.0
- pl -36.71+ 0.00

TP delay [ns]

TVC(cbch) (3,7,14

T i 1p4e+04 / 25
pD 4208+ 0.0
pl -34.38+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,7,3

AT 1L gzze+ud [ 25
[, po 4214+ 0.0
pl -35.36 + 0.00

TP delay [ns]

TVC(c,b ch) (3 7,7

-1 nui 4uBe+u4 / 25
-, pO 4225+ 0.0
pL -35.61+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 7

T yaze+u4/25
. po 4252+ 0.0
pl -36.89 + 0.00

TP delay [ns]

TVC(C, bch) (3,7,15

T inai s43e+04 / 25
- po 4215+ 0.0
p1 354+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,8,0)

A7 1nuiaz0e+04 /25
4217+ 0.0
-37.28+ 0.00

TP delay [ns]

TVC(cbch) (3,84

[ pO

- i zoye+ud / 25
4220+ 0.0
-35.3+ 0.0

o 1
50 100
TP delay [ns]
TVC(cbch) (3.88)
© 1 nuig.449e+04 / 25
4000 pO 4247+ 0.0
p1 -38.15+ 0.00
3000~ 7]
2000 - 7]
1000 = 7]
0y = o
TP delay [ns]
TVC(c,b ch) (3,812
2000 [ pO

3000

2000

1000

p1

~ L 5zoe+u4 / 25
4237+ 0.0
-36.11+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,8,1)

- po

AT rnunLsrse+ud [ 25
4196+ 0.0
-35.46 + 0.00

pl

TP delay [ns]

TVC(c,b ch) (3 8,5

-1 nui433e+04 / 25
4208+ 0.0
-35.13+ 0.00

1
50 100

TP delay [ns]

TVC(c,b ch) (3 8,9

[Fe pO

-1 naig bupe+ud / 25
4263+ 0.0
-37.5+ 0.0

TP delay [ns]

TVC(cbch) (3,8,13

T inuiblye+ud [ 25
4232+ 0.0
-36.02+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (3,8,2)

- po

K™ 1 nuinsae+u4 /25
4198+ 0.0
-35.88+ 0.00

pl

TP delay [ns]

TVC(cbch) (3,86

1000

- pD
p1

- b13e+04 / 25
4216+ 0.0
-35.19 + 0.00

TP delay [ns]

TVC(cbch) (3, 8 10

1000

0

- pO

pl

T rnuz.zg1e+u4 | 25
4269+ 0.0
-37.87 + 0.00

TP delay [ns]

TVC(cbch) (3,814

- pD
pl

TrnuiLgr1e+04 /25
4230+ 0.0
-36.31+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,8,3)

- po

AT 1o /oe+ud [ 25
4229+ 0.0
-37.07 + 0.00

p1

TP delay [ns]

TVC(c,b ch) (3 8,7

[T pO
pl

=1 nui Boye+u4 / 25
4237+ 0.0
-36.08 + 0.00

1
50 100

TP delay [ns]

TVC(c,b ch) (3, 8

- pO

pl

T zube+u4/25
4273+ 0.0
-37.97 + 0.00

TP delay [ns]

TVC(C, bch) (3,8,15

T nuipuse+ud / 25
4240+ 0.0
-35.66 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,9,0

AT 1nui4sse+ud /25
™, po 4213+ 0.0
pl -35.43+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (39,4

- rnuiLazoe+04 [ 25
P pO 4207+ 0.0
349+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (3 9,8

T 2.3e+04 /25
- pO 4214+ 0.0
p1 -34.84 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,9,12

T L/e+u4 /25
pO 4268+ 0.0
pl -36.41+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,91

AT 1 nuiLzsye+ud [ 25
[ po 4229+ 0.0
p1 -35.94+ 0.00

TP delay [ns]

TVC(c,b ch) (3 9,5

-1 nui bl3e+u4 / 25
e pO 4214+ 0.0
pL -35.94 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 9,9

T a1 /e+ud /25
4226+ 0.0
-35.4+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (3,9,13

T inuiL o4 /e+u4 /25
- pO 4247+ 0.0
pl -36.57 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (3,9,2)

AT 1nun 3sse+04 /25
™ po 4229+ 0.0
o pl -35.69+ 0.00

3000

1
50 100

TP delay [ns]

TVC(cbch) (39,6

“rnun 1 bbe+ud [ 25
- pO 4229+ 0.0
[ pl -35.84+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 9 10

T nuzp4e+04 [ 25
- po 4248+ 0.0
L pl -34.82+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,9,14

~ 1L p4ze+u4 [ 25
- pD 4253+ 0.0
- pl -37.7+ 0.0

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,9,3

AT rnuiLsuze+ud [ 25
™, po 4228+ 0.0
p1 -34.86 + 0.00

TP delay [ns]

TVC(c,b ch) (3 9,7

-1 nui b33e+u4 / 25
- pO 4240+ 0.0
p1 -34.97+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 9

T zs=e+u4/25
- pO 4254+ 0.0
pl -35.85+ 0.00

TP delay [ns]

TVC(C, bch) (3,9,15

T nui p4ae+04 / 25
- po 4246+ 0.0
p1 -36.83+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (3, 10 0)

T sise+u4 [ 25
[, pO 4217+ 0.0
pl -36.82+ 0.00

TP delay [ns]

TVC(cbch) (3,10,4

-1 nuiLalpe+u4 / 25
- pO 4204+ 0.0
pl -36.69+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3, 10 8

1 nuiLgyse+u4 / 25
- pO 4248+ 0.0
pl -36.78 + 0.00

TP delay [ns]

TVC(cbch) (310,12

~rnuiLgooe+u4 / 25
pO 4233+ 0.0
pl -34.85+ 0.00

PR ISR SR B
50 100

TP delay [ns]

TVC(chh) (3,10,1)

4000 [

3000

2000

1000

A1 1 Sae+0d | 25
po 4218+ 0.0
p1 -37.74+ 0.00

TP delay [ns]

TVC(c, bch) (3,10,5

4000 [

3000

2000 -

1000 C

- nui bhle+ud [ 25
pO 4210 0.0
pL -36.64 + 0.00

1(;0
TP delay [ns]

TVC(c, bch) (3, 10 9

4000 [,

3000

2000

1000

Tinan 4 /9e+u4 | 25
po 4261+ 0.0
pl -36.46 + 0.00

TP delay [ns]

TVC(cbch) (310,13

4000 [Fem,

3000

2000

w00 C = 29.24 [ps/ch]

Tinaizy/e+ud [ 25
pO 4232+ 0.0
p1 34.2+ 0.0

il
100

TP delay [ns]

4000

3000

2000

4000

3000
2000

1000

4000

3000

2000

4000

3000

2000

1000

1000

0

TVC(CbCh) (3, 10 2)

T grze+u4 [ 25
pO 4216+ 0.0
p1 -37.24+ 0.00

TP delay [ns]

TVC(cbch) (3,10,6

T rnuiL4/ze+04 [ 25
4222+ 0.0
-36.5+ 0.0

10‘0
TP delay [ns]

TVC(cbch) (3, 10 10

[,

Tz /e+u4 /25
po 4274+ 0.0
pl -36.95+ 0.00

TP delay [ns]

TVC(cbch) (3.10,14

1000

T i yze+u4 | 25
pD 4235+ 0.0
pl -35.06 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (3,10,3)

AT 1L ssve+ud [ 25
[, po 4217+ 0.0
pl -35.88+ 0.00

TP delay [ns]

TVC(c, bch) (3,10,7

-1 nu 3bge+u4 / 25
4230+ 0.0
-37.8+ 0.0

50 1(;0
TP delay [ns]

TVC(cbch) (3, 10 1

TnuiLgs/e+u4 [ 25
- po 4272+ 0.0
pl -35.82+ 0.00

TP delay [ns]

TVC(cbch) (3,10,15

Tonai zg/e+ud [ 25
e po 4223+ 0.0
p1 -35.42 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (3,11,0)

A1 L zye+ud | 25
4185+ 0.0
pl -36.65+ 0.00

TP delay [ns]

TVC(cbch) (3,114

T zsle+ud / 25
4168+ 0.0
-35.19+ 0.00

- pO
pl
e 4
5(‘) 10‘0
TP delay [ns]
TVC(c,b, ch) (3, 11 8
- po

T rnug.z3e+04 /25
4236+ 0.0
pl -36.35+ 0.00

TP delay [ns]

TVC(cbch) (3,11, 12

X~ 1 zgoe+u4 [ 25
po 4216+ 0.0
p1 -35.3+ 0.0

PR ISR SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (3,11,1)

. po

AL a5 (e+Ud ] 25
4190+ 0.0
pL -35.58+ 0.00

TP delay

TVC(cbch) (3,115

[ns]

-1 s33e+U4 [ 25
4173+ 0.0
pl -33.26+ 0.00

TP delay

TVC(eh.eh)=(3, 11, 9

pO

[ns]

~nai ruse+ud 25
4251% 0.0
pl -36.29 + 0.00

TP delay

[ns]

TVC(cbch) (3,11,13)

pO

Tona g s1e+ud [ 25
4201+ 0.0
pl -34.97 + 0.00

TP delay

[ns]

4000

3000
2000

1000

4000

3000
2000

1000

4000
3000

2000

4000

3000
2000

1000

TVC(CbCh) (3,11, 2)

- po

A7 1 nui443e+04 /25
4188+ 0.0
p1 -36.24 + 0.00
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-35.84+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (4,7,0)

T Lsoe+ud /25
.. pO 4201+ 0.0
p1 -36.2+ 0.0

TP delay [ns]

TVC(cbch) (47,4

- a3 5e+04 / 25
P, pO 4214+ 0.0
pl -36.93+ 0.00

50 10‘0
TP delay [ns]

TVC(eb,oh)=(4, 7,8

T g, 3s3e+U4 / 25
4226+ 0.0
-36.3+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (4,7,12

1 nuiL4yse+u4 [ 25
4251+ 0.0
-35.6 + 0.0

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,7,1)

S p43e+ud [ 25
- pO 4215+ 0.0
pl -36.15+ 0.00

TP delay [ns]

TVC(c,b ch) (4 7,5

-1 nui433e+04 / 25
e pO 4215 0.0
pL -36.16+ 0.00

TP delay [ns]

TVC(c,b ch) (4 7,9

Tinue. 7/ e+u4 [ 25
- DO 4258+ 0.0
pl -36.28 + 0.00

TP delay [ns]

TVC(cbch) (4,7,13

TinuiLale+ud /25
- pO 4255 0.0
pl -36.13+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000
2000

1000

4000
3000
2000

1000

TVC(cbch) (4,7,2)

A~ 1nuiozie+V4 /25
_- po 4207+ 0.0
o pl -36.21+ 0.00

3000

TP delay [ns]

TVC(cbch) (4,7,6

1000

=1 nur bobe+u4 [ 25
- pO 4221 0.0
[ pl -36.24+ 0.00

TP delay [ns]

TVC(cbch) (47,10

1 nuiz.a4pe+04 | 25
I DO 4255+ 0.0
- pl -35.87 + 0.00

TP delay [ns]

TVC(cbch) (4,7,14

T go1e+u4 / 25
pD 4255+ 0.0
pl -35.32+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,7,3

AT 1L oune+ud [ 25
- po 4226+ 0.0
p1 -36.3+ 0.0

TP delay [ns]

TVC(c,b ch) (4 7,7

a1 pe+ud [ 25
- pO 4232+ 0.0
pL -35.16+ 0.00

TP delay [ns]

TVC(c,b ch) (4, 7

1)
T nuiy43e+u4 [ 25
= po 4257+ 0.0
pl -36.62 + 0.00

TP delay [ns]

TVC(C, bch) (4,7,15

Tinaisr1e+u4 /25
- pO 4256+ 0.0
p1 -35.16+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,8,0

K™ 1nuizore+ud [ 25
= po 4188+ 0.0
p1 -36.54 + 0.00

TP delay [ns]

TVC(cbch) (4,84

T 3r5e+04 / 25
- pO 4191% 0.0
p1 -36.22:+ 0.00

TP delay [ns]

TVC(cbch) (4 8,8

- fuse+ud [ 25
- po 4197+ 0.0
p1 -34.86+ 0.00

TP delay [ns]

TVC(cbch) (4,812

-1 slze+ud [ 25
= po 4205+ 0.0
pl -35.11+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4.81)

v 1isserua ] 25
== pO 4191+ 0.0
pL -36.62:+ 0.00

TP delay [ns]

TVC(c,b ch) (4 8,5

S rnun 158e+04 [ 25
- pO 4196+ 0.0
p1 -36.61+ 0.00

50 150
TP delay [ns]

TVC(c,b ch) (4 8,9

-1, ryse+u4 [ 25
4213+ 0.0
-34.7+ 0.0

TP delay [ns]

TVC(Ebeh)=(4, 8, 13

T nuiLagye+ud [ 25
- pO 4207+ 0.0
pl -35.66 + 0.00

TP delay [ns]

4000

2000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (4,8,2)

1000

K™ 1nuia4ze+04 | 25
= po 4204+ 0.0
L pl -35.98+ 0.00

3000

TP delay [ns]

TVC(Cbch) (4 8,6

-1 nurbyse+u4 [ 25
- pO 4213+ 0.0
[ pl -36.42+ 0.00

TP delay [ns]

TVC(eb,oh)=(4, 8, 10

- nuizy0ae+ud | 25
z pO 4241% 0.0
[ pl -35.57:+ 0.00

TP delay [ns]

TVC(Cbch) (4, 8 14

- a7 yyo6 /25
= pD 4210 0.0
L p1 -36.06 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,8,3

A1 nuiL 4sse+ud [ 25
= po 4205+ 0.0
p1 -36.56 + 0.00

TP delay [ns]

TVC(c,b ch) (4 8,7

“rnuan 1bze+u4 [ 25
- pO 4207+ 0.0
p1 -36.06+ 0.00

TP delay [ns]

TVC(c,b ch) (4, 8

T a49e+u4/25
= pO 4231% 0.0
p1 -34.74.+ 0.00

TP delay [ns]

TVC(c,b ch) (4, 8 15

-1 szge+ud [ 25
= pO 4206+ 0.0
p1 -34.78 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

TVC(cbch) (4,9,0

K™ 1w zs4e+04 [ 25
[, po 4231+ 0.0
pl -36.47 + 0.00

TP delay [ns]

TVC(cbch) (49,4

- i 338e+04 / 25
- pO 4217+ 0.0
pl -36.41+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4 9,8

Tz zsoe+u4 | 25
- PD 4220+ 0.0
pl -34.88 + 0.00

1000

TP delay [ns]

TVC(cbch) (4,9,12

4000

3000

2000

1000

T L psLe+u4 / 25
4246+ 0.0
-35.81+ 0.00

1
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,91

AT 1 nuiLzzse+ud | 25
[ PO 4230+ 0.0
pL -36.58 + 0.00

TP delay [ns]

TVC(c,b ch) (4 9,5

-1 nui 4z4e+04 [ 25
- pO 4225 0.0
-35.9+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (4 9,9

<1 nu.4u/e+u4 /25
- DO 4240+ 0.0
pl -34.37 + 0.00

[C =29.10 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (4,9,13

T inuiasse+ud [ 25
4247+ 0.0
-36.07 + 0.00

TP delay [ns]

TVC(cbch) (4,9,2)

4000

2000

1000

Srnae Lserud /25
-, PO 4234+ 0.0
3 pl -36.78 + 0.00

3000

TP delay [ns]

TVC(cbch) (4,9,6

4000

3000

2000

1000

“nun g11e+ud / 25
- pO 4245+ 0.0
L PL_ -37.27%0.00

TP delay [ns]

TVC(cbch) (4, 9 10

4000

3000

2000

1000

©1nuz4n3e+u4 [ 25
= DO 4241+ 0.0
- pl -33.53+ 0.00

F C = 29.83 [ps/ch] .. ]

0

50

1
100

TP delay [ns]

TVC(cbch) (4,9,14

4000

3000

2000

1000

- C =29.38 [ps/ch]™. 1

T rnuiLzrve+ud | 25
4231+ 0.0
-34.04 + 0.00

50

P
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,9,3)

R- i S11e+ud 25
- p0 4254+ 0.0
pl -37.05+ 0.00

TP delay [ns]

TVC(c,b ch) (4 9,7

-1 nun gz1e+u4 / 25
- PO 4252+ 0.0
Pl -37.14% 0.00

50 100
TP delay [ns]

TVC(c,b ch) (4, 9

T o, 4zse+u4/25
4249+ 0.0
-34.4+ 0.0

[ C =29.07 [ps/ch]

1
50 100

TP delay [ns]

TVC(C, bch) (4,9,15

T nuia30e+u4 / 25
4251+ 0.0
-35.36 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 [,

3000

2000

1000

TVC(c,b,ch)=( 4, 10,0)

T
= PO

A 844425
4162+ 0.0
pl -35.17 + 0.00

TP delay [ns]

TVC(cbch) (4,104

L zize+ud [ 25
4214+ 0.0
pl -35.14 + 0.00

pO
TP delay [ns]
TVC(c,b, ch) (4, 10 8)
©1nug, 139e+u4 / 25
- pO 42214 00
pl -36.25 + 0.00

TP delay

TVC(cbch) (4,10,12

pO

[ns]

e 14e+u4 /25
4250+ 0.0
pl -36.39 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,10,1)

= pO

- i 140e+U4 [ 25
4188+ 0.0
-35.01+ 0.00

p1

TP delay [ns]

TVC(c, bch) (4,10,5

== pO

“nun1.3ve+04 [ 25
4208+ 0.0
pl -34.95+ 0.00

1
50 100

TP delay [ns]

TVC(c,b ch) (4,10,9

== pO

~ 1 nu.ay3e+ud 25
4242+ 0.0
-36.26 + 0.00

pl

TP delay [ns]

TVC(C, bch) (410,13

pO
p1

T inaisrve+ud [ 25
4259+ 0.0
-35.93+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (4,10,2)

TP delay [ns]

TVC(cbch) (4,10,6

1000

X~ 1w zose+U4 [ 25
- po 4182+ 0.0
I pl -34.79.+ 0.00

3000

T Ui 303e+04 / 25
- pO 4230+ 0.0
3 PL_ -36.44% 0.00

TP delay [ns]

TVC(cbch) (4, 10 10

1000

0

T 1nuz4ple+u4 /25
- DO 4268+ 0.0
r pl -37.15+ 0.00

TP delay [ns]

TVC(cbch) (410,14

1000

~ 1 nuiL459e+U4 / 25
F PD 4253+ 0.0
F pl -36.05 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,10,3)

= po

AT rmuiLzzre+ud |25
4188+ 0.0
p1 -35.15+ 0.00

TP delay

TVC(c, bch) (4,10, 7

pl

[ns]

1 nar 2:; 48/25
pO 4224+2.4
-35.1+ 0.1

TP delay

TVC(ehch)=(4, 10, 11

e, pO

[ns]

S s1e+ud [ 25
4260+ 0.0
pl -35.74+ 0.00

TP delay

TVC(cbch) (4,10,15

e, pO

[ns]

T zuze+u4 [ 25
4232+ 0.0
pl -35.58 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b,ch)=(4, 11,0)

[ C =29.78 [ps/ch]

T AT yyo2 /25
= po 4168+ 0.0
pl -33.58+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (4,11,4

“ a1 ge+ud [ 25
- pO 4228+ 0.0
pl -35.38:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4,118

T 1nuzpo3e+ud | 25
4227+ 0.0
-36.6+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (4,11, 12

X1 34/e+04 1 25
= po 4240+ 0.0
pl -36.54 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (4, 11 1)

- pO

p1

T Laze+ud [ 25
4181+ 0.0
-33.45+ 0.00

[ C =29.90 [ps/ch]

1 1
50 100

TP delay

TVC(cbch) (4,11,5

F- pO

[ns]

-1 nui 2u8e+u4 / 25
4220+ 0.0
pl -35.87 + 0.00

TP delay

TVC(eb.eh)=(4, 11, 9

e, po

[ns]

T nuip,113e+04 / 25
4246+ 0.0
pl -35.32 + 0.00

TP delay

TVC(c, bch) (411,13

- pO
p1

[ns]

T nuiazve+ud [ 25
4238+ 0.0
-36.6 + 0.0

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (4,11, 2)

- C = 30.11 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (4,116

A7 1 nuiLudoe+04 /25
__—- po 4188+ 0.0
o pl -33.21+ 0.00

=1 i 395e+04 / 25
- pO 4240+ 0.0
[ pl -36.77+ 0.00

TP delay [ns]

TVC(e.bch)=(4, 11, 10

X~ 1wz 318e+04 [ 25
-, po 4252+ 0.0
L pl -34.92 + 0.00

TP delay [ns]

TVC(cbch) (4,11, 14

X~ 1L zype+u4 [ 25
- po 4229+ 0.0
L pl -35.32+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,11,3)

AT 1 nuiLULbe+U4 / 25
o po 4187+ 0.0
pl -33.13+ 0.00
I C=230.19 [ps/ch] . 7
_L L =
50 100
TP delay [ns]

TVC(cbch) (4,11,7

- pO

-1 nui bloe+u4 / 25
4252+ 0.0
pl -36.39+ 0.00

50 1(;0
TP delay

TVC(cbch) (4, 11 11

e pO

[ns]

<1 nuiL ryge+u4 / 25
4254+ 0.0
pl -35.67 + 0.00

TP delay

TVC(c, bch) (411,15

[ns]

T nui so0e+ud / 25
4227+ 0.0
p1 -35.24 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 =,

3000

2000

1000

TVC(CbCh) (4, 12 0)

- i 154e+04 [ 25
= pO 4185+ 0.0
p1 -34.69+ 0.00

TP delay [ns]

TVC(Cbch) (4, 12 4

T 3r1e+u4 / 25
e, pO 4205+ 0.0
p1 -36.76+ 0.00

50 5
TP delay [ns]

TVC(ebch)=(4, 12,8

- i ybye+ud | 25
- po 4202+ 0.0
p1 -36.06+ 0.00

TP delay [ns]

TVC(Cbch) (4, 12 12

1 i 35ae+04 [ 25
po 4216+ 0.0
pl -35.94 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (4, 12 1)

- zaserud [ 25
P pO 4221+ 0.0
pL -35.63+ 0.00

TP delay [ns]

TVC(c,b Ch) (4, 12 5

=1 nui 455e+04 / 25
e, pO 4209+ 0.0
pL -36.24+ 0.00

TP delay [ns]

TVCebeh)=(4, 12,9

- ug b33e+Ud [ 25
- po 4216+ 0.0
p1 -36.44 £ 0.00

TP delay [ns]

TVC(c,b ch) (4, 12 13

- T inuiLasse+ud [ 25
- pO 4198+ 0.0
pl -35.44+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,
3000
2000

1000

4000 =,
3000
2000

1000

TVC(CbCh) (4,12,2)

- C = 29.45 [ps/ch]

1
50 100

TP delay [ns]

TVC(Cbch) (4, 12 6

© 1 nuiL434e+04 / 25
[F-e. pO 4211+ 0.0
[ p1 -36.14 + 0.00

X~ 1L 15/e+04 / 25
- po 4195+ 0.0
[ p1 -33.95+ 0.00

TP delay [ns]

TVC(Cbch) (4, 12 10

- huizz1de+0d | 25
pO 4242+ 0.0
p1 -35.91 0.00

TP delay [ns]

TVC(CbCh) (4, 12 14

T nuiLazoe+u4 [ 25
pD 4202+ 0.0
pl -35.43+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (4,12,3)

AT zz1e+U4 [ 25
=3 po 4198+ 0.0
pl -35.47 + 0.00

TP delay [ns]

TVC(c,b Ch) (4, 12 7

-1 nui bobe+u4 / 25
- pO 4222+ 0.0
p1 -36.53+ 0.00

50 160
TP delay [ns]

TVC(C, bch) (412,11

T inui43e+04 / 25
= po 4238+ 0.0
pl -35.38+ 0.00

TP delay [ns]

TVC(cbch) (4, 12 15

_ - it abe+Ud [ 25
pO 4206+ 0.0
-35.26 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

wor C =29.33 [ps/ch] v, 1]
—

4000

3000

2000

1000

TVC(cbch) (4,13,0)

-1 nuz.435e+04 [ 25
L pO 4293+ 0.0
p1 -37.1+ 0.0

TP delay [ns]

TVC(cbch) (4,13 4

- rnuiLazze+04 | 25
- pO 4232+ 0.0
Pl -36.24+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4138

- /i s05e+U4 1 25
. pD 4271+ 0.0
Pl -34.09+ 0.00

TP delay [ns]

TVC(Cbch) (4,13,12

- 1 nui pule+ud [ 25
- po 4237+ 0.0
pl -34.98+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,13,1)

A™ 1 Uz, 393e+U4 | 25
b po 4284+ 0.0
pL -37.01% 0.00

TP delay [ns]

TVC(c, bch) (4,13,5

-1 3bYe+u4 / 25
[, pO 4220+ 0.0
pL -35.93+ 0.00

TP delay [ns]

TVC(c,b ch) (4, 13,9

- s shBe+U4 | 25
- pO 4306+ 0.0
Pl 3575+ 0.00

TP delay [ns]

TVC(C, bch) (413,13

=i pobe+ud [ 25
- pO 4240+ 0.0
p1 -35.17 + 0.00

TP delay [ns]

TVO(eb.eh)=(4 13,2)

4000 [®uue PO

3000
2000

1000

X~ 1 iz 39oe+u4 [ 25
4300+ 0.0
p1 -37.44 £ 0.00

TP delay

TVC(cbch) (4136

4000 PO

p1

[ns]

S rnu1bre+ud [ 25
4250+ 0.0
-37.09 + 0.00

3000 [~

2000~

moo:— C =26.96 [ps/ch

TP delay

TVC(cbch) (4 13,10

4000 ==, "0

pl

[ns]

i 122e+04 ] 25
4319+ 0.0
-35.16 + 0.00

3000 |~

2000~

wof C = 28.44 [ps/ch]

1
b 50 100

TP delay

TVC(Cbch) (413,14

4000 __ PD

[ns]

-1 nuiL, (ode+u4 [ 25
4246+ 0.0
p1 -35.34 £ 0.00

3000
2000

1000

TP delay

[ns]

TVC(ebch)=(4,13,3)

4000 po

p1

A1 iz 2aye Ul | 25
4310+ 0.0
-36.59+ 0.00

3000

2000

1000

TP delay [ns]

TVC(c, bch) (4,137

4000 e, PU
p1

-1 nur byze+u4d / 25
4262+ 0.0
-37.17 + 0.00

3000 -

2000 -

1000 [~ C

1
50 100

TP delay [ns]

TVC(cbch) (4, 13 1)

1092 /25
4320+ 0.1
-34.99 + 0.00

i

4000 fe=, po

pl

3000 -

2000 =

woo C = 28.58 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (413,15

4000 e, PO

- pz3e+ud [ 25
4253+ 0.0
-35.38 + 0.00

3000

2000

1000

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (4, 14 0)

© 1z, ose+U4 [ 25
4242+ 0.0
-36.35+ 0.00

TP delay [ns]

TVC(cbch) (4,144

-1 34ze+04 [ 25
4246+ 0.0
-36.06 + 0.00

e, po
pl
e 4
5(‘) 10‘0
TP delay [ns]
TVC(c,b, ch) (4, 14 8
= po

©1nuzysge+u4 | 25
4207+ 0.0
-35.25+ 0.00

TP delay [ns]

TVC(cbch) (414,12

- po
p1
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4214+ 0.0
-34.72+ 0.00

TP delay [ns]

TVC(CbCh) (5,12,2)

4000, po

pl

3000
2000

1000

A~ zzie+04 /25
4227+ 0.0
-36.2+ 0.0

TP delay

TVC(Cbch) (5, 12 6

4000 e, pO

pl

[ns]

-1 nun 338e+04 / 25
4226+ 0.0
-35.68 + 0.00

3000 [~

2000~

wof C = 28.03 [ps/ch

TP delay

TVC(cbch) (5, 12 10

40008 pO

pl

[ns]

~1nuzbode+u4 [ 25
4263+ 0.0
-34.34+ 0.00

3000

2000 |~

wof C = 29.12 [ps/ch]

1
0 50 100

TP delay

TVC(CbCh) (5, 12 14

4000 [

[ns]

T ssze+u4 [ 25
4220+ 0.0
pl -35.54 + 0.00

3000
2000

1000

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,12,3)

o=, po

p1

AT 1L sbye+ud [ 25
4224+ 0.0
-36.3+ 0.0

TP delay

TVC(c,b Ch) (5, 12 7

- pO

[ns]

- 1nui bb/e+u4 [ 25
4241+ 0.0
pl -35.24 + 0.00

TP delay

TVC(cbch) (512,11

[ns]

T nai ryze+u4 [ 25
4255+ 0.0
-34.19+ 0.00

[ C =29.25 [ps/ch]

1
50 100

TP delay

TVC(cbch) (5, 12 15

JRTeTeT:

e pO

[ns]

- Se+ud /25
4223+ 0.0
pL -34.64 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (5, 13 0)

~rnuiLobbse+u4 [ 25
- pO 4206+ 0.0
pl -35.77 + 0.00

TP delay [ns]

TVC(cbch) (5.13,4

- 1L z34e+04 | 25
o, pO 4215+ 0.0
pl -36.37 £ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 13 8

T 31e+u4 / 25
- po 4233+ 0.0
p1 -35.42 + 0.00

TP delay [ns]

TVC(cbch) (5,13, 12

T rnuiL4zoe+u4 [ 25
= po 4239+ 0.0
p1 -35.8+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,13,1)

A 'HWLUIeHJA/ZS
- po 4214+ 0.0
pl -35.82+ 0.00

TP delay [ns]

TVC(c, bch) (5.13,5

-1 nui 398e+u4 / 25
pO 4234+ 0.0
pL -36.56 + 0.00

TP delay [ns]

TVC(c,b ch) (5, 13

~ 1 nu.ysze+ud [ 25
- pO 4246+ 0.0
pl -35.98 + 0.00

TP delay [ns]

TVC(cbch) (513,13

T inuig15e+ud /25
= pO 4235 0.0
pl -35.45+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(CbCh) (5, 13 2)

T rve+ud [ 25
Freee, pO 4202+ 0.0
L pl -35.42+ 0.00

3000

TP delay [ns]

TVC(cbch) (5.13,6

- nuiL14ze+04 [ 25
- pO 4206+ 0.0
[ pl -34.97 + 0.00

3000

TP delay [ns]

TVC(cbch) (5, 13 10

1000

0

©1nuzbuze+u4 | 25
- po 4281+ 0.0
- pl -37.29+ 0.00

3000

TP delay [ns]

TVC(cbch) (5.13, 14

T guse+ud / 25
- pD 4244+ 0.0
L pl -35.42+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,13,3)

AT rnuiLysie+ud /25
po 4202+ 0.0
p1 -34.33+ 0.00

[ C =29.13 [ps/ch]

L
50 100

TP delay [ns]

TVC(c, bch) (5,137

Snun1.73e+04 [ 25
- pO 4219+ 0.0
pL -35.57+ 0.00

[ C=28.12 [ps/ch ]
TP delay [ns]

TVC(cbch) (5, 13 1

Tonan 1 /ge+u4 [ 25
- pO 4271 0.0
pl -36.22 + 0.00

TP delay [ns]

TVC(cbch) (513,15

Tnai srze+u4 /25
= po 4249+ 0.0
p1 -36.27 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (5, 14 0)

T rnuLzise+ud [ 25
- pO 4208+ 0.0
pl -35.93+ 0.00

TP delay [ns]

TVC(cbch) (5.14,4

T i 1z3e+04 / 25
e, pO 4207+ 0.0
pl -35.89+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 14 8

©1nuiz.zu4e+04 [ 25
= po 4213+ 0.0
p1 -35.44 + 0.00

TP delay [ns]

TVC(cbch) (5,14, 12

T rnuiLgioe+u4 / 25
= po 4243+ 0.0
pl -35.64 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,14,1)

A rwuue+u4/25
Frase po 4202+ 0.0
pl -35.94+ 0.00

TP delay [ns]

TVC(c, bch) (5,14,5

- nui z3/e+04 / 25
4199+ 0.0
-35.87 + 0.00

TP delay [ns]

TVC(c, bch) (5, 14 9

e, po

pl

~ 1 nuw.s29e+u4 [ 25
4233+ 0.0
-35.45+ 0.00

TP delay [ns]

TVC(cbch) (514,13

e, pO
p1

T nuip14e+ud / 25
4248+ 0.0
-36.61+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (5,14,2)

TVC(Cbch) (5,14,3)

- C = 28.22 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (5.14,6

1000

AT inuizse+V4 /25
_._ po 4227+ 0.0
- pl -35.44 + 0.00

AT 1L sose+ud [ 25
- po 4233+ 0.0
pl -36.58 + 0.00

TP delay [ns]

TVC(c, bch) (5,14, 7

-1 zz4e+04 [ 25
- pO 4228+ 0.0
[ pl -36.25+ 0.00

TP delay [ns]

TVC(cbch) (5, 14 10

-1 nur Zobe+u4 / 25
4214+ 0.0
-35.2+ 0.0

TP delay [ns]

TVC(cbch) (5 14,11

© 1 nuig, 18be+u4 / 25
__ DO 4253+ 0.0
- pl -35.49+ 0.00

TP delay [ns]

TVC(cbch) (5. 14,14

~1nuiLpsde+ud [ 25
. pD 4228+ 0.0
L pl -35.29+ 0.00

-1 nuiz.uyse+ud / 25
- pO 4259+ 0.0
pl -35.86 + 0.00

TP delay [ns]

TVC(cbch) (5.14,15

TP delay [ns]

T nuibyse+ud [ 25
= po 4239+ 0.0
p1 -35.74+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (5, 15 0)

po
pL

T rz1e+04 /25
4245+ 0.0
-34.7+ 0.0

[ C=28.81[ps/ch]N,_ 7
1 L -
50 100
TP delay [ns]
TVC(c,b ch) (5, 15 4)
-1 nuiL bu4e+u4 / 25
Fause pO 4213+ 0.0
pl -36.28 + 0.00
L c -
1 L -
50 100
TP delay [ns]
TVC(c,b, ch) (5, 15 8)
T or1e+ud /25
- po 4224+ 0.0
pl -37.14+ 0.00

TP delay

TVC(cbch) (5,15, 12

- pO

[ns]

~rnuiLg4pe+u4 / 25
4259+ 0.0
pl -36.14 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,15,1)

[Fomes, po

pl

AT 1nuiLoo/e+u4 [ 25
4230+ 0.0
-34.1+ 0.0

[ C =29.32 [ps/ch]

L

1
50 100

TP delay [ns]

TVC(cbch) (5,155

=11 bbye+u4 / 25
4221+ 0.0
-36.87 + 0.00

TP delay [ns]

TVC(c,b ch) (5, 15

— po

Tonai3r1e+u4 /25
4234+ 0.0
-35.53 + 0.00

TP delay [ns]

TVC(cbch) (5.15,13

pO
p1

Tinai g/ roe+ud [ 25
4273+ 0.0
-36.61+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

4000
3000
2000

1000

1000

TVC(CbCh) (5,15,2)

[oase, po

A7 1 nui440e+04 /25
4255+ 0.0
p1 -36.42+ 0.00

TP delay

TVC(cbch) (5.15,6

pO
p1

[ns]

T 1L, /44e+04 | 25
4228+ 0.0
-36.66 + 0.00

TP delay

TVC(cbch) (5. 15, 10

- o

[ns]

T 1nuig.uLge+u4 / 25
4256+ 0.0
pl -35.62+ 0.00

TP delay

TVC(cbch) (5.15, 14

pD

[ns]

T L pYe+ud /25
4269+ 0.0
pl -35.98 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,15,3)

po
pL

AT rnuiLssle+ud [ 25
4267+ 0.0
-35.23+ 0.00

TP delay

TVC(c, bch) (515, 7

o, pO

[ns]

S nun 1 roe+u4 [ 25
4234+ 0.0
-36+ 0.0

50 1(;0
TP delay

TVC(cbch) (5, 15 1

= pO

[ns]

T nan 2. ube+u4 | 25
4265+ 0.0
pl -36.11+ 0.00

TP delay

TVC(cbch) (515,15

[ns]

Tonai g/ /e+ud /25
4255+ 0.0
p1 -35.36+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,0

X~ 1 i 4ope+U4 [ 25
[raee PO 4150+ 0.0
pl -33.9+ 0.0

[ C =29.49 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (6,0,4

-1 388e+04 | 25
o, pO 4169+ 0.0
pl -33.85+ 0.00

[ C =29.54 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6 0,8

T g goze+u4 [ 25
[oane PD 4176+ 0.0
pl -35.82+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (6,0,12

Tz 10ie+u4 / 25
[ PO 4207+ 0.0
pl -35.16 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,1

AT 1 nuiLbloe+ud /25
[ po 4165+ 0.0
pl -35.35+ 0.00

TP delay [ns]

TVC(c,b ch) (6 0,5

S nug r11e+04 [ 25
P pO 4180+ 0.0
pL -35.34+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 0,9

~ 1 nuy.3yze+ud [ 25
[, DO 4196+ 0.0
pl -36.42 + 0.00

TP delay [ns]

TVC(cbch) (6,0,13

- i z0be+ud [ 25
[ PO 4202 0.0
pl -35.52 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000
3000
2000

1000

TVC(cbch) (6,0,2)

- C = 28.77 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (60,6

X~ 1w boze+U4 [ 25
[Froeee, PO 4170+ 0.0
F pl -34.75+ 0.00

- 1nugoze+u4 [ 25
4197+ 0.0
-35.6+ 0.0

TP delay [ns]

TVC(cbch) (6, 0 10

©1nun.y43e+04 / 25
- DO 4214+ 0.0
F pl -35.71+ 0.00

TP delay [ns]

TVC(cbch) (6,0,14

T L yzse+u4 [ 25
4198+ 0.0
-35.01+ 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,3

A~ 1 nuiLbbze+u4 / 25
"ren, PO 4185+ 0.0
p1 -35.41+ 0.00

TP delay [ns]

TVC(c,b ch) (6 0,7

- 1nu ba3e+u4 [ 25
e, PO 4203+ 0.0
pL -34.63+ 0.00

C =28.87 [ps/ch]

_L

50 100
TP delay [ns]

TVC(c,b ch) (6, O

T rnug, /51e+u4/25
pO 4220+ 0.0
pl -35.54 + 0.00

TP delay [ns]

TVC(C, bch) (6,0,15

Tz, uzse+u4 | 25
PO 4213+ 0.0
pl -35.8 + 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,0)

A7 1 nuiL do0e+04 / 25
po 4174+ 0.0
p1 -36.79+ 0.00

TP delay [ns]

TVC(cbch) (6.1,4

-1z 114e+04 / 25
pO 4176+ 0.0
p1 -34.11+ 0.00

[ C=29.32[ps/ch]\,_ ]
5(‘) 10‘0 =
TP delay [ns]
TVC(c,b ch) (6 1,8

TnuiLb/ (e+U4 [ 25
PD 4198+ 0.0
p1 -34.45 + 0.00

TP delay [ns]

TVC(cbch) (61,12

~ 1L puse+u4 / 25
pO 4197+ 0.0
pl -35.57 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,1

X- 1L rve+ud | 25
P e po 4194+ 0.0
pL -37.3+ 0.0

[ C =26.81[ps/c ]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (6 1,5

— CrnuZze+u4 [ 25
E pO 4161% 0.0
pL -35.14 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 1,9

-1 nu.pube+u4 / 25
= po 4230+ 0.0
p1 -34.69 £ 0.00

TP delay [ns]

TVC(c,b Ch) (6, l 13

— Tonan1s1e+ud /25
= pO 4192+ 0.0
pl -35.39+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000
3000
2000

1000

4000

2000

1000

TVC(cbch) (6,1,2)

AT 1nu4se+u4 /25
Foae po 4210+ 0.0
L pl -37.77 + 0.00

3000

TP delay [ns]

TVC(cbch) (61,6

-1 nuzbuze+ud | 25
- pO 4196+ 0.0
[ pl -35.96 + 0.00

3000

TP delay [ns]

TVC(cbch) (6, 1 10

©1nuz zove+ud | 25
4244+ 0.0
-35.4 + 0.0

TP delay [ns]

TVC(cbch) (61,14

~ 1L bo3e+U4 / 25
= pD 4190+ 0.0
L p1 -34.95+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,3)

T Loze+ud [ 25
pO 4194+ 0.0
p1 -37.29+ 0.00

TP delay [ns]

TVC(c,b ch) (6 1,7

-1 U Ubae+u4 [ 25
- pO 4190+ 0.0
p1 -34.65+ 0.00

TP delay [ns]

TVC(c,b ch) (6, l

T, /ue+u4/25
4254+ 0.0
-35.4+ 0.0

TP delay [ns]

TVC(c,b ch) (6, 1 15

- Tonuar 1e+ud /25
pO 4198+ 0.0
p1 -35.54 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,2,0

A7 nui ryse+u4 / 25
- po 4199+ 0.0
pl -37.27 + 0.00

TP delay [ns]

TVC(cbch) (62,4

- 1L Sobe+04 / 25
e pO 4214+ 0.0
pl -35.76 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6 2,8

1 nuiLyyge+u4 / 25
- po 4220+ 0.0
p1 -34.9% 0.0

TP delay [ns]

TVC(cbch) (6,2, 12

© L gsve+u4 / 25
= po 4212+ 0.0
pl -34.84 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,2,1)

T Lsye+ud [ 25
P e pO 4209+ 0.0
pl -35.93+ 0.00

TP delay [ns]

TVC(c,b ch) (6 2,5

-1 nui byse+ud / 25
[Fomes, pO 4219+ 0.0
pl -36.04 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 2,9

T naiLgu/e+us / 25
- po 4263+ 0.0
p1 -36.92 £ 0.00

TP delay [ns]

TVC(cbch) (6,213

T nai rs0e+ud / 25
= pO 4238+ 0.0
pl -36.47 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (6,2,2)

- C = 28.34 [ps/ch

A7 1 nuis40e+04 / 25
P, po 4208+ 0.0
o pl -35.29.+ 0.00

3000

1
50 100

TP delay [ns]

TVC(cbch) (62,6

T rnuiL4z3e+04 [ 25
- pO 4234+ 0.0
[ pl -35.63+ 0.00

3000

TP delay [ns]

TVC(cbch) (6, 2 10

T z9se+ud /25
- po 4264+ 0.0
L pl -35.77 + 0.00

3000

TP delay [ns]

TVC(cbch) (6,2 14

T, rgve+u4 [ 25
. pD 4224+ 0.0
L pl -35.23+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,2,3)

po
pL

AT 1L yzse+u4 [ 25
4212+ 0.0
-36.35+ 0.00

TP delay [ns]

TVC(c,b ch) (6 2,7

g,
pO
pl

7obe+u4 | 25
4248+ 0.0
-36.07 + 0.00

TP delay [ns]

TVC(c,b ch) (6,2,

X,

- po

1U9e+u4 125
4276+ 0.0
-36.68 + 0.00

TP delay [ns]

TVC(C, bch) (6,215

T nui ozse+ud [ 25
4243+ 0.0
-35.65+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,3,0

A 1L 448e+04 [ 25
- po 4196+ 0.0
pl -36.57 + 0.00

TP delay [ns]

TVC(cbch) (6.3,4

T 1 s1e+u4 /25
e, pO 4230 0.0
p1 -37.34+ 0.00

TP delay [ns]

TVC(cbch) (6 3,8

T zose+u4 | 25
- po 4235+ 0.0
pl -35.89+ 0.00

TP delay [ns]

TVC(cbch) (6,3 12

©rnuiLgyse+u4 / 25
pO 4236+ 0.0
pl -35.62 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,31

X~ 1 L dube+U4 | 25
Frase po 4202+ 0.0
pL -36.81% 0.00

TP delay [ns]

TVC(c,b ch) (6 3,5

-1 nui /uoe+u4 / 25
[iese DO 4232+ 0.0
pl -36.31+ 0.00

TP delay [ns]

TVC(c,b ch) (6 3,9

T inay, 711e+u4 /25
- po 4253+ 0.0
pl -35.35+ 0.00

TP delay [ns]

TVC(cbch) (63,13

Tinai g roe+ud [ 25
= pO 4223+ 0.0
pl -34.97 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (6,3,2)

TP delay [ns]

TVC(cbch) (63,6

K™ 1nuiozie+u4 /25
Freee, po 4215+ 0.0
- pl -36.63+ 0.00

3000

- L, 7uge+ud [ 25
- pO 4237+ 0.0
[ pl -36.02+ 0.00

TP delay [ns]

TVC(cbch) (6, 3 10

1000

© 1 nuzbyze+u4 | 25
__ DO 4282+ 0.0
- pl -35.79+ 0.00

TP delay [ns]

TVC(cbch) (6,3 14

TrnuiLg31e+u4 / 25
- pD 4226+ 0.0
[ p1 -36.04 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,3,3

AT 1 nuiL4nse+ud [ 25
- po 4217+ 0.0
pl -35.71+ 0.00

TP delay [ns]

TVC(c,b ch) (6 3,7

=1 Ui Yobe+u4 / 25
- pO 4247+ 0.0
pL -35.62:+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 3

AN uz4e+u4/25
- po 4262+ 0.0
-35.6 + 0.0

TP delay [ns]

TVC(C, bch) (63,15

-1 nui osoe+ud / 25
e pO 4242+ 0.0
p1 -36.28 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,0

X~ 1w 417e+04 /25
- PO 4198+ 0.0
pl -35.87 + 0.00

TP delay [ns]

TVC(cbch) (64,4

=i zuse+u4 / 25
e, pO 4187+ 0.0
pl -33.95+ 0.00

[ C =29.45 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6 4,8

T z14e+04 /25
- PD 4190+ 0.0
pl -35.43+ 0.00

TP delay [ns]

TVC(cbch) (64,12

T i goze+u4 /25
- 4222+ 0.0
-33.46 + 0.00

[ C =29.89 [ps/ch] . ]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,1

x- 1 i Ssae+04 | 25
- po 4177+ 0.0
pL -35.33 £ 0.00

TP delay [ns]

TVC(c,b ch) (6 4,5

Srna 1.3e+04 /25
- DU 4185+ 0.0
Pl 34,69 0.00

TP delay [ns]

TVC(c,b ch) (6 4,9

-1 nug.oyae+ud 25
- DO 4209+ 0.0
pl -35.06 + 0.00

TP delay [ns]

TVC(cbch) (64,13

T 430e+04 / 25
- pO 42214 0.0
pl -34.55 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,2)

X~ 1L zyve+U4 [ 25
e po 4191+ 0.0
I pl -35.99 + 0.00

3000

TP delay [ns]

TVC(cbch) (64,6

-1 nuiL439e+04 [ 25
- pO 4189+ 0.0
I pl -35.18:+ 0.00

TP delay [ns]

TVC(cbch) (6, 4 10

“nuz1y/e+u4 [ 25
- DO 4241+ 0.0
F pl -34.71+ 0.00

- C = 28.81 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (64,14

- 1w 1 Soe+ud | 25
- PD 4229+ 0.0
L pl -33.58 + 0.00

L C=29.78 [ps/ich] ™. 1

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,3

AL 3areud ] 25
™, PO 4206+ 0.0
pl -35.57 + 0.00

TP delay [ns]

TVC(c,b ch) (6 4,7

-1 nui b3ze+u4 / 25
- PO 4201% 0.0
pL -34.74 % 0.00

TP delay [ns]

TVC(c,b ch) (6, 4

SRAL R bee+U4/25
- pO 4227+ 0.0
pl -33.74+ 0.00

[ C=29.64 [ps/ch]

1
50 100

TP delay [ns]

TVC(C, bch) (64,15

~ 1 gbge+U4 [ 25
- 4225+ 0.0
-34.43+ 0.00

[ C =29.04 [ps/ch] ]

PR I S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,0

AT nuis4/e+04 /25
Focea po 4204+ 0.0
pl -35.62+ 0.00

TP delay [ns]

TVC(cbch) (6,54

Tz, rs4e+04 | 25
Fome, pO 4198+ 0.0
pL -34.03  0.00

[ C =29.38 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6 5,8

Tz 1zoe+u4 | 25
= po 4217+ 0.0
pl -35.67 + 0.00

TP delay [ns]

TVC(cbch) (6,5,12

T rnuiLyye+u4 / 25
= po 4227+ 0.0
pl -35.52+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,51

AT 1 nuiLzsoe+ud [ 25
Fraee po 4214+ 0.0
pl -35.55+ 0.00

TP delay [ns]

TVC(c,b ch) (6 55

T nu oze+04 [ 25
. 4195+ 0.0
-33.85+ 0.00

[ C =29.54 [ps/ch] 7]

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 59

-1 nu.Ugae+ud / 25
- pO 4214+ 0.0
pl -35.13 + 0.00

TP delay [ns]

TVC(cbch) (6,5,13

T inai ysze+ud [ 25
= pO 4250+ 0.0
pl -35.96 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,5,2)

TP delay [ns]

TVC(cbch) (6,56

A7 1 nui 340e+04 /25
_l po 4226+ 0.0
- pl -36.35+ 0.00

3000

T rnug / (9e+u4 | 25
fo, pO 4209+ 0.0
X pl -33.99+ 0.00

- C = 29.42 [psich]

50 10‘0
TP delay [ns]

TVC(cbch) (6, 5 10

T 1nuguyle+ud / 25
- po 4243+ 0.0
- pl -35.58 + 0.00

TP delay [ns]

TVC(cbch) (6,5,14

T L gze+ud [ 25
. pD 4223+ 0.0
L pl -35+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,3

AT 1L zsze+ud [ 25
o po 4212+ 0.0
pl -34.73+ 0.00

TP delay [ns]

TVC(c,b ch) (6 57

- nu gzoe+u4 /25
- pO 4211£ 0.0
p1 -34.91% 0.00

TP delay [ns]

TVC(cbch) (6, 5 11

T nuiz 344e+04 / 25
- pO 4249+ 0.0
p1 -35.45 + 0.00

TP delay [ns]

TVC(C, bch) (6,5,15

Tinai ro3e+ud [ 25
= pO 4236+ 0.0
p1 -35.93+ 0.00

TP delay [ns]



TVC(c,b Ch) (6, 6 0) TVC(c,b Ch) (6,6,1) TVC(c,b Ch) (6,6,2) TVC(c,b Ch) (6, 6 3)
i Colevud 25 X 1L dyse+ud | 25 X~ 1 duse U4 ] 25 i soverud 125
4000k, PO 4198+ 0.0 4000 =, po 4208+ 0.0 a0, po 4203+ 0.0 4000 R, pO 4216+ 0.0
Pl -35.29+ 0.00 pl -35.7+ 0.0 [ Pl -35.35: 0.00 Pl -35.29 0.00

3000

E 3000 - 3000~ - 3000 E

2000 -1 2000 -1 2000 = -1 2000

] wof C = 28,29 [ps/ch . ol C = 28,34 [ps/ch

1000 - 1000 N
L 1 1 1 - _1 1 -
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (6.6,4 TVC(cbch) (66,5 TVC(cbch) (66,6 TVC(c, bch) (66,7

T 3p/e+u4 / 25 -1 nur byye+ud [ 25 - bzye+u4 [ 25 - nun bzge+u4 [ 25
4000 4183+ 0.0 4000, pO 4208+ 0.0 4000k, pO 4196+ 0.0 4000 o, pO 4208+ 0.0
349+ 0.0 Pl -36.17% 000 3 PL_ -35.33% 0.00 Pl 3575000
3000 - 3000 - 3000 ] 3000 - -
2000 ] 2000 - 2000 ] 2000 [ -
] 1000 B 1000F = ] 1000~ C 1
1000 [ C =28.31[ps/ch ]
- - - -
- - -
1 L= 1 L= 1 -
50 00 50 T00 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eh.ch)=(6,6,8) TVC(eb.c)=(6,6,9) TVC(eb.ch)=(6, 6, 10) TVC(ebeh)=(6,6,11)
T nuiL f14e+04 / 25 -1 nug.byve+u4 [ 25 © 1 nuz 19ye+u4 / 25 - i ybye+u4 / 25
4000 o, pO 4217+ 0.0 4000 e, pO 4248+ 0.0 4000 [, DO 4259+ 0.0 4000 [ p0 4256+ 0.0
Pl 3548+ 000 Pl 3475000 [ PL_ 3578+ 0.00 -35£ 00

= 3000

3000 - 3000 -1 3000

2000 - 2000 |- - 2000 2000

1000 1000 1000

] 100 C = 28.78 [ps/ch]

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(661 ) TVC(cbch)(6613) TVC(Cbch)(661 ) TVC(cbch)(6615)
© i 5oze+04 / 25 T nai 349e+u4 / 25 ~ 1 nuiL440e+04 / 25 T nuiasse+ud [ 25
4000 pO 4234+ 0.0 4000 pO 4227+ 0.0 4000 PD 4224+ 0.0 4000 o, pO 4238+ 0.0
pl -35.63 + 0.00 pl -35.49.+ 0.00 F pl -35.33 + 0.00 pl 36+ 0.0

3000

-1 3000 -1 3000 - 3000 -1

2000 -1 2000 -1 2000 - 2000

1000 -1 1000 [~ -1 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(c,b Ch) (6,7,0) TVC(c,b Ch) (6,7,1) TVC(c,b Ch) (6,7,2) TVC(c,b Ch) (6,7,3)
K1 Sz0e+041 25 X~ 1L dooe+Ud | 25 X 1520804 1 25 K ssserud ] 25
A000R po 4187+ 0.0 400, po 4211+ 0.0 a0, po 4217+ 0.0 4000 o, po 4216+ 0.0
Pl -35.29+ 0.00 Pl -36.51% 0.00 [ pl -36.1% 0.0 pl 3535 0.00

- 3000

3000 = 3000 =1 3000 - -1

2000 — 2000 7] 2000 ] 2000 [

1000 1 ] ol ¢ = 28.29 [ps/ch 1
1 1 1 -
50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (6.7.4) TVC(cbch) (6.7,5) TVC(cbch) (6.7,6) TVC(cbch) (6.7,7)
S rnan151e+04 /25 =1 nui 430e+04 / 25 T rnuiL4zze+04 [ 25 =1 i bbbe+ud / 25
4000 pO 4200 0.0 4000k, pO 4212+ 0.0 4000 fo pO 4219+ 0.0 4000 R pO 4219+ 0.0
pl -34.58 + 0.00 pL -35.16 + 0.00 3 pl -34.88:+ 0.00 pL -34.36 + 0.00
3000~ - 3000 E 3000 — — 3000 -
2000~ E 2000 B 2000 - — 2000 [ E
1000k ] 1000 B wool- C = 28.67 [ps/ch ] woor C =29.10 [ps/ch] 7]
1 1 " [ 1 1 =] 1 1 -
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b ch) (6,7,8) TVC(c,b ch) (6.7,9) TVC(c,b, ch) (6,7,10) TVC(c,b ch) (6,7,11)
T nuprye+ud / 25 -1 uz4e+U5 / 25 T nu 3bre+ud [ 25 T 1 ybe+u4 /25
4000 e pO 4209+ 0.0 4000 pO 4227+ 00 4000 DO 4252+ 00 4000 e, p0 4261+ 0.0
pl -35.81+ 0.00 pL -36.26 + 0.00 [ pl -36.93 + 0.00 pL -37.33+ 0.00

3000 -1 3000 - 3000 - 3000 -1

2000 -1 2000 -1 2000 - 2000

1000 -1 1000 -1 1000 -1 1000

0

0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(671 ) TVC(cbch)(6713) TVC(cbch)(67l ) TVC(cbch)(6715)
T f1ze+u4 / 25 T osye+u4 / 25 TinuiLorie+ud /25 T bize+u4 [ 25
4000 [m, pO 4254+ 0.0 4000 4249+ 0.0 4000 fm, PD 4253+ 0.0 4000 fe pO 4262+ 0.0
pl -36.23+ 0.00 -37.01+ 0.00 r pl -36.3+ 0.0 pl -36.54 + 0.00

3000 -1 3000 - 3000 -1 3000 -1

2000 -1 2000 -1 2000 - 2000

1000 - 1000 - 1000

-1 1000

PR U S S |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]




TVC(ch Ch) ( 6)(8/“"0”)%9*04/25 TVC(ch Ch) (s, Srw]v-z)uewA/ZS TVC(eb Ch) ( 6x8uw242.me+u4/25 TvC(eb Ch) ( 6)‘%“‘:‘2 1)“49“’4/25
4000 po 4183+ 0.0 4000 po 4181+ 0.0 4000 [Foeee, po 4205+ 0.0 4000, po 4208+ 0.0
Pl -34.75+0.00 pL -34.6 % 0.0 3 Pl -34.88+ 0.00 pL -35.6+ 0.0

3000

N 3000 -1 3000 - 3000 -1

2000 - 2000 =1 2000 - 2000

- 1000 p~

1000 B 1000 B 1000:' C =28.67 [ps/ch ]
1 1 - 1 1 -] 1 1 -
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (6,84 TVC(cbch) (6,85 TVC(cbch) (68,6 TVC(c, bch) (6,87

- i 3zoe+04 [ 25 S g/ e+u4 | 25 T i 741e+04 [ 25 - 1nu.441e+04 / 25
4000 [y pO 4268+ 0.0 4000, pO 42512 0.0 4000 fm, pO 4263+ 0.0 4000 o=, pO 4282+ 0.0
Pl -38.71% 0.00 Pl -37.52% 0.00 [ PL_ -38.02% 0.00 Pl -37.76% 0.00
3000 4 3000 - 3000 - 3000 - ]
2000 4 2000 - 2000 — 2000 4
1000 4 1000 - wol- C = 26.30 [ps/c - 1000 C 4
[ -] -
L - "
1 |- 1 1 1 |
0 50 00 0 0 50 T00 0 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (6 8,8 TVC(cbch) (6 8, TVC(cbch) (6, 8 10 TVC(cbch) (6, 8

RERLEUE 24%4—04 125 T, 1d)::ze+u4/25 S, 320e+04/25 T bbzle+l]4/25
4000 4212+ 0.0 4000 pO 4221+ 0.0 4000 fo DO 4254+ 0.0 4000 [ 4260+ 0.0
-34.91+ 0.00 pL -34.43 0.00 3 pl -35.13+ 0.00 -34.88+ 0.00
3000 B 3000 E a000f ] 3000 E
2000 -1 2000 | - 2000 L —- 2000 - -
1000 E L J [ J [ ]
. wor C =29.05 [ps/ch]™,_ tooor ] wor C = 28.67 [ps/ch]™_
1 ' 1 1 - [ 1 [
0 50 00 50 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b Ch) (6, 8 12) TVC(c,b Ch) (6, 8 13) TVC(c,b Ch) (6, 8 14) TVC(c,b Ch) (6, 8 15)
“nun ) pge+ud [ 25 a1 4ze+u4 |25 “nu 14e+u4 /25 v ar4e+U4 [ 25
4000 pO 4222+ 0.0 4000 pO 42341 0.0 4000 PD 4222+ 0.0 4000 pO 4231% 0.0
Pl -3566+ 0.00 pl  -35.93+0.00 ! -34.53+ 0.00 -34.99 + 0.00

3000

7 3000 N 3000~ -1 3000 - .

2000 - 2000 2000 ] 2000 [

1000 - 1000 ] 1000 F

wnf C = 28.96 [ps/ch]

- -

- -

- -

- -

P U U PP BT T T
50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,0)

AT inuiarze+04 /25
4214+ 0.0
-36.51+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (69,4

- /i bl1e+ud [ 25
e pO 4237+ 0.0
pl -35.05+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6 9,8

©1nuz349e+04 | 25
- pO 4221+ 0.0
pl -34.93 + 0.00

TP delay [ns]

TVC(cbch) (6,9,12

[ C =29.44 [ps/ch]

T L b34e+04 / 25
= po 4238+ 0.0
pl -33.97 + 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,1

A” 1 nuiLobye+ud [ 25
- po 4220+ 0.0
pl -35.73+ 0.00

TP delay [ns]

TVC(c,b ch) (6 9,5

-1 nui431e+04 / 25
pO 4250+ 0.0
pL -35.69+ 0.00

TP delay [ns]

TVC(c,b ch) (6 9,9

-1 nu.quve+ud / 25
po 4233+ 0.0
pl -35.76 + 0.00

TP delay [ns]

TVC(cbch) (6,9,13

T inai s3ve+ud / 25
pO 4235+ 0.0
pl -35.15+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000
2000

1000

4000

3000

2000

TVC(cbch) (6,9,2)

K™ 1 nui ooze+V4 /25
P, po 4238+ 0.0
- pl -37.54+ 0.00

3000

TP delay [ns]

TVC(cbch) (69,6

S a1 58e+04 [ 25
pO 4259+ 0.0
pl -35.62+ 0.00

1000

TP delay [ns]

TVC(cbch) (6, 9 10

T84 e+04 | 25
po 4260+ 0.0
pl -36.03 + 0.00

TP delay [ns]

TVC(cbch) (6,9,14

1000

T rnuiLgo1e+04 /25
pD 4249+ 0.0
pl -36.48+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,3)

AT 1L robe+ud [ 25
po 4242+ 0.0
pl -37.02+ 0.00

TP delay [ns]

TVC(c,b ch) (6 9,7

Srna 1 /e+04 /25
pO 4275+ 0.0
pL -36.61% 0.00

TVC(c,b ch) (6, 9

50 1(;0
TP delay [ns]

T ‘J/be+U4/25
po 4272+ 0.0
pl -36.11 + 0.00

TP delay [ns]

TVC(C, bch) (6,9,15

T nuiasye+ud [ 25
pO 4258+ 0.0
pl -36.44 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (6, 10 0)

T sie+ud /25
- pO 4205+ 0.0
pl -35.58+ 0.00

TP delay [ns]

TVC(cbch) (6.10,4

-1 i 389e+04 / 25
Fome, pO 4215+ 0.0
pl -36.68 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6, 10 8

T 14se+ud /25
= po 4219+ 0.0
pl -36.86 + 0.00

TP delay [ns]

TVC(cbch) (6.10,12)

T 1L 53pe+u4 / 25
= po 4228+ 0.0
pl -35.27 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(chh) (6,10,1)

o po

A~ 1 nuiL4o8e+U4 [ 25
4208+ 0.0
pl -36.03+ 0.00

TP delay

TVC(c, bch) (6.10,5

[ns]

- i bzze+u4 [ 25
4219+ 0.0
pl -36.16 + 0.00

TP delay

TVC(c,b ch) (6, 10

e, po

[ns]

T nuizble+ud [ 25
4222+ 0.0
pl -35.82 + 0.00

TP delay

TVC(cbch) (610,13

pO
p1

[ns]

~ 1 nuiLqp0e+ud / 25
4229+ 0.0
-35.3+ 0.0

TP delay

[ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (6,10,2)

TP delay [ns]

TVC(cbch) (6.10,6

K™ 1 nui4ose+04 /25
. po 4219+ 0.0
- pl -36.22+ 0.00

3000

-1 nuibaze+04 [ 25
- pO 4228+ 0.0
[ pl -36.77+ 0.00

TP delay [ns]

TVC(e,b,ch)=(6, 10, 10)

1000

0

© 1z 144e+04 | 25
- po 4249+ 0.0
- pl -36.87 + 0.00

TP delay [ns]

TVC(cbch) (6.10,14)

~ 1 nuiLpuse+u4 / 25
- pD 4230+ 0.0
L pl -35.29+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,10,3)

A7 1 nuiLb40e+U4 [ 25
4213+ 0.0
pl -36.92+ 0.00

po

TP delay

TVC(c, bch) (6,10, 7

feme pO
pl

[ns]

=1 nui buze+u4 / 25
4232+ 0.0
-36.29 + 0.00

TP delay

TVC(cbch) (6, 10 1

= pO

[ns]

T naiL ruse+u4 / 25
4262+ 0.0
pl -37.02+ 0.00

TP delay

TVC(cbch) (6,10,15

[ns]

-1 nuiL bube+ud / 25
4238+ 0.0
p1 -35.52 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (6,11,0)

K™ 1 nui ooze+V4 /25
4224+ 0.0
-35.21+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (6,11,4

Sinu 17e+04/25
P e, pO 4182+ 0.0
pl -36.08 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6, 11 8

1 nuiLgyve+u4 / 25
- po 4229+ 0.0
pl -35.76 + 0.00

TP delay [ns]

TVC(cbch) (6,11, 12

X~ 1 442e+04 [ 25
- po 4251+ 0.0
pl -34.81+ 0.00

[ C=28.73 [ps/ch]

PR B SRS |
50 100
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pl -37.33+ 0.00

TP delay [ns]

TVC(cbch) (7,212

T rnuiLgase+u4 / 25
pO 4213+ 0.0
pl -35.96 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (7,2,1

AT rnunLzuie+ud [ 25
Foase po 4188+ 0.0
pl -36.06 + 0.00

TP delay [ns]

TVC(c,b ch) (7 2,5

- nui grge+u4d / 25
o pO 4204+ 0.0
pL -36.02:+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 2

T nun.yrze+ud [ 25
= po 4235+ 0.0
pl -35.34 + 0.00

TP delay [ns]

TVC(cbch) (7.2,13

S rnu ilve+ud /25
po 4211 0.0
pl -35.72:+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000
3000
2000

1000

TVC(cbch) (7,2,2)

TP delay [ns]

TVC(cbch) (7,2,6

X~ 1w ziie+ud [ 25
o po 4197+ 0.0
L pl -36.44 + 0.00

3000

18 /be+u4 [ 25

e pO 4187+ 0.0
X pl -34.46 + 0.00

- C = 29.02 [ps/ch]

50 10‘0
TP delay [ns]

TVC(ebeh)=(7,2, 10

1000

0

1 nuiz bbze+u4 [ 25

e, po 4252+ 0.0
- pl -36.65 + 0.00

TP delay [ns]

TVC(cbch) (7,214

4224+ 0.0

rnun zae+u4 /25
-35.41+ 0.00

PR IR SRR |
50 100

TP delay [ns]

TVC(cbch) (7,2,3)

4000 7 po

p1

x- 1 L dzae+Ud | 25
4211+ 0.0
-35.99+ 0.00

3000

2000

1000

1
100

TP delay [ns]

TVC(c,b ch) (7 2,7

4000

S nun zuse+ud [ 25
4210+ 0.0
-35.9+ 0.0

3000

2000

1000

1
100

TP delay [ns]

TVC(c,b ch) (7, 2

4000 o pO

pl

T 95=e+u4/25
4258+ 0.0
-37.47 + 0.00

3000

2000

1000

TP delay [ns]

TVC(C, bch) (7.2,15

4000 [,

T nui yzse+ud [ 25
4228+ 0.0
-35.52+ 0.00

3000

2000

1000

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,3,0

AT nun 3rse+ud /25
P po 4184+ 0.0
pl -35.87 + 0.00

TP delay [ns]

TVC(cbch) (7.3,4

L 3sze+04 [ 25
P, pO 4177+ 0.0
pl -35.53 + 0.00

TP delay [ns]

TVC(cbch) (7 3,8

1 nuiLgo4e+U4 / 25
pO 4194+ 0.0
pl -36.09 + 0.00

TP delay [ns]

TVC(cbch) (7,312

~ i 500e+U4 / 25
pO 4214+ 0.0
pl -36.32+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.3,1

AT rnuLsyle+ud [ 25
s po 4193+ 0.0
pl -37.07 + 0.00

TP delay [ns]

TVC(c,b ch) (7 3,5

=1 i bube+u4 / 25
o, DU 4187+ 0.0
pl -36.25+ 0.00

TP delay [ns]

TVC(c,b ch) (7 3,9

~ 1 nu, 78be+u4 / 25
= po 4213+ 0.0
pl -36.64 + 0.00

TP delay [ns]

TVC(cbch) (7.3,13

~ 1 nuiL poye+ud / 25
== pO 4205+ 0.0
pl -36.17 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000
2000

1000

4000

3000

2000

4000

3000

2000

TVC(cbch) (7,3,2)

A7 1 nui49ye+u4 / 25
_=_ po 4199+ 0.0
o pl -36.16+ 0.00

3000

TP delay [ns]

TVC(cbch) (73,6

T nun1.49e+04 /25
F pO 4191+ 0.0
- pl -35.78 + 0.00

TP delay [ns]

TVC(cbch) (7, 3 10

1000

0

T z.o8e+u4 /25
= po 4231+ 0.0
L p1 -37+ 0.0

TP delay [ns]

TVC(cbch) (7.3 14

1000

T 1L p4se+ud | 25
F pD 4210+ 0.0
+ pl -35.96 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.3,3

AT 1 nuiLbzae+u4 | 25
P s po 4200+ 0.0
pl -36.35+ 0.00

TP delay [ns]

TVC(c,b ch) (7 3,7

S rnan 151e+04 /25
- pO 4195+ 0.0
pL -35.29+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 3

T 959e+u4/25
= po 4239+ 0.0
pl -36.65+ 0.00

TP delay [ns]

TVC(C, bch) (7.3,15

Tinuin3/e+ud [ 25
po 4222+ 0.0
p1 -35.82+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

TVC(cbch) (7.4,0)

T Lse+ud /25
4187+ 0.0
pl -35.78+ 0.00

TP delay

TVC(cbch) (7.4,4

[ns]

- i 3y1e+u4 / 25
4210+ 0.0
-35.63+ 0.00

[P, PO
pL
3000~ 7
2000 - 7
1000 C 7
| L
50 100
TP delay [ns]
TVC(cbch) (7.4,8)
© 1 nug,ubbe+ud / 25
4000 pD 4211+ 0.0
p1 -34.8 £ 0.0
3000~ 1
2000 - 7
1000~ 71
| -
0 50 100
TP delay [ns]
TVC(cbch) (7.4,12)
- ~ 1 nuz,ugye+ud / 25
4000 o, po 4216+ 0.0
pl -35.97 + 0.00

3000

2000

1000

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (7,4,1)

1z1e+u4 125
4183+ 0.0
-35.06 + 0.00

A,

P PO

pl

1 1
50 100

TP delay [ns]

TVC(c,b ch) (7 4,5

-1 nui bgle+ud / 25
4212+ 0.0
-35.23+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 4

e, po

pl

~ 1 nu.agze+ud [ 25
4232+ 0.0
-34.97 + 0.00

TP delay [ns]

TVC(cbch) (7.4,13

T nui gbze+ud [ 25
4223+ 0.0
-35.29+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

4000

TVC(cbch) (7.4,2)

[oeee, po

A~ 1nuiLgzie+u4 /25
4191+ 0.0
pl -35.79+ 0.00

TP delay

TVC(cbch) (7,46

1000

pO
p1

[ns]

S rnui r51e+04 [ 25
4224+ 0.0
-36.61+ 0.00

TP delay

TVC(ebeh)=(7, 4,10

[ns]

T g ze+u4 /25
4248+ 0.0
-34.69 + 0.00

L pO
A =
3000:— __
2000:— _:
wof € = 28,83 [psich™, 7
4 Y o
TP delay [ns]

4000

3000
2000

1000

TVC(cbch) (7.4,14

T L yzse+u4 [ 25
4212+ 0.0
pl -35.66 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (7,4,

A

e, po
pL

3

nuiLgoae+u4 / 25
4195+ 0.0
-35.49+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (7 4,7

-

nuz.0roe+u4 / 25
4231+ 0.0
-36.8 + 0.0

1
100

TP delay [ns]

TVC(c,b ch) (7, 4

1)
Tonanz2.15e+04 /25
4250+ 0.0
-35.03+ 0.00

TP delay [ns]

TVC(c,b ch) (7,4,

X1

15

nuiz, 198e+u4 / 25
4233+ 0.0
-36.92+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,5,0)

A7 1 nui sove+u4 / 25
4186+ 0.0
-34.91+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (7,54

-1 nuiL348e+04 / 25
e, pO 4188+ 0.0
p1 -34.49+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (7 5,8

©rnuiLg1ve+u4 / 25
po 4205+ 0.0
pl -36.39+ 0.00

TP delay [ns]

TVC(cbch) (7,5,12

1L poye+u4 / 25
pO 4237+ 0.0
pl -36.46 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,51

AT 1nuiL3y/e+u4 | 25
Frase po 4192+ 0.0
pl -35.19+ 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (7 55

-1 nui 4n9e+04 [ 25
e, pO 4209+ 0.0
pL -35.53+ 0.00

TP delay [ns]

TVC(c,b ch) (7 59

T nun go3e+ud / 25
= po 4217+ 0.0
pl -36.72+ 0.00

TP delay [ns]

TVC(cbch) (7.5,13

<1 nuiLvbve+ud / 25
= pO 4237+ 0.0
p1 -36.6 + 0.0

TP delay [ns]

4000

2000

1000

4000
3000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (7,5,2)

K™ 1 nuiog0e+04 /25
P po 4211+ 0.0
o pl -35.78+ 0.00

3000

TP delay [ns]

TVC(cbch) (7,56

- C = 28.61 [ps/ch

- rnub15e+04 / 25
pO 4205+ 0.0
pl -34.96 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (7, 5 10

1000

0

© a2, yzoe+u4 | 25
. po 4237+ 0.0
L p1 -36.46 + 0.00

3000

TP delay [ns]

TVC(cbch) (7,5,14

T zze+04 [ 25
= pD 4241+ 0.0
L pl -37.05+ 0.00

3000

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,5,3

AT rnuiLouLe+ud [ 25
P s po 4216+ 0.0
pl -35.56 + 0.00

TP delay [ns]

TVC(c,b ch) (7 57

- nui brye+u4 [ 25
- pO 4215+ 0.0
pL -35.27+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 5

T yue+u4/25
- pO 4240+ 0.0
pl -36.15+ 0.00

TP delay [ns]

TVC(C, bch) (7.5,15

T nui pzye+ud / 25
= po 4225+ 0.0
p1 -35.83+ 0.00

TP delay [ns]



TVC(cbch) (7,6,0

4000

3000

2000

1000

A7 1 nuip4ve+u4 /25
- po 4225+ 0.0
pl -36.62+ 0.00

TP delay [ns]

TVC(cbch) (7.6,4

4000

3000

2000

1000

T i1 bze+ud [ 25
N 4205+ 0.0
-35.3+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (7 6, 8

4000

3000

2000

1000

T nuig.z43e+04 [ 25
= po 4187+ 0.0
-33.9+ 0.0

[ C =29.50 [ps/ch]

0

1
50 100

TP delay [ns]

TVC(cbch) (7,6,12

4000

3000

2000

1000

1 nus.4uve+u4 [ 25
= po 4201+ 0.0
pl -32.35+ 0.00

[ C =30.91 [ps/ch]

N PR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,6,1

A7 1 nuiLosoe+ud [ 25
P oaee po 4228+ 0.0
pl -36.3+ 0.0

TP delay [ns]

TVC(c,b ch) (7 6,5

-1 nui B43e+u4 / 25
Few pO 4224+ 0.0
pL -35.74+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7 6,9

T nuiLUg/e+us / 25
= pO 4221+ 0.0
pl -35.05+ 0.00

TP delay [ns]

TVC(cbch) (7.6,13

Tonan g ve+ud [ 25
= pO 4234+ 0.0
pl -35.28 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000
2000

1000

4000

3000

2000

TVC(cbch) (7,6,2)

K™ 1 nuiosze+u4 /25
-_ po 4222+ 0.0
- pl -35.82+ 0.00

3000

TP delay [ns]

TVC(cbch) (76,6

1000

- 1nug zoze+u4 [ 25
- pO 4238+ 0.0
[ pl -36.18+ 0.00

TP delay [ns]

TVC(cbch) (7, 6 10

1 nuig.yge+u4 | 25
F po 4246+ 0.0
L pl -35.74 + 0.00

TP delay [ns]

TVC(cbch) (7.6,14

T 19ye+ud /25
__ pD 4247+ 0.0
L pl -36.49 + 0.00

1000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,6,3

AT rnuiLruLe+ud [ 25
— po 4239+ 0.0
pl -36.42+ 0.00

TP delay [ns]

TVC(c,b ch) (7 6,7

- nu 38e+u4 / 25
- pO 4250+ 0.0
pL -36.53+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 6

Tz bze+u4/25
- pO 4234+ 0.0
p1 -34.93+ 0.00

TP delay [ns]

TVC(C, bch) (7.6,15

T nui ygbe+ud [ 25
pO 4239+ 0.0
-35.563+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,7,0

A7 nui z4qe+04 /25
o, po 4205+ 0.0
p1 -34.74+ 0.00

TP delay [ns]

TVC(cbch) (77,4

- rnuiLzy1e+ud / 25
pO 4202+ 0.0
p1 -34.74 % 0.00

50 10‘0
TP delay [ns]

TVC(eb,oh)=(7, 7,8

1 nuizgoge+u4 / 25
- pO 4214+ 0.0
pl -35.16 + 0.00

TP delay [ns]

TVC(cbch) (7,7,12

T rnuiLg31e+u4 / 25
= po 4221+ 0.0
pl -37.31+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,71

AT rnuiLzs/e+ud [ 25
e po 4218+ 0.0
pl -35.34+ 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (7 7,5

S nui 2 ze+u4 [ 25
E pO 4213+ 0.0
pL -35.47 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 7

-1 nu.1yae+u4 / 25
4230+ 0.0
-35.9 + 0.0

1
50 100

TP delay [ns]

TVC(cbch) (7,7,13

-1 nui soye+ud / 25
= pO 4220+ 0.0
pl -37.56 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (7,7,2)

- C = 28.58 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (7.7,6

AT 1nuizure+u4 /25
_._ po 4217+ 0.0
[ pL -34.99 + 0.00

T nun145e+04 /25
pO 4231+ 0.0
pl -36.13 + 0.00

TP delay [ns]

TVC(ebeh)=(7, 7, 10

T rnuiLys1e+u4 / 25
=, po 4238+ 0.0
- pl -36.25+ 0.00

TP delay [ns]

TVC(cbch) (7,7,14

©nuiLguse+u4 / 25
- pD 4218+ 0.0
L p1 -36.62+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,7,3

AT rmuiLzroe+ud [ 25
I s po 4222+ 0.0
pl -35.27 + 0.00

[ C =28.35[ps/ch

L
50 100

TP delay [ns]

TVC(c,b ch) (7 7,7

- nun bzze+u4 [ 25
- pO 4233+ 0.0
p1 -35.74+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 7

1)
T nuiL s foe+ud [ 25
= pO 4249+ 0.0
pl -35.87 + 0.00

TP delay [ns]

TVC(C, bch) (7.7,15

-1 nui oooe+ud / 25
- po 4220+ 0.0
p1 -37.03+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,8,0)

A7 1 nui ouse+ud [ 25
4161+ 0.0
pl -35.93+ 0.00

TP delay

TVC(cbch) (7.8,4

[ns]

-1 nuig bs4e+ud / 25
4178+ 0.0
-35.61+ 0.00

50 10‘0
TP delay

TVC(cbch) (7 8,8

[ns]

T rnuzprye+ud | 25
4194+ 0.0
pl -35.03+ 0.00

TP delay

TVC(cbch) (7,812

B pO

[ns]

T L ysze+u4 | 25
4206+ 0.0
pl -37.15+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,8,1)

Fomes po

AT 1L oose+ud [ 25
4175+ 0.0
pl -35.46 + 0.00

TP delay

TVC(c,b ch) (7 8,5

[ns]

- b33e+04 / 25
4186+ 0.0
pl -35.96 + 0.00

TP delay

TVC(c,b ch) (7 8,9

pO

[ns]

~ 1 nu.U14e+ud / 25
4216+ 0.0
pl -35.76 + 0.00

TP delay

TVC(cbch) (7.8,13

[ns]

~ 1 nuiLyoze+ud / 25
4213+ 0.0
pl -37.94+ 0.00

TP delay

" PR T R ...
50 100

[ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

TVC(cbch) (7,8,2)

froese po

pl

K™ 1 nuiobse+ud / 25
4176+ 0.0
-35.3+ 0.0

TP delay

TVC(cbch) (78,6

froese PO

p1

[ns]

- rnunB13e+u4 / 25
4192+ 0.0
-36.02 + 0.00

TP delay

TVC(cbch) (7, 8 10

[ns]

T nuig,3o3e+ud / 25
4201+ 0.0
-33.48 + 0.00

= o
- pl
3000:— ]
2000} :
1000:— C =29.87 [pS/Ch] - _
L = 00 -
TP delay [ns]

4000

3000
2000

1000

TVC(cbch) (7.8 14

~1nuiLgyse+u4 / 25
4225+ 0.0
pl -38.15+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,.8,3)

Fone, po

p1

AT 1L bsse+ud [ 25
4176+ 0.0
-34.67 + 0.00

[ C =28.84 [ps/ch

L
50

100

TP delay [ns]

TVC(c,b ch) (7 8,7

pO
pl

-1 nun gzee+u4 [ 25
4203+ 0.0
-36.48 + 0.00

100

TP delay [ns]

TVC(c,b ch) (7, 8

= pO

T, mze+u4/25
4203+ 0.0
-34.8+ 0.0

1
100

TP delay [ns]

TVC(C, bch) (7.8,15

T inuiLsu/e+ud [ 25
4224+ 0.0
-37.56 + 0.00

TP delay [ns]



TVC(cbch)(790) TVC(cbch)(791) TVC(cbch)(792) TVC(cbch)(793)
AT inuioze+V4 /25 AT rnuLs1oe+ud [ 25 AT zz1e+04 /25 AT 1 nuiLzose+ud [ 25
) po 4176+ 0.0 a000E, pO 4175+ 0.0 4000, PO 4101+ 0.0 4000, PO 4184+ 0.0
pl -38.94 + 0.00 pl -36.7 £ 0.0 : pl -37.33+ 0.00 pl -37.21+ 0.00

3000

1 3000 -1 3000 -1 3000

2000 E 2000 - 2000 - 2000 [

1000 1 1000 =1 1000 -1 1000 [~

L= L 1
50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (79,4 TVC(cbch) (79,5 TVC(cbch) (79,6 TVC(c, bch) (7.9,7

T nuiL4/4e+04 / 25 -1 bube+ud [ 25 ~1nuiLbl4e+04 / 25 - b3be+ud [ 25
4000, pO 4183+ 0.0 4000, pO 4192+ 00 4000, pO 4195+ 0.0 4000 o, pO 4200+ 0.0
Pl -36.91% 0.00 Pl -36.37% 0.00 - PL_ 36,58+ 0.00 Pl -36.77% 0.00
3000 q 3000 — 3000 B 3000 q
[ - ]
2000 - 2000 - 2000 - 2000 -
woo- C = 27.09 [ps/c 7 1000 b 1000 ] w00l C 7
- - 1 -
- - -
- - -
o 1 1 1 o 1 | o=
50 100 50 T00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b Ch) (7, 9 8) TVC(c,b Ch) (7, 9 ) TVC(c,b, Ch) (7, 9 10) TVC(c,b Ch) (7, 9 1)
-~ 1 nuz,ugoe+u4 / 25 -1 yove+us / 25 T nuig, 1ize+u4 / 25 - i ysze+u4 [ 25
40001 pO 4189+ 0.0 4000 s pO 42254 0.0 e DO 4219+ 0.0 4000 P, p0 4232+ 0.0
Pl -34.58% 0.00 Pl -35.43% 0.00 : PL_ 3535+ 0.00 Pl 3564+ 0.00

- 3000

3000 =1 3000 -1 3000 1

2000 2000 - 2000 X —_ 2000

1000 - 1000 - 1000
1000 L 4

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (7,9,12 TVC(cbch) (7,9,13 TVC(cbch) (7,9,14 TVC(C, bch) (7,9,15

~ 1L pose+ud / 25 4000 -1 nuiz.yuse+ud / 25 4000 T rnuiLgoe+u4 / 25 4000 Tinuizzye+ud 25
4000 o, PO 4200+ 0.0 - 4199+ 0.0 - PD 4200+ 0.0 PO 4231+ 0.0
pl -34.88+ 0.00 -36.1+ 0.0 r pl -35.6 + 0.0 pl -37.78 + 0.00

- 3000

3000 1 3000 - 3000 -1

2000 — 20001 N 2000[ b 2000

J 1000 C — 1000 e 1000

1000

PR U S S |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (7, 10 0)

©rnuizu4se+ud | 25
pO 4152+ 0.0
pl -35.32 0.00

TP delay [ns]

TVC(cbch) (7.10,4

T rnuiLas/e+ud [ 25
pO 4201+ 0.0
pl -36.37:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (7, 10 8

T z.31e+04 /25
4209+ 0.0
-36.4 + 0.0

1
50 100

TP delay [ns]

TVC(cbch) (7.10,12

T 14e+04 / 25
= po 4226+ 0.0
pl -35.97 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (7,10,1)

AT rnunzzse+ud | 25
P e po 4160+ 0.0
pl -35.34+ 0.00

TP delay [ns]

TVC(c, bch) (7.10,5

-1 nui bl4e+04 / 25
Frwe pO 4194+ 0.0
pL -35.79+ 0.00

TP delay [ns]

TVC(ebeh)=(7, 10,9

T nuw./ble+ud / 25
= po 4219+ 0.0
pl -36.06 + 0.00

TP delay [ns]

TVC(cbch) (7.10,13

T nuip43e+ud / 25
— pO 4223+ 0.0
pl -36.45+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (7,10,2)

AT 1nuzulie+ud /25
P e po 4161+ 0.0
L p1 -35+ 0.0

3000

TP delay [ns]

TVC(cbch) (7.10,6

1000

S rnu1bre+ud [ 25
F- pO 4224+ 0.0
[ pl -36.27 + 0.00

TP delay [ns]

TVC(cbch) (7, 10 10

1000

0

T rnub1/e+u4 [ 25
- po 4248+ 0.0
L pl -36.56 + 0.00

TP delay [ns]

TVC(cbch) (7.10,14

~ 1L poye+u4 / 25
- pD 4215+ 0.0
L p1 -35.86 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (7,10,3)

AT 1 nuaz.2uze+ud | 25
I po 4182+ 0.0
pl -35.38+ 0.00

TP delay [ns]

TVC(c, bch) (7.10,7

-1 nui yoze+u4 / 25
- pO 4228+ 0.0
pL -36.73+ 0.00

50 1(;0
TP delay [ns]

TVC(ehch)=(7, 10, 11

-1 nuiL suoe+u4 / 25
= pO 4231% 0.0
pl -36.08 + 0.00

TP delay [ns]

TVC(cbch) (7.10,15

Tinan 1 p4e+ud [ 25
= pO 4224+ 0.0
p1 -36.43+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(CbCh) (7,11,0)

K™ 1 nuiL ruoe+ud / 25
po 4202+ 0.0
pl -37.47 + 0.00

TP delay [ns]

TVC(cbch) (7,11,4

Tnun 1 34e+04 [ 25
pO 4195+ 0.0
p1 -34.83+ 0.00

e 4
% o
TP delay [ns]
TVC(c,b, ch) (7, 11 8

1 nuig.puge+u4 / 25
4208+ 0.0
-35.1+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (7.11,12

~ 1, (ube+u4 / 25
pO 4229+ 0.0
pl -35.88 + 0.00

TP delay [ns]

TVC(Cbch) (7,11,1)

4000f po

AT rnugszie+ud [ 25
4195+ 0.0
pl -37.12+ 0.00

3000

2000

1000

TP delay [ns]

TVC(cbch) (7,11,5

4000 , pO

pl

~ 1 nui 348e+04 / 25
4219+ 0.0
-34.84+ 0.00

3000 -

2000

w0l C = 28.71 [ps/ch]

1
50 10

0

TP delay [ns]

TVC(eh.eh)=(7, 11, 9

-1 nuiLugYe+us / 25
4234+ 0.0
p1 -35.19+ 0.00

4000 [

pO

3000

2000

1000

TP delay [ns]

TVC(cbch) (7.11,13

4000 e ,,0

p1

T 1 nu.quze+ud 25
4221+ 0.0
-35.81+ 0.00

3000

2000

1000

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000
3000
2000

1000

4000 [,
3000
2000

1000

TVC(CbCh) (7,11, 2)

K™ 1 nuiz.quae+04 /25
_l'_ po 4214+ 0.0
- pl -37.12+ 0.00

3000

TP delay [ns]

TVC(cbch) (7,11,6

- C = 28.97 [ps/ch]

50 10‘0
TP delay [ns]

TVC(e.b,eh)=(7, 11, 10

-1 nun483e+04 [ 25
. pO 4223+ 0.0
[ pl -34.52+ 0.00

X~ 1 nug.ugve+u4 [ 25
4246+ 0.0
-36.2 + 0.0

TP delay [ns]

TVC(cbch) (7,11, 14

X~ 11w uBbe+U4 [ 25
po 4230+ 0.0
pl -36.37 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7, 11 3)

E pO

T zs1e+u4 /25
4214+ 0.0
pl -37.17+ 0.00

TP delay

TVC(cbch) (7,11,7

feme pO
pl

[ns]

-1 nui buye+u4 / 25
4216+ 0.0
-34.34+ 0.00

[ C=29.12 [ps/ch]

_L

50 1(;0
TP delay

TVC(cbch) (7, 11 11

= pO

[ns]

Tonan2.18e+u4 / 25
4242+ 0.0
pl -35.92+ 0.00

TP delay

TVC(cbch) (7.11,15

e, po

[ns]

)

T inun.gs/e+ud [ 25
4226+ 0.0
-35.51+ 0.00

TP delay

[ns]



TVC sigma (RMS) (c,b,ch)=(0,0,0)

TVC sigma (RMS) (c,b,ch)=(0,0,4)

2k
15\ffle
1

f

TVC sigma (RMS) (c,b,ch)=(0,0,8)

TVC sigma (RMS) (c,b,ch)=(0,0,12)

TVC sigma (RMS) (c,b,ch)=(0,0,1)

TVC sigma (RMS) (c,b,ch)=(0,0,5)

T T
2

15

TVC sigma (RMS) (c,b,ch)=(0,0,9)

.k ]
15JJJ\I/FA\
. ]

TVC sigma (RMS) (c,b,ch)=(0,0,13)

TVC sigma (RMS) (c,b,ch)=(0,0,2)

TVC sigma (RMS) (c,b,ch)=(0,0,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,0,10)

AT

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(0,0,14)

A T

TVC sigma (RMS) (c,b,ch)=(0,0,3)

1 ]
1

TVC sigma (RMS) (c,b,ch)=(0,0,7)

b i
15/\I\/|PKW\H! 4
4 i

TVC sigma (RMS) (c,b,ch)=(0,0,11)

15F -1

TVC sigma (RMS) (c,b,ch)=(0,0,15)
T T
ok 4

15 -1




TVC sigma (RMS) (c,b,ch)=(0,1,0)

,_‘
T
1

TVC sigma (RMS) (c,b,ch)=(0,1,4)

TVC sigma (RMS) (c,b,ch)=(0,1,8)

H\i%i
H 1 1

o
ol
o
ol
o
3

TVC sigma (RMS) (c,b,ch)=(0,1,12)

TVC sigma (RMS) (c,b,ch)=(0,1,1)

TVC sigma (RMS) (c,b,ch)=(0,1,5)

TVC sigma (RMS) (c,b,ch)=(0,1,9)

15 -1

TVC sigma (RMS) (c,b,ch)=(0,1,13)

15 -1

I

TVC sigma (RMS) (c,b,ch)=(0,1,2)

TVC sigma (RMS) (c,b,ch)=(0,1,6)

15

A

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,1,10)

15

= T N

1
100

o
ol
oS

TVC sigma (RMS) (c,b,ch)=(0,1,14)

15

b,

TVC sigma (RMS) (c,b,ch)=(0,1,3)

TVC sigma (RMS) (c,b,ch)=(0,1,7)

15 1

TVC sigma (RMS) (c,b,ch)=(0,1,11)

15F -1

TVC sigma (RMS) (c,b,ch)=(0,1,15)




TVC sigma (RMS) (c,b,ch)=(0,2,0)

TVC sigma (RMS) (c,b,ch)=(0,2,4)

TVC sigma (RMS) (c,b,ch)=(0,2,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(0,2,12)

TVC sigma (RMS) (c,b,ch)=(0,2,1)

15 B

TVC sigma (RMS) (c,b,ch)=(0,2,5)

15 -1

TVC sigma (RMS) (c,b,ch)=(0,2,9)

15 -

TVC sigma (RMS) (c,b,ch)=(0,2,13)

TVC sigma (RMS) (c,b,ch)=(0,2,2)

TVC sigma (RMS) (c,b,ch)=(0,2,6)

LB B A S B B B
N

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,2,10)

.

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(0,2,14)

TVC sigma (RMS) (c,b,ch)=(0,2,3)

TVC sigma (RMS) (c,b,ch)=(0,2,7)

TVC sigma (RMS) (c,b,ch)=(0,2,11)

TVC sigma (RMS) (c,b,ch)=(0,2,15)




TVC sigma (RMS) (c,b,ch)=(0,3,0)

TVC sigma (RMS) (c,b,ch)=(0,3,4)

TVC sigma (RMS) (c,b,ch)=(0,3,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(0,3,12)

TVC sigma (RMS) (c,b,ch)=(0,3,1)

TVC sigma (RMS) (c,b,ch)=(0,3,5)

15 -1

TVC sigma (RMS) (c,b,ch)=(0,3,9)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,3,13)

TVC sigma (RMS) (c,b,ch)=(0,3,2)

TVC sigma (RMS) (c,b,ch)=(0,3,6)

I

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,3,10)

N
T

2
—rT T T
PR S [ S T T

N
PR

L
1 1
0 50 100
TVC sigma (RMS) (c,b,ch)=(0,3,14)
T T
2 .
sk .
s L

TVC sigma (RMS) (c,b,ch)=(0,3,3)

15k E

TVC sigma (RMS) (c,b,ch)=(0,3,7)

15F -1

TVC sigma (RMS) (c,b,ch)=(0,3,11)

15pF -1

TVC sigma (RMS) (c,b,ch)=(0,3,15)

15F -1




TVC sigma (RMS) (c,b,ch)=(0,4,0)

=
- 5 N
E

TVC sigma (RMS) (c,b,ch)=(0,4,4)

TVC sigma (RMS) (c,b,ch)=(0,4,8)

TVC sigma (RMS) (c,b,ch)=(0,4,12)

TVC sigma (RMS) (c,b,ch)=(0,4,1)

15

TVC sigma (RMS) (c,b,ch)=(0,4,5)

1
100

TVC sigma (RMS) (c,b,ch)=(0,4,9)

100

TVC sigma (RMS) (c,b,ch)=(0,4,13)

TVC sigma (RMS) (c,b,ch)=(0,4,2)

15

0.5

1
100

TVC sigma (RMS) (c,b,ch)=(0,4,6)

15

0.5

1
100

TVC sigma (RMS) (c,b,ch)=(0,4,10)

1
100

TVC sigma (RMS) (c,b,ch)=(0,4,14)

el EPE

TVC sigma (RMS) (c,b,ch)=(0,4,3)

1
1

TVC sigma (RMS) (c,b,ch)=(0,4,7)

15F

TVC sigma (RMS) (c,b,ch)=(0,4,11)

100

TVC sigma (RMS) (c,b,ch)=(0,4,15)

100

i




TVC sigma (RMS) (c,b,ch)=(0,5,0)

oF T T e

-

TVC sigma (RMS) (c,b,ch)=(0,5,4)

2 T T

TVC sigma (RMS) (c,b,ch)=(0,5,8)

T T
2

T
0

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(0,5,12)

T

TVC sigma (RMS) (c,b,ch)=(0,5,1)

TVC sigma (RMS) (c,b,ch)=(0,5,5)

2

15

TVC sigma (RMS) (c,b,ch)=(0,5,9)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,5,13)

TVC sigma (RMS) (c,b,ch)=(0,5,2)

2

15

TVC sigma (RMS) (c,b,ch)=(0,5,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,5,10)

2 T T

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(0,5,14)

TVC sigma (RMS) (c,b,ch)=(0,5,3)

SF T T ]

TVC sigma (RMS) (c,b,ch)=(0,5,7)

T T
2k .

15k E

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,5,11)

T T
2k .

TVC sigma (RMS) (c,b,ch)=(0,5,15)

15 -1




TVC sigma (RMS) (c,b,ch)=(0,6,0)

TVC sigma (RMS) (c,b,ch)=(0,6,4)

TVC sigma (RMS) (c,b,ch)=(0,6,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(0,6,12)

TVC sigma (RMS) (c,b,ch)=(0,6,1)

TVC sigma (RMS) (c,b,ch)=(0,6,5)

T T
2F -

15F E

TVC sigma (RMS) (c,b,ch)=(0,6,9)

TVC sigma (RMS) (c,b,ch)=(0,6,13)

TVC sigma (RMS) (c,b,ch)=(0,6,2)

TVC sigma (RMS) (c,b,ch)=(0,6,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,6,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(0,6,14)

N T

TVC sigma (RMS) (c,b,ch)=(0,6,3)

15pF -1

TVC sigma (RMS) (c,b,ch)=(0,6,7)

15F -

TVC sigma (RMS) (c,b,ch)=(0,6,11)

15 -1

TVC sigma (RMS) (c,b,ch)=(0,6,15)

15k E




TVC sigma (RMS) (c,b,ch)=(0,7,0)

TVC sigma (RMS) (c,b,ch)=(0,7,4)

TVC sigma (RMS) (c,b,ch)=(0,7,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(0,7,12)

TVC sigma (RMS) (c,b,ch)=(0,7,1)

15 -

TVC sigma (RMS) (c,b,ch)=(0,7,5)

15 =1

TVC sigma (RMS) (c,b,ch)=(0,7,9)

TVC sigma (RMS) (c,b,ch)=(0,7,13)

15 -1

TVC sigma (RMS) (c,b,ch)=(0,7,2)

TVC sigma (RMS) (c,b,ch)=(0,7,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,7,10)

15

|

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(0,7,14)

TVC sigma (RMS) (c,b,ch)=(0,7,3)

15F -

TVC sigma (RMS) (c,b,ch)=(0,7,7)

oF ]
15‘\')/W

TVC sigma (RMS) (c,b,ch)=(0,7,11)

15F -1

TVC sigma (RMS) (c,b,ch)=(0,7,15)




TVC sigma (RMS) (c,b,ch)=(0,8,0)

TVC sigma (RMS) (c,b,ch)=(0,8,4)

TVC sigma (RMS) (c,b,ch)=(0,8,8)

T T
2 4
15 E
I+ 4
L
1 1
0 50 100
TVC sigma (RMS) (c,b,ch)=(0,8,12)
T T
o 4
15 -
1 -
n n n n 1 n n n n 1 n
50 100

TVC sigma (RMS) (c,b,ch)=(0,8,1)

15 -1

TVC sigma (RMS) (c,b,ch)=(0,8,5)

2

15

TVC sigma (RMS) (c,b,ch)=(0,8,9)

TVC sigma (RMS) (c,b,ch)=(0,8,13)

!

TVC sigma (RMS) (c,b,ch)=(0,8,2)

TVC sigma (RMS) (c,b,ch)=(0,8,6)

N

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,8,10)

15

I

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(0,8,14)

15

TVC sigma (RMS) (c,b,ch)=(0,8,3)

15 1

TVC sigma (RMS) (c,b,ch)=(0,8,7)

15F -1

0

TVC sigma (RMS) (c,b,ch)=(0,8,11)

u-,w
1

TVC sigma (RMS) (c,b,ch)=(0,8,15)

o

15 -1




TVC sigma (RMS) (c,b,ch)=(0,9,0)

TVC sigma (RMS) (c,b,ch)=(0,9,4)

TVC sigma (RMS) (c,b,ch)=(0,9,8)

TVC sigma (RMS) (c,b,ch)=(0,9,12)

TVC sigma (RMS) (c,b,ch)=(0,9,1)

TVC sigma (RMS) (c,b,ch)=(0,9,5)

15 -1

TVC sigma (RMS) (c,b,ch)=(0,9,9)

TVC sigma (RMS) (c,b,ch)=(0,9,13)

15 -

TVC sigma (RMS) (c,b,ch)=(0,9,2)

TVC sigma (RMS) (c,b,ch)=(0,9,6)

15

5

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,9,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(0,9,14)

TVC sigma (RMS) (c,b,ch)=(0,9,3)

TVC sigma (RMS) (c,b,ch)=(0,9,7)

TVC sigma (RMS) (c,b,ch)=(0,9,11)

15[ .

TVC sigma (RMS) (c,b,ch)=(0,9,15)

15k E




TVC sigma (RMS) (c,b,ch)=(0,10,0)

H
T
1

TVC sigma (RMS) (c,b,ch)=(0,10,4)

|'| 1 1

TVC sigma (RMS) (c,b,ch)=(0,10,8)

o
ol
o
ol
o
3

TVC sigma (RMS) (c,b,ch)=(0,10,12)

TVC sigma (RMS) (c,b,ch)=(0,10,1)

15

TVC sigma (RMS) (c,b,ch)=(0,10,5)

15

TVC sigma (RMS) (c,b,ch)=(0,10,9)

TVC sigma (RMS) (c,b,ch)=(0,10,13)

TVC sigma (RMS) (c,b,ch)=(0,10,2)

TVC sigma (RMS) (c,b,ch)=(0,10,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,10,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(0,10,14)

TVC sigma (RMS) (c,b,ch)=(0,10,3)

TVC sigma (RMS) (c,b,ch)=(0,10,7)
T T

TVC sigma (RMS) (c,b,ch)=(0,10,11)

TVC sigma (RMS) (c,b,ch)=(0,10,15)




TVC sigma (RMS) (c,b,ch)=(0,11,0)

1
100

TVC sigma (RMS) (c,b,ch)=(0,11,4)

100

TVC sigma (RMS) (c,b,ch)=(0,11,8)

0

o
ol
o

TVC sigma (RMS) (c,b,ch)=(0,11,12)

100

TVC sigma (RMS) (c,b,ch)=(0,11,1)

15

TVC sigma (RMS) (c,b,ch)=(0,11,5)

1
100

15

TVC sigma (RMS) (c,b,ch)=(0,11,9)

100

TVC sigma (RMS) (c,b,ch)=(0,11,13)

15

TVC sigma (RMS) (c,b,ch)=(0,11,2)

TVC sigma (RMS) (c,b,ch)=(0,11,6)

1
100

TVC sigma (RMS) (c,b,ch)=(0,11,10)

1
100

TVC sigma (RMS) (c,b,ch)=(0,11,14)

15

15

15

TVC sigma (RMS) (c,b,ch)=(0,11,3)

TVC sigma (RMS) (c,b,ch)=(0,11,7)

TVC sigma (RMS) (c,b,ch)=(0,11,11)

100

100

TVC sigma (RMS) (c,b,ch)=(0,11,15)




TVC sigma (RMS) (c,b,ch)=(0,12,0)

-
T

TVC sigma (RMS) (c,b,ch)=(0,12,4)

TVC sigma (RMS) (c,b,ch)=(0,12,8)

TVC sigma (RMS) (c,b,ch)=(0,12,12)

TVC sigma (RMS) (c,b,ch)=(0,12,1)

15

TVC sigma (RMS) (c,b,ch)=(0,12,5)

TVC sigma (RMS) (c,b,ch)=(0,12,9)

25 T T

TVC sigma (RMS) (c,b,ch)=(0,12,13)

TVC sigma (RMS) (c,b,ch)=(0,12,2)

TVC sigma (RMS) (c,b,ch)=(0,12,6)

TVC sigma (RMS) (c,b,ch)=(0,12,14)

15

15

15

TVC sigma (RMS) (c,b,ch)=(0,12,3)

TVC sigma (RMS) (c,b,ch)=(0,12,7)
T T

TVC sigma (RMS) (c,b,ch)=(0,12,11)

TVC sigma (RMS) (c,b,ch)=(0,12,15)

15




TVC sigma (RMS) (c,b,ch)=(0,13,0)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,13,4)

TVC sigma (RMS) (c,b,ch)=(0,13,8)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(0,13,12)

TVC sigma (RMS) (c,b,ch)=(0,13,1)

15

TVC sigma (RMS) (c,b,ch)=(0,13,5)

TVC sigma (RMS) (c,b,ch)=(0,13,9)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,13,13)

15

TVC sigma (RMS) (c,b,ch)=(0,13,2)

TVC sigma (RMS) (c,b,ch)=(0,13,6)

1 1
]L 50 100

TVC sigma (RMS) (c,b,ch)=(0,13,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(0,13,14)

TVC sigma (RMS) (c,b,ch)=(0,13,3)

TVC sigma (RMS) (c,b,ch)=(0,13,7)

15F

50 100

TVC sigma (RMS) (c,b,ch)=(0,13,11)

15F

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,13,15)

15F

=T




H
R o
—%&
|I 1 1

TVC sigma (RMS) (c,b,ch)=(0,14,0)

TVC sigma (RMS) (c,b,ch)=(0,14,4)

TVC sigma (RMS) (c,b,ch)=(0,14,8)

o
ol
o
ol
o
3

TVC sigma (RMS) (c,b,ch)=(0,14,12)

TVC sigma (RMS) (c,b,ch)=(0,14,1)

15

TVC sigma (RMS) (c,b,ch)=(0,14,5)

15

TVC sigma (RMS) (c,b,ch)=(0,14,9)

TVC sigma (RMS) (c,b,ch)=(0,14,13)

15

TVC sigma (RMS) (c,b,ch)=(0,14,2)

TVC sigma (RMS) (c,b,ch)=(0,14,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,14,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(0,14,14)

25 T T

15

15

TVC sigma (RMS) (c,b,ch)=(0,14,3)

TVC sigma (RMS) (c,b,ch)=(0,14,7)

TVC sigma (RMS) (c,b,ch)=(0,14,11)

TVC sigma (RMS) (c,b,ch)=(0,14,15)




TVC sigma (RMS) (c,b,ch)=(0,15,0)

TVC sigma (RMS) (c,b,ch)=(0,15,4)

TVC sigma (RMS) (c,b,ch)=(0,15,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(0,15,12)

TVC sigma (RMS) (c,b,ch)=(0,15,1)

15

TVC sigma (RMS) (c,b,ch)=(0,15,5)

15

TVC sigma (RMS) (c,b,ch)=(0,15,9)

TVC sigma (RMS) (c,b,ch)=(0,15,13)

TVC sigma (RMS) (c,b,ch)=(0,15,2)

TVC sigma (RMS) (c,b,ch)=(0,15,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,15,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(0,15,14)

TVC sigma (RMS) (c,b,ch)=(0,15,3)

TVC sigma (RMS) (c,b,ch)=(0,15,7)
T T

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,15,11)

TVC sigma (RMS) (c,b,ch)=(0,15,15)




TVC sigma (RMS) (c,b,ch)=(1,0,0)

H
T
1

TVC sigma (RMS) (c,b,ch)=(1,0,4)

,_‘
T
1

TVC sigma (RMS) (c,b,ch)=(1,0,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(1,0,12)

TVC sigma (RMS) (c,b,ch)=(1,0,1)

15 -1

TVC sigma (RMS) (c,b,ch)=(1,0,5)

15 -1

TVC sigma (RMS) (c,b,ch)=(1,0,9)

TVC sigma (RMS) (c,b,ch)=(1,0,13)

TVC sigma (RMS) (c,b,ch)=(1,0,2)

o
L e s e e L

e

TVC sigma (RMS) (c,b,ch)=(1,0,6)

2
— T T T T T T T T T T

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,0,10)

A S

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(1,0,14)

O

TVC sigma (RMS) (c,b,ch)=(1,0,3)

15 -1

TVC sigma (RMS) (c,b,ch)=(1,0,7)

2| ]
15r|J'_|\ﬁ

TVC sigma (RMS) (c,b,ch)=(1,0,11)

I

15 -1

TVC sigma (RMS) (c,b,ch)=(1,0,15)




TVC sigma (RMS) (c,b,ch)=(1,1,0)

TVC sigma (RMS) (c,b,ch)=(1,1,4)

H
T
1

TVC sigma (RMS) (c,b,ch)=(1,1,8)

o

,_‘

o
ol
o
ol
o
3

TVC sigma (RMS) (c,b,ch)=(1,1,12)

TVC sigma (RMS) (c,b,ch)=(1,1,1)

TVC sigma (RMS) (c,b,ch)=(1,1,5)

TVC sigma (RMS) (c,b,ch)=(1,1,9)

2k ]
15(\J{N
i L

TVC sigma (RMS) (c,b,ch)=(1,1,13)

L i
15‘\/j
1 —

TVC sigma (RMS) (c,b,ch)=(1,1,2)

TVC sigma (RMS) (c,b,ch)=(1,1,6)

2
T T T T T T T T

N

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,1,10)

N
T

L TEE

1
100

o
ol
oS

TVC sigma (RMS) (c,b,ch)=(1,1,14)

I T

TVC sigma (RMS) (c,b,ch)=(1,1,3)

TVC sigma (RMS) (c,b,ch)=(1,1,7)

15[ -1

TVC sigma (RMS) (c,b,ch)=(1,1,11)

15F -1

TVC sigma (RMS) (c,b,ch)=(1,1,15)

15F -1




TVC sigma (RMS) (c,b,ch)=(1,2,0)

,_‘
T
1

TVC sigma (RMS) (c,b,ch)=(1,2,4)

TVC sigma (RMS) (c,b,ch)=(1,2,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(1,2,12)

TVC sigma (RMS) (c,b,ch)=(1,2,1)

15 -1

TVC sigma (RMS) (c,b,ch)=(1,2,5)

15 =1

TVC sigma (RMS) (c,b,ch)=(1,2,9)

0

TVC sigma (RMS) (c,b,ch)=(1,2,13)

151 -

TVC sigma (RMS) (c,b,ch)=(1,2,2)

A L BN S B B
A T T

TVC sigma (RMS) (c,b,ch)=(1,2,6)

-
»
L L e e e e e L

=l

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,2,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(1,2,14)

-
o
— T T T T T T T T T T

=

TVC sigma (RMS) (c,b,ch)=(1,2,3)

TVC sigma (RMS) (c,b,ch)=(1,2,7)

15 -1

TVC sigma (RMS) (c,b,ch)=(1,2,11)

TVC sigma (RMS) (c,b,ch)=(1,2,15)




TVC sigma (RMS) (c,b,ch)=(1,3,0)

TVC sigma (RMS) (c,b,ch)=(1,3,4)

,_‘
T
1

TVC sigma (RMS) (c,b,ch)=(1,3,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(1,3,12)

TVC sigma (RMS) (c,b,ch)=(1,3,1)

151 E

TVC sigma (RMS) (c,b,ch)=(1,3,5)

2F -

15F -

1 =

0.5 -
1 1

TVC sigma (RMS) (c,b,ch)=(1,3,9)

TVC sigma (RMS) (c,b,ch)=(1,3,13)

TVC sigma (RMS) (c,b,ch)=(1,3,2)

N
—rT T
PRI

15

TVC sigma (RMS) (c,b,ch)=(1,3,6)

15

05

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,3,10)

15

N N

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(1,3,14)

15

L L B B B B B
A T

TVC sigma (RMS) (c,b,ch)=(1,3,3)

15 1

TVC sigma (RMS) (c,b,ch)=(1,3,7)

TVC sigma (RMS) (c,b,ch)=(1,3,11)

15pF -1

TVC sigma (RMS) (c,b,ch)=(1,3,15)

15[ .




TVC sigma (RMS) c,b,ch)=(1,4,0)

0.5 -1

100

TVC sigma (RMS) (c,b,ch)=(1,4,4)

TVC sigma (RMS) c,b,ch)=(1,4,8)

d

o

100

TVC sigma (RMS) (c,b,ch)=(1,4, 12)

100

TVC sigma (RMS) (c,b,ch)=(1,4,1)

Zﬁ ]
W+ _
100

TVC sigma (RMS) (c,b,ch)=(1,4,5)

TVC sigma (RMS) (c,b,ch)=(1,4,9)

) i

15 ‘Nr _

) i
100

TVC sigma (RMS) (c,b,ch)=(1,4,13)

2k -
15 -1
1 -
L~

100

TVC sigma (RMS) (c,b,ch)=(1,4,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(1,4,6)

15

=0

TVC sigma (RMS) (c,b,ch)=(1,4,10)

15

N =

o

TVC sigma (RMS) (c,b,ch)=(1,4,14)

15

TVC sigma (RMS) (c,b,ch)=(1,4,3)

15 1

TVC sigma (RMS) (c,b,ch)=(1,4,7)

TVC sigma (RMS) (c,b,ch)=(1,4,11)

15F -1

TVC sigma (RMS) (c,b,ch)=(1,4,15)

15F -1




TVC sigma (RMS) (c,b,ch)=(1,5,0)

TVC sigma (RMS) (c,b,ch)=(1,5,4)

TVC sigma (RMS) (c,b,ch)=(1,5,8)

ok
ol
o
ol
o
3

TVC sigma (RMS) (c,b,ch)=(1,5,12)

TVC sigma (RMS) (c,b,ch)=(1,5,1)

TVC sigma (RMS) (c,b,ch)=(1,5,5)

TVC sigma (RMS) (c,b,ch)=(1,5,9)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,5,13)

15 -1

TVC sigma (RMS) (c,b,ch)=(1,5,2)

TVC sigma (RMS) (c,b,ch)=(1,5,6)

15

=T T

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,5,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(1,5,14)

TVC sigma (RMS) (c,b,ch)=(1,5,3)

TVC sigma (RMS) (c,b,ch)=(1,5,7)

15pF -1

50 100

TVC sigma (RMS) (c,b,ch)=(1,5,11)

15pF -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,5,15)

15F -1




TVC sigma (RMS) (c,b,ch)=(1,6,0)

TVC sigma (RMS) (c,b,ch)=(1,6,4)

TVC sigma (RMS) (c,b,ch)=(1,6,8)

100

o
ol
o

TVC sigma (RMS) (c,b,ch)=(1,6,12)

100

TVC sigma (RMS) (c,b,ch)=(1,6,1)

TVC sigma (RMS) (c,b,ch)=(1,6,5)

15

TVC sigma (RMS) (c,b,ch)=(1,6,9)

100

15

TVC sigma (RMS) (c,b,ch)=(1,6,13)

1
100

TVC sigma (RMS) (c,b,ch)=(1,6,2)

AT

TVC sigma (RMS) (c,b,ch)=(1,6,6)

15

T

1
100

TVC sigma (RMS) (c,b,ch)=(1,6,10)

15

A

o
ol
oS

1
100

TVC sigma (RMS) (c,b,ch)=(1,6,14)

15

N N

TVC sigma (RMS) (c,b,ch)=(1,6,3)

TVC sigma (RMS) (c,b,ch)=(1,6,7)

TVC sigma (RMS) (c,b,ch)=(1,6,11)

100

15

M

TVC sigma (RMS) (c,b,ch)=(1,6,15)

100

ok
15P/Jw/j




TVC sigma (RMS) (c,b,ch)=(1,7,0)

il

TVC sigma (RMS) (c,b,ch)=(1,7,4)

TVC sigma (RMS) (c,b,ch)=(1,7,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(1,7,12)

TVC sigma (RMS) (c,b,ch)=(1,7,1)

151 E

TVC sigma (RMS) (c,b,ch)=(1,7,5)

15 -

TVC sigma (RMS) (c,b,ch)=(1,7,9)

TVC sigma (RMS) (c,b,ch)=(1,7,13)

15 -1

TVC sigma (RMS) (c,b,ch)=(1,7,2)

TVC sigma (RMS) (c,b,ch)=(1,7,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,7,10)

15

N

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(1,7,14)

15

O

TVC sigma (RMS) (c,b,ch)=(1,7,3)

15 R

TVC sigma (RMS) (c,b,ch)=(1,7,7)

15F -1

TVC sigma (RMS) (c,b,ch)=(1,7,11)

15 -1

TVC sigma (RMS) (c,b,ch)=(1,7,15)

15 -1




TVC sigma (RMS) (c,b,ch)=(1,8,0)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,8,4)

TVC sigma (RMS) (c,b,ch)=(1,8,8)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(1,8,12)

TVC sigma (RMS) (c,b,ch)=(1,8,1)

TVC sigma (RMS) (c,b,ch)=(1,8,5)

TVC sigma (RMS) (c,b,ch)=(1,8,9)

TVC sigma (RMS) (c,b,ch)=(1,8,13)

2k .
15‘\/£/
1 Lr]

TVC sigma (RMS) (c,b,ch)=(1,8,2)

TVC sigma (RMS) (c,b,ch)=(1,8,6)

15

e

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,8,10)

15

LI

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(1,8,14)

15

H
A

TVC sigma (RMS) (c,b,ch)=(1,8,3)

TVC sigma (RMS) (c,b,ch)=(1,8,7)

TVC sigma (RMS) (c,b,ch)=(1,8,11)

TVC sigma (RMS) (c,b,ch)=(1,8,15)

15 1




TVC sigma (RMS) (c,b,ch)=(1,9,0)

TVC sigma (RMS) (c,b,ch)=(1,9,4)

TVC sigma (RMS) (c,b,ch)=(1,9,8)

T T
2k .

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(1,9,12)

TVC sigma (RMS) (c,b,ch)=(1,9,1)

15 -1

TVC sigma (RMS) (c,b,ch)=(1,9,5)

TVC sigma (RMS) (c,b,ch)=(1,9,9)

TVC sigma (RMS) (c,b,ch)=(1,9,13)

15 =1

TVC sigma (RMS) (c,b,ch)=(1,9,2)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,9,10)

LT

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(1,9,14)

TVC sigma (RMS) (c,b,ch)=(1,9,3)

TVC sigma (RMS) (c,b,ch)=(1,9,7)

15 -1

50 100

TVC sigma (RMS) (c,b,ch)=(1,9,11)

15 -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,9,15)

15f E




TVC sigma (RMS) (c,b,ch)=(1,10,0)

TVC sigma (RMS) (c,b,ch)=(1,10,4)

TVC sigma (RMS) (c,b,ch)=(1,10,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(1,10,12)

TVC sigma (RMS) (c,b,ch)=(1,10,1)

15 -1

TVC sigma (RMS) (c,b,ch)=(1,10,5)

TVC sigma (RMS) (c,b,ch)=(1,10,9)

TVC sigma (RMS) (c,b,ch)=(1,10,13)

2F T T 3

15

TVC sigma (RMS) (c,b,ch)=(1,10,2)

TVC sigma (RMS) (c,b,ch)=(1,10,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,10,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(1,10,14)

Jooov

TVC sigma (RMS) (c,b,ch)=(1,10,3)
T T

15F -

TVC sigma (RMS) (c,b,ch)=(1,10,7)
T T

TVC sigma (RMS) (c,b,ch)=(1,10,11)

15 -1

TVC sigma (RMS) (c,b,ch)=(1,10,15)




TVC sigma (RMS) (c,b,ch)=(1,11,0)

TVC sigma (RMS) (c,b,ch)=(1,11,4)

TVC sigma (RMS) (c,b,ch)=(1,11,8)

b

ok
ol
o
ol
o
3

TVC sigma (RMS) (c,b,ch)=(1,11,12)

TVC sigma (RMS) (c,b,ch)=(1,11,1)

TVC sigma (RMS) (c,b,ch)=(1,11,5)

TVC sigma (RMS) (c,b,ch)=(1,11,9)

15

TVC sigma (RMS) (c,b,ch)=(1,11,13)

15

TVC sigma (RMS) (c,b,ch)=(1,11,2)

TVC sigma (RMS) (c,b,ch)=(1,11,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,11,10)

1,

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(1,11,14)

N A .

TVC sigma (RMS) (c,b,ch)=(1,11,3)

15F

TVC sigma (RMS) (c,b,ch)=(1,11,7)

TVC sigma (RMS) (c,b,ch)=(1,11,11)

TVC sigma (RMS) (c,b,ch)=(1,11,15)

15F




TVC sigma (RMS) (c,b,ch)=(1,12,0)

TVC sigma (RMS) (c,b,ch)=(1,12,4)

TVC sigma (RMS) (c,b,ch)=(1,12,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(1,12,12)

15

TVC sigma (RMS) (c,b,ch)=(1,12,1)

TVC sigma (RMS) (c,b,ch)=(1,12,5)

TVC sigma (RMS) (c,b,ch)=(1,12,9)

TVC sigma (RMS) (c,b,ch)=(1,12,13)

TVC sigma (RMS) (c,b,ch)=(1,12,2)

TVC sigma (RMS) (c,b,ch)=(1,12,6)
T T

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,12,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(1,12,14)

TVC sigma (RMS) (c,b,ch)=(1,12,3)
T T

TVC sigma (RMS) (c,b,ch)=(1,12,7)
T T

TVC sigma (RMS) (c,b,ch)=(1,12,11)

TVC sigma (RMS) (c,b,ch)=(1,12,15)

15 -1




TVC sigma (RMS) (c,b,ch)=(1,13,0)

TVC sigma (RMS) (c,b,ch)=(1,13,4)

50 100

TVC sigma (RMS) (c,b,ch)=(1,13,8)

01

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(1,13,12)

TVC sigma (RMS) (c,b,ch)=(1,13,1)

TVC sigma (RMS) (c,b,ch)=(1,13,5)

25

15

TVC sigma (RMS) (c,b,ch)=(1,13,9)

TVC sigma (RMS) (c,b,ch)=(1,13,13)

TVC sigma (RMS) (c,b,ch)=(1,13,2)

TVC sigma (RMS) (c,b,ch)=(1,13,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,13,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(1,13,14)

TVC sigma (RMS) (c,b,ch)=(1,13,3)

TVC sigma (RMS) (c,b,ch)=(1,13,7)
T T

15 =1
1] Lr

1 1

50 100
TVC sigma (RMS) (c,b,ch)=(1,13,11)

T T
L i
15 =1

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,13,15)

15F -1




TVC sigma (RMS) (c,b,ch)=(1,14,0)

,_‘
T
1

TVC sigma (RMS) (c,b,ch)=(1,14,4)

1 1 -L
50 100
TVC sigma (RMS) (c,b,ch)=(1,14,8)
T T
AN 4
15 E
1= L]
1 1
0 50 100

TVC sigma (RMS) (c,b,ch)=(1,14,12)

TVC sigma (RMS) (c,b,ch)=(1,14,1)

15

TVC sigma (RMS) (c,b,ch)=(1,14,5)

TVC sigma (RMS) (c,b,ch)=(1,14,9)

TVC sigma (RMS) (c,b,ch)=(1,14,13)

TVC sigma (RMS) (c,b,ch)=(1,14,2)

TVC sigma (RMS) (c,b,ch)=(1,14,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,14,10)

TVC sigma (RMS) (c,b,ch)=(1,14,14)

TVC sigma (RMS) (c,b,ch)=(1,14,3)

TVC sigma (RMS) (c,b,ch)=(1,14,7)
T T

15 =1
1k Lo

1 1

50 100

TVC sigma (RMS) (c,b,ch)=(1,14,11)

T T
L i
15F -1

TVC sigma (RMS) (c,b,ch)=(1,14,15)

15[ b




TVC sigma (RMS) (c,b,ch)=(1,15,0)

1

05

TVC sigma (RMS) (c,b,ch)=(1,15,4)

1
100

1

05

TVC sigma (RMS) (c,b,ch)=(1,15,8)

1
100

1

05

0

0

TVC sigma (RMS) (c,b,ch)=(1,15,12)

1
100

1

05

TVC sigma (RMS) (c,b,ch)=(1,15,1)

1

o5

TVC sigma (RMS) (c,b,ch)=(1,15,5)

1
100

1

05

TVC sigma (RMS) (c,b,ch)=(1,15,9)

1
100

1

05

TVC sigma (RMS) (c,b,ch)=(1,15,13)

1
100

1

051

TVC sigma (RMS) (c,b,ch)=(1,15,2)

TVC sigma (RMS) (c,b,ch)=(1,15,6)

1
100

TVC sigma (RMS) (c,b,ch)=(1,15,10)

1
100

T
1

TVC sigma (RMS) (c,b,ch)=(1,15,14)

1
100

T
1

TVC sigma (RMS) (c,b,ch)=(1,15,3)

1k

05

TVC sigma (RMS) (c,b,ch)=(1,15,7)

1
100

1k

05

TVC sigma (RMS) (c¢,b,ch)=(1,15,11)

1
100

1k

05

TVC sigma (RMS) (c,b,ch)=(1,15,15)

1
100

1k

05




TVC sigma (RMS) (c,b,ch)=(2,0,0)

L'l 1 1

TVC sigma (RMS) (c,b,ch)=(2,0,4)

ok 4
15’\|“\(Ml\l\r\’ _
et

-

TVC sigma (RMS) (c,b,ch)=(2,0,8)

o

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(2,0,12)

TVC sigma (RMS) (c,b,ch)=(2,0,1)

151 E

L

TVC sigma (RMS) (c,b,ch)=(2,0,5)

T T
2k -

15 -

TVC sigma (RMS) (c,b,ch)=(2,0,9)

2k _
15M

TVC sigma (RMS) (c,b,ch)=(2,0,2)

15

TVC sigma (RMS) (c,b,ch)=(2,0,6)

15

L B e e e B
| I

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,0,10)

1
100

o
ol
oS

TVC sigma (RMS) (c,b,ch)=(2,0,14)

15

TVC sigma (RMS) (c,b,ch)=(2,0,3)

TVC sigma (RMS) (c,b,ch)=(2,0,7)

15F -

50 100

TVC sigma (RMS) (c,b,ch)=(2,0,11)

15pF -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,0,15)

15 -1




TVC sigma (RMS) (c,b,ch)=(2,1,0)

TVC sigma (RMS) (c,b,ch)=(2,1,4)

50 100

TVC sigma (RMS) (c,b,ch)=(2,1,8)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(2,1,12)

TVC sigma (RMS) (c,b,ch)=(2,1,1)

1 1
50 100

TVC sigma (RMS) (c,b,ch)=(2,1,5)

T T
2k

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,1,9)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,1,13)

TVC sigma (RMS) (c,b,ch)=(2,1,2)

I'||I||||I||||I||

TVC sigma (RMS) (c,b,ch)=(2,1,6)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(2,1,14)

e I N

TVC sigma (RMS) (c,b,ch)=(2,1,3)

15F E

TVC sigma (RMS) (c,b,ch)=(2,1,7)

15 1

TVC sigma (RMS) (c,b,ch)=(2,1,11)
T T
s 4

15pF -1

TVC sigma (RMS) (c,b,ch)=(2,1,15)

T T
2k .

15 -1




TVC sigma (RMS) (c,b,ch)=(2,2,0)

I

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,2,4)

TVC sigma (RMS) (c,b,ch)=(2,2,8)

1 1 1 =
50 100
TVC sigma (RMS) (c,b,ch)=(2,2,12)
T T
2 4
15f —
1) i
n n n n 1 n n n n 1 n
50 100

TVC sigma (RMS) (c,b,ch)=(2,2,1)

TVC sigma (RMS) (c,b,ch)=(2,2,5)

TVC sigma (RMS) (c,b,ch)=(2,2,9)

TVC sigma (RMS) (c,b,ch)=(2,2,13)

TVC sigma (RMS) (c,b,ch)=(2,2,2)

15

TVC sigma (RMS) (c,b,ch)=(2,2,6)

15

I

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,2,10)

T T T T T
A T

1
100

o
ol
oS

TVC sigma (RMS) (c,b,ch)=(2,2,14)

A T

TVC sigma (RMS) (c,b,ch)=(2,2,3)

15F -

TVC sigma (RMS) (c,b,ch)=(2,2,7)

15 -1

50 100

TVC sigma (RMS) (c,b,ch)=(2,2,11)

15 -1

TVC sigma (RMS) (c,b,ch)=(2,2,15)

15 -1




TVC sigma (RMS) (c,b,ch)=(2,3,0)

,_‘
T
1

TVC sigma (RMS) (c,b,ch)=(2,3,4)

H
T
1

TVC sigma (RMS) (c,b,ch)=(2,3,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(2,3,12)

TVC sigma (RMS) (c,b,ch)=(2,3,1)

TVC sigma (RMS) (c,b,ch)=(2,3,5)

15

TVC sigma (RMS) (c,b,ch)=(2,3,9)

15

TVC sigma (RMS) (c,b,ch)=(2,3,13)

TVC sigma (RMS) (c,b,ch)=(2,3,2)

~
—T T
PRESTEN R

Ja

TVC sigma (RMS) (c,b,ch)=(2,3,6)

-
2
— T T T T T T T T

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,3,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(2,3,14)

TVC sigma (RMS) (c,b,ch)=(2,3,3)

TVC sigma (RMS) (c,b,ch)=(2,3,7)

TVC sigma (RMS) (c,b,ch)=(2,3,11)

TVC sigma (RMS) (c,b,ch)=(2,3,15)

15 1




TVC sigma (RMS) (c,b,ch)=(2,4,0)

TVC sigma (RMS) (c,b,ch)=(2,4,4)

TVC sigma (RMS) (c,b,ch)=(2,4,8)

2
15
1
0.5
1 1

0

TVC sigma (RMS) (c,b,ch)=(2,4,12)

TVC sigma (RMS) (c,b,ch)=(2,4,1)

T T
2

15

TVC sigma (RMS) (c,b,ch)=(2,4,5)

1
50 100

25

15

TVC sigma (RMS) (c,b,ch)=(2,4,13)

15

TVC sigma (RMS) (c,b,ch)=(2,4,2)

15

N A T

TVC sigma (RMS) (c,b,ch)=(2,4,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,4,10)

15

1
100

o
ol
oS

TVC sigma (RMS) (c,b,ch)=(2,4,14)

15

e T T A

TVC sigma (RMS) (c,b,ch)=(2,4,3)

15pF -1

TVC sigma (RMS) (c,b,ch)=(2,4,7)

15F -1

TVC sigma (RMS) (c,b,ch)=(2,4,11)

TVC sigma (RMS) (c,b,ch)=(2,4,15)

2F -
15|J//\/M
L

1




TVC sigma (RMS) (c,b,ch)=(2,5,0)

TVC sigma (RMS) (c,b,ch)=(2,5,4)

LT

TVC sigma (RMS) (c,b,ch)=(2,5,8)

»—\
T
1

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(2,5,12)

TVC sigma (RMS) (c,b,ch)=(2,5,1)

15 -

TVC sigma (RMS) (c,b,ch)=(2,5,5)

15 -

TVC sigma (RMS) (c,b,ch)=(2,5,9)

TVC sigma (RMS) (c,b,ch)=(2,5,13)

T T
2k -

TVC sigma (RMS) (c,b,ch)=(2,5,2)

TVC sigma (RMS) (c,b,ch)=(2,5,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,5,10)

15

| A

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(2,5,14)

J1

TVC sigma (RMS) (c,b,ch)=(2,5,3)

TVC sigma (RMS) (c,b,ch)=(2,5,7)

LT

TVC sigma (RMS) (c,b,ch)=(2,5,11)

15 1

TVC sigma (RMS) (c,b,ch)=(2,5,15)

15 -1




TVC sigma (RMS) (c,b,ch)=(2,6,0)

TVC sigma (RMS) (c,b,ch)=(2,6,4)

TVC sigma (RMS) (c,b,ch)=(2,6,8)

T T
2k .

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(2,6,12)

TVC sigma (RMS) (c,b,ch)=(2,6,1)

TVC sigma (RMS) (c,b,ch)=(2,6,5)

T T
2

15

TVC sigma (RMS) (c,b,ch)=(2,6,9)

TVC sigma (RMS) (c,b,ch)=(2,6,13)

ok 4
15M
1 Lo

TVC sigma (RMS) (c,b,ch)=(2,6,2)

TVC sigma (RMS) (c,b,ch)=(2,6,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,6,10)

f

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(2,6,14)

15

TVC sigma (RMS) (c,b,ch)=(2,6,3)

TVC sigma (RMS) (c,b,ch)=(2,6,7)

oF ]
15‘|wl\/\/\}\/‘/ ]
i Lo

TVC sigma (RMS) (c,b,ch)=(2,6,11)

15pF -1

TVC sigma (RMS) (c,b,ch)=(2,6,15)

15F -




TVC sigma (RMS) (c,b,ch)=(2,7,0)

Hﬁmi
|I 1 1

TVC sigma (RMS) (c,b,ch)=(2,7,4)

100

TVC sigma (RMS) (c,b,ch)=(2,7,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(2,7,12)

TVC sigma (RMS) (c,b,ch)=(2,7,1)

15

1
100

TVC sigma (RMS) (c,b,ch)=(2,7,5)

15

100

TVC sigma (RMS) (c,b,ch)=(2,7,9)

100

TVC sigma (RMS) (c,b,ch)=(2,7,13)

15

TVC sigma (RMS) (c,b,ch)=(2,7,2)

15

1
100

TVC sigma (RMS) (c,b,ch)=(2,7,6)

TVC sigma (RMS) (c,b,ch)=(2,7,10)

1
100

15

N A T

o
ol
oS

TVC sigma (RMS) (c,b,ch)=(2,7,14)

1
100

15

N N

TVC sigma (RMS) (c,b,ch)=(2,7,3)

15F

TVC sigma (RMS) (c,b,ch)=(2,7,7)

1
100

15

TVC sigma (RMS) (c,b,ch)=(2,7,11)

100

15F

TVC sigma (RMS) (c,b,ch)=(2,7,15)

100




TVC sigma (RMS) (c,b,ch)=(2,8,0)

Iﬂ 1 1

TVC sigma (RMS) (c,b,ch)=(2,8,4)

AN i
15’|‘/I\Mﬂ _

-

TVC sigma (RMS) (c,b,ch)=(2,8,8)

,_‘
T

o
ol
o
ol
o
3

TVC sigma (RMS) (c,b,ch)=(2,8,12)

TVC sigma (RMS) (c,b,ch)=(2,8,1)

T T
2k -

TVC sigma (RMS) (c,b,ch)=(2,8,5)

T T
2k -

15 -1

TVC sigma (RMS) (c,b,ch)=(2,8,9)

15 -

TVC sigma (RMS) (c,b,ch)=(2,8,13)

TVC sigma (RMS) (c,b,ch)=(2,8,2)

TVC sigma (RMS) (c,b,ch)=(2,8,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,8,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(2,8,14)

~
—TT T

LI

TVC sigma (RMS) (c,b,ch)=(2,8,3)

E mY
1

TVC sigma (RMS) (c,b,ch)=(2,8,7)

15 -

TVC sigma (RMS) (c,b,ch)=(2,8,11)

15F -

TVC sigma (RMS) (c,b,ch)=(2,8,15)

15 -1




TVC sigma (RMS) (c,b,ch)=(2,9,0)

,_‘
T
1

TVC sigma (RMS) (c,b,ch)=(2,9,4)

TVC sigma (RMS) (c,b,ch)=(2,9,8)

TVC sigma (RMS) (c,b,ch)=(2,9,12)

TVC sigma (RMS) (c,b,ch)=(2,9,1)

TVC sigma (RMS) (c,b,ch)=(2,9,5)

2k -

15 -

1k =

0.5 -
1 1

TVC sigma (RMS) (c,b,ch)=(2,9,9)

15 -

TVC sigma (RMS) (c,b,ch)=(2,9,13)

15 -

TVC sigma (RMS) (c,b,ch)=(2,9,2)

TVC sigma (RMS) (c,b,ch)=(2,9,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,9,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(2,9,14)

I

TVC sigma (RMS) (c,b,ch)=(2,9,3)

TVC sigma (RMS) (c,b,ch)=(2,9,7)

TVC sigma (RMS) (c,b,ch)=(2,9,11)

15 -1

TVC sigma (RMS) (c,b,ch)=(2,9,15)




TVC sigma (RMS) (c,b,ch)=(2,10,0)

=
‘%3\

-

o
ol
o
ol
o
3

TVC sigma (RMS) (c,b,ch)=(2,10,12)

TVC sigma (RMS) (c,b,ch)=(2,10,1)

15

TVC sigma (RMS) (c,b,ch)=(2,10,5)

15

TVC sigma (RMS) (c,b,ch)=(2,10,9)

TVC sigma (RMS) (c,b,ch)=(2,10,13)

15

TVC sigma (RMS) (c,b,ch)=(2,10,2)

TVC sigma (RMS) (c,b,ch)=(2,10,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,10,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(2,10,14)

15

=

TVC sigma (RMS) (c,b,ch)=(2,10,3)

TVC sigma (RMS) (c,b,ch)=(2,10,7)

TVC sigma (RMS) (c,b,ch)=(2,10,11)

TVC sigma (RMS) (c,b,ch)=(2,10,15)

2k
15
1
_L

=T




TVC sigma (RMS) (c,b,ch)=(2,11,0)

TVC sigma (RMS) (c,b,ch)=(2,11,4)

TVC sigma (RMS) (c,b,ch)=(2,11,8)

0

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(2,11,12)

TVC sigma (RMS) (c,b,ch)=(2,11,1)

TVC sigma (RMS) (c,b,ch)=(2,11,5)

TVC sigma (RMS) (c,b,ch)=(2,11,9)

15

TVC sigma (RMS) (c,b,ch)=(2,11,13)

TVC sigma (RMS) (c,b,ch)=(2,11,2)

TVC sigma (RMS) (c,b,ch)=(2,11,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,11,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(2,11,14)

15

TVC sigma (RMS) (c,b,ch)=(2,11,3)

15

TVC sigma (RMS) (c,b,ch)=(2,11,7)

15F

TVC sigma (RMS) (c,b,ch)=(2,11,11)

15F

TVC sigma (RMS) (c,b,ch)=(2,11,15)

15[




TVC sigma (RMS) (c,b,ch)=(2,12,0)

TVC sigma (RMS) (c,b,ch)=(2,12,4)

TVC sigma (RMS) (c,b,ch)=(2,12,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(2,12,12)

TVC sigma (RMS) (c,b,ch)=(2,12,1)

TVC sigma (RMS) (c,b,ch)=(2,12,5)

15

TVC sigma (RMS) (c,b,ch)=(2,12,9)

15

TVC sigma (RMS) (c,b,ch)=(2,12,13)

TVC sigma (RMS) (c,b,ch)=(2,12,2)

TVC sigma (RMS) (c,b,ch)=(2,12,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,12,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(2,12,14)

TVC sigma (RMS) (c,b,ch)=(2,12,3)
T T

15F -

TVC sigma (RMS) (c,b,ch)=(2,12,7)
T T

15 1

TVC sigma (RMS) (c,b,ch)=(2,12,11)

TVC sigma (RMS) (c,b,ch)=(2,12,15)

15[ .




TVC sigma (RMS) (c,b,ch)=(2,13,0)

TVC sigma (RMS) (c,b,ch)=(2,13,4)

05 -1

50 100

TVC sigma (RMS) (c,b,ch)=(2,13,8)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(2,13,12)

TVC sigma (RMS) (c,b,ch)=(2,13,1)

15

=)

1 1
50 100

TVC sigma (RMS) (c,b,ch)=(2,13,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,13,9)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,13,13)

TVC sigma (RMS) (c,b,ch)=(2,13,2)

TVC sigma (RMS) (c,b,ch)=(2,13,6)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,13,10)

ol

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(2,13,14)

L N T

TVC sigma (RMS) (c,b,ch)=(2,13,3)

TVC sigma (RMS) (c,b,ch)=(2,13,7)

2k m

15[ .

1 4

0.5 -
1 1

TVC sigma (RMS) (¢,b,ch)=(2,13,11)

15 -1

TVC sigma (RMS) (c,b,ch)=(2,13,15)

2k .

15 1

! L1
_L




TVC sigma (RMS) (c,b,ch)=(2,14,0)

TVC sigma (RMS) (c,b,ch)=(2,14,4)

Il

TVC sigma (RMS) (c,b,ch)=(2,14,8)

TVC sigma (RMS) (c,b,ch)=(2,14,12)

TVC sigma (RMS) (c,b,ch)=(2,14,1)

15

TVC sigma (RMS) (c,b,ch)=(2,14,5)

15

TVC sigma (RMS) (c,b,ch)=(2,14,9)

TVC sigma (RMS) (c,b,ch)=(2,14,13)

TVC sigma (RMS) (c,b,ch)=(2,14,2)

TVC sigma (RMS) (c,b,ch)=(2,14,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,14,10)

TVC sigma (RMS) (c,b,ch)=(2,14,3)
T T

TVC sigma (RMS) (c,b,ch)=(2,14,7)
T T

TVC sigma (RMS) (c,b,ch)=(2,14,11)

15F -1

TVC sigma (RMS) (c,b,ch)=(2,14,15)




TVC sigma (RMS) (c,b,ch)=(2,15,0)

1

05

TVC sigma (RMS) (c,b,ch)=(2,15,4)

1
100

1

05

TVC sigma (RMS) (c,b,ch)=(2,15,8)

1
100

1

05

0

0

TVC sigma (RMS) (c,b,ch)=(2,15,12)

1
100

1

05

TVC sigma (RMS) (c,b,ch)=(2,15,1)

1

o5

TVC sigma (RMS) (c,b,ch)=(2,15,5)

1
100

1

05

TVC sigma (RMS) (c,b,ch)=(2,15,9)

1
100

1

05

TVC sigma (RMS) (c,b,ch)=(2,15,13)

1
100

1

051

TVC sigma (RMS) (c,b,ch)=(2,15,2)

TVC sigma (RMS) (c,b,ch)=(2,15,6)

1
100

TVC sigma (RMS) (c,b,ch)=(2,15,10)

1
100

T
1

TVC sigma (RMS) (c,b,ch)=(2,15,14)

1
100

T
1

TVC sigma (RMS) (c,b,ch)=(2,15,3)

1k

05

TVC sigma (RMS) (c,b,ch)=(2,15,7)

1
100

1k

05

TVC sigma (RMS) (c,b,ch)=(2,15,11)

1
100

1k

05

TVC sigma (RMS) (c,b,ch)=(2,15,15)

1
100

1k

05




TVC sigma (RMS) (c,b,ch)=(3,0,0)

1
100

TVC sigma (RMS) (c,b,ch)=(3,0,4)

TVC sigma (RMS) (c,b,ch)=(3,0,8)

T
2

TVC sigma (RMS) (c,b,ch)=(3,0,12)

TVC sigma (RMS) (c,b,ch)=(3,0,1)

TVC sigma (RMS) (c,b,ch)=(3,0,5)

TVC sigma (RMS) (c,b,ch)=(3,0,9)

TVC sigma (RMS) (c,b,ch)=(3,0,13)

TVC sigma (RMS) (c,b,ch)=(3,0,2)

1]

TVC sigma (RMS) (c,b,ch)=(3,0,6)

15

0.5

1
100

TVC sigma (RMS) (c,b,ch)=(3,0,10)

1
100

TVC sigma (RMS) (c,b,ch)=(3,0,14)

TVC sigma (RMS) (c,b,ch)=(3,0,3)

15F

1
100

TVC sigma (RMS) (c,b,ch)=(3,0,7)

TVC sigma (RMS) (c,b,ch)=(3,0,11)

TVC sigma (RMS) (c,b,ch)=(3,0,15)




TVC sigma (RMS) (c,b,ch)=(3,1,0)

TVC sigma (RMS) (c,b,ch)=(3,1,4)

TVC sigma (RMS) (c,b,ch)=(3,1,8)

TVC sigma (RMS) (c,b,ch)=(3,1,12)

TVC sigma (RMS) (c,b,ch)=(3,1,1)

TVC sigma (RMS) (c,b,ch)=(3,1,5)

TVC sigma (RMS) (c,b,ch)=(3,1,9)

TVC sigma (RMS) (c,b,ch)=(3,1,13)

TVC sigma (RMS) (c,b,ch)=(3,1,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(3,1,6)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,1,10)

15

05

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(3,1,14)

TVC sigma (RMS) (c,b,ch)=(3,1,3)

TVC sigma (RMS) (c,b,ch)=(3,1,7)

TVC sigma (RMS) (c,b,ch)=(3,1,11)

TVC sigma (RMS) (c,b,ch)=(3,1,15)




TVC sigma (RMS) (c,b,ch)=(3,2,0)

TVC sigma (RMS) (c,b,ch)=(3,2,4)

TVC sigma (RMS) (c,b,ch)=(3,2,8)

TVC sigma (RMS) (c,b,ch)=(3,2,12)

TVC sigma (RMS) (c,b,ch)=(3,2,1)

TVC sigma (RMS) (c,b,ch)=(3,2,5)

TVC sigma (RMS) (c,b,ch)=(3,2,9)

TVC sigma (RMS) (c,b,ch)=(3,2,13)

TVC sigma (RMS) (c,b,ch)=(3,2,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(3,2,6)

15

0.5

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,2,10)

15

05

0 1

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(3,2,14)

TVC sigma (RMS) (c,b,ch)=(3,2,3)

TVC sigma (RMS) (c,b,ch)=(3,2,7)

TVC sigma (RMS) (c,b,ch)=(3,2,11)

TVC sigma (RMS) (c,b,ch)=(3,2,15)




TVC sigma (RMS) (c,b,ch)=(3,3,0)

TVC sigma (RMS) (c,b,ch)=(3,3,4)

TVC sigma (RMS) (c,b,ch)=(3,3,8)

TVC sigma (RMS) (c,b,ch)=(3,3,12)

TVC sigma (RMS) (c,b,ch)=(3,3,1)

TVC sigma (RMS) (c,b,ch)=(3,3,5)

TVC sigma (RMS) (c,b,ch)=(3,3,9)

TVC sigma (RMS) (c,b,ch)=(3,3,13)

0.5

05

TVC sigma (RMS) (c,b,ch)=(3,3,2)

15

TVC sigma (RMS) (c,b,ch)=(3,3,6)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,3,10)

15

0.5

1
% 50 00

TVC sigma (RMS) (c,b,ch)=(3,3,14)

15

05

TVC sigma (RMS) (c,b,ch)=(3,3,3)

TVC sigma (RMS) (c,b,ch)=(3,3,7)

TVC sigma (RMS) (c,b,ch)=(3,3,11)

TVC sigma (RMS) (c,b,ch)=(3,3,15)




TVC sigma (RMS) (c,b,ch)=(3,4,0)

TVC sigma (RMS) (c,b,ch)=(3,4,4)

TVC sigma (RMS) (c,b,ch)=(3,4,8)

TVC sigma (RMS) (c,b,ch)=(3,4,12)

TVC sigma (RMS) (c,b,ch)=(3,4,1)

TVC sigma (RMS) (c,b,ch)=(3,4,5)

TVC sigma (RMS) (c,b,ch)=(3,4,9)

TVC sigma (RMS) (c,b,ch)=(3,4,13)

TVC sigma (RMS) (c,b,ch)=(3,4,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(3,4,6)

15

05

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,4,10)

15

0.5

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(3,4,14)

15

0.5

TVC sigma (RMS) (c,b,ch)=(3,4,3)

TVC sigma (RMS) (c,b,ch)=(3,4,7)

TVC sigma (RMS) (c,b,ch)=(3,4,11)

TVC sigma (RMS) (c,b,ch)=(3,4,15)




TVC sigma (RMS) (c,b,ch)=(3,5,0)

oF T

TVC sigma (RMS) (c,b,ch)=(3,5,4)

TVC sigma (RMS) (c,b,ch)=(3,5,8)

TVC sigma (RMS) (c,b,ch)=(3,5,12)

TVC sigma (RMS) (c,b,ch)=(3,5,1)

TVC sigma (RMS) (c,b,ch)=(3,5,5)

TVC sigma (RMS) (c,b,ch)=(3,5,9)

TVC sigma (RMS) (c,b,ch)=(3,5,13)

TVC sigma (RMS) (c,b,ch)=(3,5,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(3,5,6)

1
100

15

TVC sigma (RMS) (c,b,ch)=(3,5,10)

1
100

15

05

TVC sigma (RMS) (c,b,ch)=(3,5,14)

1
100

TVC sigma (RMS) (c,b,ch)=(3,5,3)

TVC sigma (RMS) (c,b,ch)=(3,5,7)

TVC sigma (RMS) (c,b,ch)=(3,5,11)

TVC sigma (RMS) (c,b,ch)=(3,5,15)




TVC sigma (RMS) (c,b,ch)=(3,6,0)

TVC sigma (RMS) (c,b,ch)=(3,6,4)

TVC sigma (RMS) (c,b,ch)=(3,6,8)

TVC sigma (RMS) (c,b,ch)=(3,6,12)

TVC sigma (RMS) (c,b,ch)=(3,6,1)

TVC sigma (RMS) (c,b,ch)=(3,6,5)

TVC sigma (RMS) (c,b,ch)=(3,6,9)

TVC sigma (RMS) (c,b,ch)=(3,6,13)

TVC sigma (RMS) (c,b,ch)=(3,6,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(3,6,6)

T T
o ]
1sf ]
P ]
osf —
0 EY 0
TVC sigma (RMS) (c,b,ch)=(3,6,10)
E T T =
SF ]
15 3
1 ]
osf —
% 5 00

TVC sigma (RMS) (c,b,ch)=(3,6,14)

TVC sigma (RMS) (c,b,ch)=(3,6,3)

TVC sigma (RMS) (c,b,ch)=(3,6,7)

TVC sigma (RMS) (c,b,ch)=(3,6,11)

TVC sigma (RMS) (c,b,ch)=(3,6,15)




TVC sigma (RMS) (c,b,ch)=(3,7,0)

TVC sigma (RMS) (c,b,ch)=(3,7,4)

TVC sigma (RMS) (c,b,ch)=(3,7,8)

TVC sigma (RMS) (c,b,ch)=(3,7,12)

TVC sigma (RMS) (c,b,ch)=(3,7,1)

TVC sigma (RMS) (c,b,ch)=(3,7,5)

TVC sigma (RMS) (c,b,ch)=(3,7,9)

TVC sigma (RMS) (c,b,ch)=(3,7,13)

TVC sigma (RMS) (c,b,ch)=(3,7,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(3,7,6)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,7,10)

15

05

0 1

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(3,7,14)

TVC sigma (RMS) (c,b,ch)=(3,7,3)

TVC sigma (RMS) (c,b,ch)=(3,7,7)

TVC sigma (RMS) (c,b,ch)=(3,7,11)

TVC sigma (RMS) (c,b,ch)=(3,7,15)




TVC sigma (RMS) (c,b,ch)=(3,8,0)

TVC sigma (RMS) (c,b,ch)=(3,8,4)

TVC sigma (RMS) (c,b,ch)=(3,8,8)

05

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(3,8,12)

TVC sigma (RMS) (c,b,ch)=(3,8,1)

TVC sigma (RMS) (c,b,ch)=(3,8,5)

TVC sigma (RMS) (c,b,ch)=(3,8,9)

TVC sigma (RMS) (c,b,ch)=(3,8,13)

TVC sigma (RMS) (c,b,ch)=(3,8,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(3,8,6)

15

05

15

0.5

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,8,10)

TVC sigma (RMS) (c,b,ch)=(3,8,14)

TVC sigma (RMS) (c,b,ch)=(3,8,3)

TVC sigma (RMS) (c,b,ch)=(3,8,7)

TVC sigma (RMS) (c,b,ch)=(3,8,11)

TVC sigma (RMS) (c,b,ch)=(3,8,15)




TVC sigma (RMS) (c,b,ch)=(3,9,0)

TVC sigma (RMS) (c,b,ch)=(3,9,4)

TVC sigma (RMS) (c,b,ch)=(3,9,8)

TVC sigma (RMS) (c,b,ch)=(3,9,12)

TVC sigma (RMS) (c,b,ch)=(3,9,1)

TVC sigma (RMS) (c,b,ch)=(3,9,5)

TVC sigma (RMS) (c,b,ch)=(3,9,9)

TVC sigma (RMS) (c,b,ch)=(3,9,13)

0.5

05

TVC sigma (RMS) (c,b,ch)=(3,9,2)

15

TVC sigma (RMS) (c,b,ch)=(3,9,6)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,9,10)

15

0.5

1 1
% 50 00

TVC sigma (RMS) (c,b,ch)=(3,9,14)

15

0.5

TVC sigma (RMS) (c,b,ch)=(3,9,3)

TVC sigma (RMS) (c,b,ch)=(3,9,7)

TVC sigma (RMS) (c,b,ch)=(3,9,11)

TVC sigma (RMS) (c,b,ch)=(3,9,15)




TVC sigma (RMS) (c,b,ch)=(3,10,0)

TVC sigma (RMS) (c,b,ch)=(3,10,4)

TVC sigma (RMS) (c,b,ch)=(3,10,8)

TVC sigma (RMS) (c,b,ch)=(3,10,12)

TVC sigma (RMS) (c,b,ch)=(3,10,1)
T T

TVC sigma (RMS) (c,b,ch)=(3,10,5)
T T

TVC sigma (RMS) (c,b,ch)=(3,10,9)

TVC sigma (RMS) (c,b,ch)=(3,10,13)

TVC sigma (RMS) (c,b,ch)=(3,10,2)

15

0.5

TVC sigma (RMS) (c,b,ch)=(3,10,6)

15

0.5

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,10,10)

15

0.5

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(3,10,14)

TVC sigma (RMS) (c,b,ch)=(3,10,3)

TVC sigma (RMS) (c,b,ch)=(3,10,7)
T T

TVC sigma (RMS) (c,b,ch)=(3,10,11)

TVC sigma (RMS) (c,b,ch)=(3,10,15)




TVC sigma (RMS) (c,b,ch)=(3,11,0)

TVC sigma (RMS) (c,b,ch)=(3,11,4)

TVC sigma (RMS) (c,b,ch)=(3,11,8)

TVC sigma (RMS) (c,b,ch)=(3,11,12)

TVC sigma (RMS) (c,b,ch)=(3,11,1)
T T

TVC sigma (RMS) (c,b,ch)=(3,11,5)
T T

TVC sigma (RMS) (c,b,ch)=(3,11,9)

TVC sigma (RMS) (c,b,ch)=(3,11,13)

15

0.5

15

05

0

15

05

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(3,11,2)

TVC sigma (RMS) (c,b,ch)=(3,11,6)
T T

TVC sigma (RMS) (c,b,ch)=(3,11,10)

TVC sigma (RMS) (c,b,ch)=(3,11,14)

TVC sigma (RMS) (c,b,ch)=(3,11,3)

TVC sigma (RMS) (c,b,ch)=(3,11,7)
T T

TVC sigma (RMS) (c,b,ch)=(3,11,11)

TVC sigma (RMS) (c,b,ch)=(3,11,15)




TVC sigma (RMS) (c,b,ch)=(4,0,0)

i

| 1
50 100

TVC sigma (RMS) (c,b,ch)=(4,0,4)

T T
2k .

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,0,8)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,0,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,0,1)

2F -

15 -1

TVC sigma (RMS) (c,b,ch)=(4,0,5)

T T
251 1

151 -1

TVC sigma (RMS) (c,b,ch)=(4,0,9)

W

TVC sigma (RMS) (c,b,ch)=(4,0,13)

TVC sigma (RMS) (c,b,ch)=(4,0,2)

TVC sigma (RMS) (c,b,ch)=(4,0,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,0,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,0,14)

AT

TVC sigma (RMS) (c,b,ch)=(4,0,3)

15 -

| 1
50 100

TVC sigma (RMS) (c,b,ch)=(4,0,7)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,0,11)

15F -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,0,15)




TVC sigma (RMS) (c,b,ch)=(4,1,0)

TVC sigma (RMS) (c,b,ch)=(4,1,4)

T T
2k .

TVC sigma (RMS) (c,b,ch)=(4,1,8)

15[ 4
i -
L
1 1
0 50 100
TVC sigma (RMS) (c,b,ch)=(4,1,12)
T T
2F -
15[ E
i -
L]
n n n n 1 n n n n 1 n
50 100

TVC sigma (RMS) (c,b,ch)=(4,1,1)

TVC sigma (RMS) (c,b,ch)=(4,1,5)

ok
15‘\Ajﬁr\l\/\ﬁ\
1 L=

TVC sigma (RMS) (c,b,ch)=(4,1,9)

TVC sigma (RMS) (c,b,ch)=(4,1,13)

TVC sigma (RMS) (c,b,ch)=(4,1,2)

TVC sigma (RMS) (c,b,ch)=(4,1,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,1,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,1,14)

TVC sigma (RMS) (c,b,ch)=(4,1,3)

TVC sigma (RMS) (c,b,ch)=(4,1,7)

2 T T

TVC sigma (RMS) (c,b,ch)=(4,1,11)

TVC sigma (RMS) (c,b,ch)=(4,1,15)




TVC sigma (RMS) (c,b,ch)=(4,2,0)

TVC sigma (RMS) (c,b,ch)=(4,2,4)

=T

TVC sigma (RMS) (c,b,ch)=(4,2,8)

o

50 100

TVC sigma (RMS) (c,b,ch)=(4,2,12)

TVC sigma (RMS) (c,b,ch)=(4,2,1)

TVC sigma (RMS) (c,b,ch)=(4,2,5)

15 =

TVC sigma (RMS) (c,b,ch)=(4,2,9)

TVC sigma (RMS) (c,b,ch)=(4,2,13)

TVC sigma (RMS) (c,b,ch)=(4,2,2)

LI R R S S S B B
A N

TVC sigma (RMS) (c,b,ch)=(4,2,6)

15

i

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,2,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,2,14)

15

L

TVC sigma (RMS) (c,b,ch)=(4,2,3)

TVC sigma (RMS) (c,b,ch)=(4,2,7)

15 -

50 100

TVC sigma (RMS) (c,b,ch)=(4,2,11)

15 1

TVC sigma (RMS) (c,b,ch)=(4,2,15)

2k ]

15(\’Md

A L]
L




TVC sigma (RMS) (c,b,ch)=(4,3,0)

-

2k .
15 1
L

|

TVC sigma (RMS) (c,b,ch)=(4,3,4)

H
T
1

TVC sigma (RMS) (c,b,ch)=(4,3,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(4,3,12)

TVC sigma (RMS) (c,b,ch)=(4,3,1)

15

TVC sigma (RMS) (c,b,ch)=(4,3,5)

15

TVC sigma (RMS) (c,b,ch)=(4,3,9)

TVC sigma (RMS) (c,b,ch)=(4,3,13)

TVC sigma (RMS) (c,b,ch)=(4,3,2)

15

TVC sigma (RMS) (c,b,ch)=(4,3,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,3,10)

oo

1
100

o
ol
oS

TVC sigma (RMS) (c,b,ch)=(4,3,14)

15

TVC sigma (RMS) (c,b,ch)=(4,3,3)

TVC sigma (RMS) (c,b,ch)=(4,3,7)

15 -1

50 100

TVC sigma (RMS) (c,b,ch)=(4,3,11)

15F -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,3,15)

15 -1




TVC sigma (RMS) (c,b,ch)=(4,4,0)

,_‘
T
1

TVC sigma (RMS) (c,b,ch)=(4,4,4)

,_‘
T
1

TVC sigma (RMS) (c,b,ch)=(4,4,8)

TVC sigma (RMS) (c,b,ch)=(4,4,12)

TVC sigma (RMS) (c,b,ch)=(4,4,1)

151 N

TVC sigma (RMS) (c,b,ch)=(4,4,5)

TVC sigma (RMS) (c,b,ch)=(4,4,9)

TVC sigma (RMS) (c,b,ch)=(4,4,13)

TVC sigma (RMS) (c,b,ch)=(4,4,2)

TVC sigma (RMS) (c,b,ch)=(4,4,6)

15

I T

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,4,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,4,14)

TVC sigma (RMS) (c,b,ch)=(4,4,3)

TVC sigma (RMS) (c,b,ch)=(4,4,7)

TVC sigma (RMS) (c,b,ch)=(4,4,11)

TVC sigma (RMS) (c,b,ch)=(4,4,15)

15 T

0




TVC sigma (RMS) (c,b,ch)=(4,5,0)

,_‘
T
1

TVC sigma (RMS) (c,b,ch)=(4,5,4)

TVC sigma (RMS) (c,b,ch)=(4,5,8)

T
|

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(4,5,12)

TVC sigma (RMS) (c,b,ch)=(4,5,1)

TVC sigma (RMS) (c,b,ch)=(4,5,5)

TVC sigma (RMS) (c,b,ch)=(4,5,9)

TVC sigma (RMS) (c,b,ch)=(4,5,13)

15 =1

TVC sigma (RMS) (c,b,ch)=(4,5,2)

1 L B B e e R B
A

TVC sigma (RMS) (c,b,ch)=(4,5,6)

= T

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,5,10)

15

L LI B B B B B B
N I

1
100

o
ol
oS

TVC sigma (RMS) (c,b,ch)=(4,5,14)

15

L5

TVC sigma (RMS) (c,b,ch)=(4,5,3)

TVC sigma (RMS) (c,b,ch)=(4,5,7)

TVC sigma (RMS) (c,b,ch)=(4,5,11)

15F -1

TVC sigma (RMS) (c,b,ch)=(4,5,15)

.k ]

15r}\”|§|_'[

1] -
L




TVC sigma (RMS) (c,b,ch)=(4,6,0)

TVC sigma (RMS) (c,b,ch)=(4,6,4)

50 100

TVC sigma (RMS) (c,b,ch)=(4,6,8)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,6,12)

TVC sigma (RMS) (c,b,ch)=(4,6,1)

TVC sigma (RMS) (c,b,ch)=(4,6,5)

TVC sigma (RMS) (c,b,ch)=(4,6,9)

TVC sigma (RMS) (c,b,ch)=(4,6,13)

2F -
1]

=T}

TVC sigma (RMS) (c,b,ch)=(4,6,2)

15

0.5

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,6,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,6,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,6,14)

15

P

TVC sigma (RMS) (c,b,ch)=(4,6,3)

TVC sigma (RMS) (c,b,ch)=(4,6,7)

15 N

TVC sigma (RMS) (c,b,ch)=(4,6,11)

15 -1

TVC sigma (RMS) (c,b,ch)=(4,6,15)

15F 1




TVC sigma (RMS) (c,b,ch)=(4,7,0)

TVC sigma (RMS) (c,b,ch)=(4,7,4)

TVC sigma (RMS) (c,b,ch)=(4,7,8)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,7,12)

TVC sigma (RMS) (c,b,ch)=(4,7,1)

TVC sigma (RMS) (c,b,ch)=(4,7,5)

b

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,7,9)

TVC sigma (RMS) (c,b,ch)=(4,7,13)

15

N

TVC sigma (RMS) (c,b,ch)=(4,7,2)

15

TVC sigma (RMS) (c,b,ch)=(4,7,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,7,10)

N
—rT T T

15

A BT

1
100

o
ol
oS

TVC sigma (RMS) (c,b,ch)=(4,7,14)

TVC sigma (RMS) (c,b,ch)=(4,7,3)

TVC sigma (RMS) (c,b,ch)=(4,7,7)

TVC sigma (RMS) (c,b,ch)=(4,7,11)

15 -1

TVC sigma (RMS) (c,b,ch)=(4,7,15)

15F 1

T




TVC sigma (RMS) (c,b,ch)=(4,8,0)

TVC sigma (RMS) (c,b,ch)=(4,8,4)

TVC sigma (RMS) (c,b,ch)=(4,8,8)

,_\
T
1

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(4,8,12)

TVC sigma (RMS) (c,b,ch)=(4,8,1)

15

TVC sigma (RMS) (c,b,ch)=(4,8,5)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,8,13)

15

TVC sigma (RMS) (c,b,ch)=(4,8,2)

A B

TVC sigma (RMS) (c,b,ch)=(4,8,6)

2
L L s e e e e

A N N

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,8,10)

N
—rTT

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,8,14)

LT

TVC sigma (RMS) (c,b,ch)=(4,8,3)

TVC sigma (RMS) (c,b,ch)=(4,8,7)

TVC sigma (RMS) (c,b,ch)=(4,8,11)

Sk 4
15KP|“(Pr
i L

TVC sigma (RMS) (c,b,ch)=(4,8,15)




TVC sigma (RMS) (c,b,ch)=(4,9,0)

-
T

TVC sigma (RMS) (c,b,ch)=(4,9,4)

1
100

TVC sigma (RMS) (c,b,ch)=(4,9,8)

o
ol
o

TVC sigma (RMS) (c,b,ch)=(4,9,12)

100

TVC sigma (RMS) (c,b,ch)=(4,9,1)

TVC sigma (RMS) (c,b,ch)=(4,9,5)

1
100

15

TVC sigma (RMS) (c,b,ch)=(4,9,9)

100

TVC sigma (RMS) (c,b,ch)=(4,9,13)

100

TVC sigma (RMS) (c,b,ch)=(4,9,2)

15

e T T T

1
100

TVC sigma (RMS) (c,b,ch)=(4,9,6)

15

N N

TVC sigma (RMS) (c,b,ch)=(4,9,10)

1
100

TVC sigma (RMS) (c,b,ch)=(4,9,14)

1
100

TVC sigma (RMS) (c,b,ch)=(4,9,3)

15

1
100

TVC sigma (RMS) (c,b,ch)=(4,9,7)

15

100

TVC sigma (RMS) (c,b,ch)=(4,9,11)

TVC sigma (RMS) (c,b,ch)=(4,9,15)




TVC sigma (RMS) (c,b,ch)=(4,10,0)

-
T

TVC sigma (RMS) (c,b,ch)=(4,10,4)

-
T

TVC sigma (RMS) (c,b,ch)=(4,10,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(4,10,12)

TVC sigma (RMS) (c,b,ch)=(4,10,1)

15

TVC sigma (RMS) (c,b,ch)=(4,10,5)

15[

TVC sigma (RMS) (c,b,ch)=(4,10,9)

TVC sigma (RMS) (c,b,ch)=(4,10,13)

15

TVC sigma (RMS) (c,b,ch)=(4,10,2)

TVC sigma (RMS) (c,b,ch)=(4,10,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,10,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,10,14)

TVC sigma (RMS) (c,b,ch)=(4,10,3)

TVC sigma (RMS) (c,b,ch)=(4,10,7)
T T

TVC sigma (RMS) (c,b,ch)=(4,10,11)

TVC sigma (RMS) (c,b,ch)=(4,10,15)




TVC sigma (RMS) (c,b,ch)=(4,11,0)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,11,4)

TVC sigma (RMS) (c,b,ch)=(4,11,8)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,11,12)

TVC sigma (RMS) (c,b,ch)=(4,11,1)

TVC sigma (RMS) (c,b,ch)=(4,11,5)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,11,9)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,11,13)

TVC sigma (RMS) (c,b,ch)=(4,11,2)

TVC sigma (RMS) (c,b,ch)=(4,11,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,11,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,11,14)

o
—r T T T T T T

1
50 100

15

15

TVC sigma (RMS) (c,b,ch)=(4,11,3)

TVC sigma (RMS) (c,b,ch)=(4,11,7)
T T

TVC sigma (RMS) (c,b,ch)=(4,11,11)

TVC sigma (RMS) (c,b,ch)=(4,11,15)




TVC sigma (RMS) (c,b,ch)=(4,12,0)

TVC sigma (RMS) (c,b,ch)=(4,12,4)

1
100

-
T

TVC sigma (RMS) (c,b,ch)=(4,12,8)

100

o
ol
o

TVC sigma (RMS) (c,b,ch)=(4,12,12)

100

TVC sigma (RMS) (c,b,ch)=(4,12,1)

15

TVC sigma (RMS) (c,b,ch)=(4,12,5)

1
100

15

TVC sigma (RMS) (c,b,ch)=(4,12,9)

100

TVC sigma (RMS) (c,b,ch)=(4,12,13)

100

TVC sigma (RMS) (c,b,ch)=(4,12,2)

TVC sigma (RMS) (c,b,ch)=(4,12,6)

1
100

TVC sigma (RMS) (c,b,ch)=(4,12,14)

15

TVC sigma (RMS) (c,b,ch)=(4,12,3)

TVC sigma (RMS) (c,b,ch)=(4,12,7)

100

TVC sigma (RMS) (c,b,ch)=(4,12,11)

TVC sigma (RMS) (c,b,ch)=(4,12,15)

100




TVC sigma (RMS) (c,b,ch)=(4,13,0)

TVC sigma (RMS) (c,b,ch)=(4,13,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,13,8)

,_‘
T

o

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,13,12)

TVC sigma (RMS) (c,b,ch)=(4,13,1)

TVC sigma (RMS) (c,b,ch)=(4,13,5)

TVC sigma (RMS) (c,b,ch)=(4,13,9)

15 -1

TVC sigma (RMS) (c,b,ch)=(4,13,13)

TVC sigma (RMS) (c,b,ch)=(4,13,2)

TVC sigma (RMS) (c,b,ch)=(4,13,6)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,13,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,13,14)

TVC sigma (RMS) (c,b,ch)=(4,13,3)
T T

15 -1

TVC sigma (RMS) (c,b,ch)=(4,13,7)

ok i
ls(fﬁ

TVC sigma (RMS) (c,b,ch)=(4,13,11)

TVC sigma (RMS) (c,b,ch)=(4,13,15)




TVC sigma (RMS) (c,b,ch)=(4,14,0)

o

TVC sigma (RMS) (c,b,ch)=(4,14,4)

25 T T =

TVC sigma (RMS) (c,b,ch)=(4,14,8)

15[ —
1+ 4
LI
1 1
0 50 100
TVC sigma (RMS) (c,b,ch)=(4,14,12)
T T
N 4
15[ -
W+ 4
n n n n 1 n n n n 1 n ]
50 100

TVC sigma (RMS) (c,b,ch)=(4,14,1)

TVC sigma (RMS) (c,b,ch)=(4,14,5)

15

TVC sigma (RMS) (c,b,ch)=(4,14,9)

Fulll

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,14,13)

TVC sigma (RMS) (c,b,ch)=(4,14,2)

TVC sigma (RMS) (c,b,ch)=(4,14,6)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,14,14)

TVC sigma (RMS) (c,b,ch)=(4,14,3)
T T

TVC sigma (RMS) (c,b,ch)=(4,14,7)
T T

15 1

TVC sigma (RMS) (c,b,ch)=(4,14,11)

TVC sigma (RMS) (c,b,ch)=(4,14,15)




2

TVC sigma (RMS) (c,b,ch)=(4,15,0)

TVC sigma (RMS) (c,b,ch)=(4,15,4)

50 100

TVC sigma (RMS) (c,b,ch)=(4,15,8)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,15,12)

i

TVC sigma (RMS) (c,b,ch)=(4,15,1)

TVC sigma (RMS) (c,b,ch)=(4,15,5)

TVC sigma (RMS) (c,b,ch)=(4,15,9)

TVC sigma (RMS) (c,b,ch)=(4,15,13)

TVC sigma (RMS) (c,b,ch)=(4,15,2)

TVC sigma (RMS) (c,b,ch)=(4,15,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,15,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,15,14)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,15,3)

TVC sigma (RMS) (c,b,ch)=(4,15,7)

15

TVC sigma (RMS) (c,b,ch)=(4,15,11)

15[

TVC sigma (RMS) (c,b,ch)=(4,15,15)

15F




TVC sigma (RMS) (c,b,ch)=(5,0,0)

T T
2 .

"

TVC sigma (RMS) (c,b,ch)=(5,0,4)

A i
s I“\'/\'Vf |

-

TVC sigma (RMS) (c,b,ch)=(5,0,8)

15[ —
= 4
L
1 1
0 50 100
TVC sigma (RMS) (c,b,ch)=(5,0,12)
T T
AN 4
15[ -
= 4
iy
n n n n 1 n n n n 1 n
50 100

TVC sigma (RMS) (c,b,ch)=(5,0,1)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,0,5)

3

25

15

TVC sigma (RMS) (c,b,ch)=(5,0,9)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,0,13)

2F T T

TVC sigma (RMS) (c,b,ch)=(5,0,2)

TVC sigma (RMS) (c,b,ch)=(5,0,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,0,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(5,0,14)

TVC sigma (RMS) (c,b,ch)=(5,0,3)

TVC sigma (RMS) (c,b,ch)=(5,0,7)

15 1

TVC sigma (RMS) (c,b,ch)=(5,0,11)

TVC sigma (RMS) (c,b,ch)=(5,0,15)




TVC sigma (RMS) (c,b,ch)=(5,1,0)

rfl 1 1

TVC sigma (RMS) (c,b,ch)=(5,1,4)

i

100

TVC sigma (RMS) (c,b,ch)=(5,1,8)

o
ol
o
ol
o
3

TVC sigma (RMS) (c,b,ch)=(5,1,12)

TVC sigma (RMS) (c,b,ch)=(5,1,1)

15

1
100

TVC sigma (RMS) (c,b,ch)=(5,1,5)

TVC sigma (RMS) (c,b,ch)=(5,1,9)

15

1
100

TVC sigma (RMS) (c,b,ch)=(5,1,13)

TVC sigma (RMS) (c,b,ch)=(5,1,2)

1
100

TVC sigma (RMS) (c,b,ch)=(5,1,10)

TVC sigma (RMS) (c,b,ch)=(5,1,3)

15

1
100

TVC sigma (RMS) (c,b,ch)=(5,1,7)

TVC sigma (RMS) (c,b,ch)=(5,1,11)

1
100

TVC sigma (RMS) (c,b,ch)=(5,1,14)

15F

b

TVC sigma (RMS) (c,b,ch)=(5,1,15)

100




TVC sigma (RMS) (c,b,ch)=(5,2,0)

TVC sigma (RMS) (c,b,ch)=(5,2,4)

T T
2

s

TVC sigma (RMS) (c,b,ch)=(5,2,8)

o
ol
o
ol
o
3

TVC sigma (RMS) (c,b,ch)=(5,2,12)

TVC sigma (RMS) (c,b,ch)=(5,2,1)

T T
2k -

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,2,5)

TVC sigma (RMS) (c,b,ch)=(5,2,9)

15 -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,2,13)

TVC sigma (RMS) (c,b,ch)=(5,2,2)

TVC sigma (RMS) (c,b,ch)=(5,2,6)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(5,2,14)

TVC sigma (RMS) (c,b,ch)=(5,2,3)

N ]
15\F/Afrj\/ i
i ¥

TVC sigma (RMS) (c,b,ch)=(5,2,7)
T T
s ]

15F -

TVC sigma (RMS) (c,b,ch)=(5,2,11)

15pF -1

TVC sigma (RMS) (c,b,ch)=(5,2,15)




TVC sigma (RMS) (c,b,ch)=(5,3,0)

A

-

o .
15j\r\M |
|

TVC sigma (RMS) (c,b,ch)=(5,3,4)

2

TVC sigma (RMS) (c,b,ch)=(5,3,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(5,3,12)

TVC sigma (RMS) (c,b,ch)=(5,3,1)

2F T T =

15 -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,3,5)

TVC sigma (RMS) (c,b,ch)=(5,3,9)

T T
2k -

1h

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,3,13)

TVC sigma (RMS) (c,b,ch)=(5,3,2)

15

'I||I||||I||||I|

TVC sigma (RMS) (c,b,ch)=(5,3,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,3,10)

15

P T

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(5,3,14)

TVC sigma (RMS) (c,b,ch)=(5,3,3)

3F T T 3

25

15

TVC sigma (RMS) (c,b,ch)=(5,3,7)

50 100

TVC sigma (RMS) (c,b,ch)=(5,3,11)
T T
2k 4

15pF -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,3,15)

15 -1




TVC sigma (RMS) (c,b,ch)=(5,4,0)

TVC sigma (RMS) (c,b,ch)=(5,4,4)

T T
2

TVC sigma (RMS) (c,b,ch)=(5,4,8)

-

o
ol
o
ol
o
3

TVC sigma (RMS) (c,b,ch)=(5,4,12)

TVC sigma (RMS) (c,b,ch)=(5,4,1)

T T
2k

15

TVC sigma (RMS) (c,b,ch)=(5,4,5)

L
mf/ﬂv/ﬂ)w

TVC sigma (RMS) (c,b,ch)=(5,4,9)

TVC sigma (RMS) (c,b,ch)=(5,4,13)

TVC sigma (RMS) (c,b,ch)=(5,4,2)

1 .

TVC sigma (RMS) (c,b,ch)=(5,4,6)

15

o

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,4,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(5,4,14)

~
—rTT

15

F N

TVC sigma (RMS) (c,b,ch)=(5,4,3)

15 -1

TVC sigma (RMS) (c,b,ch)=(5,4,7)

15F -

TVC sigma (RMS) (c,b,ch)=(5,4,11)

15 -

TVC sigma (RMS) (c,b,ch)=(5,4,15)

15 1




TVC sigma (RMS) (c,b,ch)=(5,5,0)

,_‘
T
1

TVC sigma (RMS) (c,b,ch)=(5,5,4)

,_‘
T
1

TVC sigma (RMS) (c,b,ch)=(5,5,8)

,_\
!
1

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(5,5,12)

TVC sigma (RMS) (c,b,ch)=(5,5,1)

15 =1

TVC sigma (RMS) (c,b,ch)=(5,5,5)

1h

TVC sigma (RMS) (c,b,ch)=(5,5,9)

TVC sigma (RMS) (c,b,ch)=(5,5,13)

15 -

TVC sigma (RMS) (c,b,ch)=(5,5,2)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,5,10)

15

A

1
100

0 50

TVC sigma (RMS) (c,b,ch)=(5,5,14)

15

LI

TVC sigma (RMS) (c,b,ch)=(5,5,3)

TVC sigma (RMS) (c,b,ch)=(5,5,7)

15F -

TVC sigma (RMS) (c,b,ch)=(5,5,11)

TVC sigma (RMS) (c,b,ch)=(5,5,15)

15F -1




TVC sigma (RMS) (c,b,ch)=(5,6,0)

2

=] .

TVC sigma (RMS) (c,b,ch)=(5,6,4)

,_‘
T
1

TVC sigma (RMS) (c,b,ch)=(5,6,1)

oF ]

15 B

i L
1

TVC sigma (RMS) (c,b,ch)=(5,6,5)

2

15

TVC sigma (RMS) (c,b,ch)=(5,6,2)

2

TVC sigma (RMS) (c,b,ch)=(5,6,6)

TVC sigma (RMS) (c,b,ch)=(5,6,3)

L i
15JV/JI/¢“\¢I\
1

1

TVC sigma (RMS) (c,b,ch)=(5,6,7)

O

100

TVC sigma (RMS) (c,b,ch)=(5,6,8)

1
100

TVC sigma (RMS) (c,b,ch)=(5,6,9)

TVC sigma (RMS) (c,b,ch)=(5,6,10)

TVC sigma (RMS) (c,b,ch)=(5,6,11)

-

o
ol
o

TVC sigma (RMS) (c,b,ch)=(5,6,12)

TVC sigma (RMS) (c,b,ch)=(5,6,13)

1
10

0

TVC sigma (RMS) (c,b,ch)=(5,6,14)

AT

T
2k

15

100

TVC sigma (RMS) (c,b,ch)=(5,6,15)

15




TVC sigma (RMS) (c,b,ch)=(5,7,0)

|
50

1
100

TVC sigma (RMS) (c,b,ch)=(5,7,4)

1
100

TVC sigma (RMS) (c,b,ch)=(5,7,8)

i

1
100

TVC sigma (RMS) (c,b,ch)=(5,7,12)

TVC sigma (RMS) (c,b,ch)=(5,7,1)

15

TVC sigma (RMS) (c,b,ch)=(5,7,5)

1
100

TVC sigma (RMS) (c,b,ch)=(5,7,9)

100

TVC sigma (RMS) (c,b,ch)=(5,7,13)

4F

TVC sigma (RMS) (c,b,ch)=(5,7,2)

TVC sigma (RMS) (c,b,ch)=(5,7,6)

15

1
100

TVC sigma (RMS) (c,b,ch)=(5,7,10)

1
100

TVC sigma (RMS) (c,b,ch)=(5,7,14)

w
L e e e S B

TVC sigma (RMS) (c,b,ch)=(5,7,3)

|
50

1
100

TVC sigma (RMS) (c,b,ch)=(5,7,7)

15

1
100

TVC sigma (RMS) (c,b,ch)=(5,7,11)

15

1
100

TVC sigma (RMS) (c,b,ch)=(5,7,15)




TVC sigma (RMS) (c,b,ch)=(5,8,0)

"
" & ~
2

TVC sigma (RMS) (c,b,ch)=(5,8,4)

T
2

,_‘

10

o
ol
o

TVC sigma (RMS) (c,b,ch)=(5,8,12)

TVC sigma (RMS) (c,b,ch)=(5,8,1)

TVC sigma (RMS) (c,b,ch)=(5,8,5)

1
100

TVC sigma (RMS) (c,b,ch)=(5,8,9)

2k

15

TVC sigma (RMS) (c,b,ch)=(5,8,13)

100

T
2k

TVC sigma (RMS) (c,b,ch)=(5,8,2)

TVC sigma (RMS) (c,b,ch)=(5,8,6)

1
100

TVC sigma (RMS) (c,b,ch)=(5,8,10)

-
2
— T T T T T T T

e T

1
100

TVC sigma (RMS) (c,b,ch)=(5,8,14)

TVC sigma (RMS) (c,b,ch)=(5,8,3)

TVC sigma (RMS) (c,b,ch)=(5,8,7)

2k

100

TVC sigma (RMS) (c,b,ch)=(5,8,11)

100

TVC sigma (RMS) (c,b,ch)=(5,8,15)




TVC sigma (RMS) (c,b,ch)=(5,9,0)

T
2

1
100

TVC sigma (RMS) (c,b,ch)=(5,9,4)

oF
15(\(/\{—r\/
1

TVC sigma (RMS) (c,b,ch)=(5,9,8)

T
2k

o
ol
o

TVC sigma (RMS) (c,b,ch)=(5,9,12)

100

=T}

TVC sigma (RMS) (c,b,ch)=(5,9,1)

T
2k

15

Y

1
100

TVC sigma (RMS) (c,b,ch)=(5,9,5)

2

15

TVC sigma (RMS) (c,b,ch)=(5,9,9)

T
2k

15

100

TVC sigma (RMS) (c,b,ch)=(5,9,13)

T
2k

TVC sigma (RMS) (c,b,ch)=(5,9,2)

2F T

TVC sigma (RMS) (c,b,ch)=(5,9,6)

TVC sigma (RMS) (c,b,ch)=(5,9,10)

1
100

TVC sigma (RMS) (c,b,ch)=(5,9,14)

1
100

TVC sigma (RMS) (c,b,ch)=(5,9,3)

15F

TVC sigma (RMS) (c,b,ch)=(5,9,7)

1
100

T
2k

15F

TVC sigma (RMS) (c,b,ch)=(5,9,11)

100

15

TVC sigma (RMS) (c,b,ch)=(5,9,15)

100

15[




TVC sigma (RMS) (c,b,ch)=(5,10,0)

Ly

TVC sigma (RMS) (c,b,ch)=(5,10,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,10,8)

25 T T ]

TVC sigma (RMS) (c,b,ch)=(5,10,12)

TVC sigma (RMS) (c,b,ch)=(5,10,1)

TVC sigma (RMS) (c,b,ch)=(5,10,5)

TVC sigma (RMS) (c,b,ch)=(5,10,9)

TVC sigma (RMS) (c,b,ch)=(5,10,13)

TVC sigma (RMS) (c,b,ch)=(5,10,2)

TVC sigma (RMS) (c,b,ch)=(5,10,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,10,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(5,10,14)

TVC sigma (RMS) (c,b,ch)=(5,10,3)

TVC sigma (RMS) (c,b,ch)=(5,10,7)
T T

15 -1

TVC sigma (RMS) (c,b,ch)=(5,10,11)

TVC sigma (RMS) (c,b,ch)=(5,10,15)

15 -1




TVC sigma (RMS) (c,b,ch)=(5,11,0)

TVC sigma (RMS) (c,b,ch)=(5,11,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(5,11,12)

TVC sigma (RMS) (c,b,ch)=(5,11,1)

TVC sigma (RMS) (c,b,ch)=(5,11,5)

15

TVC sigma (RMS) (c,b,ch)=(5,11,9)

TVC sigma (RMS) (c,b,ch)=(5,11,13)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(5,11,2)

TVC sigma (RMS) (c,b,ch)=(5,11,6)
T T

TVC sigma (RMS) (c,b,ch)=(5,11,10)

TVC sigma (RMS) (c,b,ch)=(5,11,14)

TVC sigma (RMS) (c,b,ch)=(5,11,3)

15

TVC sigma (RMS) (c,b,ch)=(5,11,7)

15F

TVC sigma (RMS) (c,b,ch)=(5,11,11)

15

TVC sigma (RMS) (c,b,ch)=(5,11,15)




TVC sigma (RMS) (c,b,ch)=(5,12,0)
T T

| 1
50 100

TVC sigma (RMS) (c,b,ch)=(5,12,4)
T T

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,12,8)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(5,12,12)

TVC sigma (RMS) (c,b,ch)=(5,12,1)

TVC sigma (RMS) (c,b,ch)=(5,12,5)

TVC sigma (RMS) (c,b,ch)=(5,12,9)

15

TVC sigma (RMS) (c,b,ch)=(5,12,13)

TVC sigma (RMS) (c,b,ch)=(5,12,2)

J':

TVC sigma (RMS) (c,b,ch)=(5,12,6)

TVC sigma (RMS) (c,b,ch)=(5,12,10)

TVC sigma (RMS) (c,b,ch)=(5,12,14)

TVC sigma (RMS) (c,b,ch)=(5,12,3)

15F

TVC sigma (RMS) (c,b,ch)=(5,12,7)

TVC sigma (RMS) (c,b,ch)=(5,12,11)

15

TVC sigma (RMS) (c,b,ch)=(5,12,15)

15




TVC sigma (RMS) (c,b,ch)=(5,13,0)

TVC sigma (RMS) (c,b,ch)=(5,13,4)

TVC sigma (RMS) (c,b,ch)=(5,13,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(5,13,12)

TVC sigma (RMS) (c,b,ch)=(5,13,1)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,13,5)

TVC sigma (RMS) (c,b,ch)=(5,13,9)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,13,13)

TVC sigma (RMS) (c,b,ch)=(5,13,2)

TVC sigma (RMS) (c,b,ch)=(5,13,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,13,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(5,13,14)

3k m

TVC sigma (RMS) (c,b,ch)=(5,13,3)

TVC sigma (RMS) (c,b,ch)=(5,13,7)

15 -1
1]
1 1 I
50 100
TVC sigma (RMS) (c,b,ch)=(5,13,11)
T T
L i
15F -

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,13,15)




TVC sigma (RMS) (c,b,ch)=(5,14,0)

Il
N 2 nN
1

ol

TVC sigma (RMS) (c,b,ch)=(5,14,4)

TVC sigma (RMS) (c,b,ch)=(5,14,8)

o
ol
o

TVC sigma (RMS) (c,b,ch)=(5,14,12)

100

TVC sigma (RMS) (c,b,ch)=(5,14,1)

15

1
100

TVC sigma (RMS) (c,b,ch)=(5,14,5)

1
100

TVC sigma (RMS) (c,b,ch)=(5,14,9)

TVC sigma (RMS) (c,b,ch)=(5,14,13)

TVC sigma (RMS) (c,b,ch)=(5,14,2)

TVC sigma (RMS) (c,b,ch)=(5,14,6)

1
100

TVC sigma (RMS) (c,b,ch)=(5,14,10)

1
100

TVC sigma (RMS) (c,b,ch)=(5,14,14)

TVC sigma (RMS) (c,b,ch)=(5,14,3)

15

TVC sigma (RMS) (c,b,ch)=(5,14,7)

1
100

15F

f

TVC sigma (RMS) (c,b,ch)=(5,14,11)

100

15

fa

TVC sigma (RMS) (c,b,ch)=(5,14,15)

100




TVC sigma (RMS) (c,b,ch)=(5,15,0)

TVC sigma (RMS) (c,b,ch)=(5,15,4)

TVC sigma (RMS) (c,b,ch)=(5,15,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(5,15,12)

TVC sigma (RMS) (c,b,ch)=(5,15,1)

TVC sigma (RMS) (c,b,ch)=(5,15,5)

TVC sigma (RMS) (c,b,ch)=(5,15,9)

TVC sigma (RMS) (c,b,ch)=(5,15,13)

TVC sigma (RMS) (c,b,ch)=(5,15,2)

TVC sigma (RMS) (c,b,ch)=(5,15,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,15,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(5,15,14)

N

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,15,3)

15F

TVC sigma (RMS) (c,b,ch)=(5,15,7)

15F

LT

TVC sigma (RMS) (c,b,ch)=(5,15,11)

15

TVC sigma (RMS) (c,b,ch)=(5,15,15)




TVC sigma (RMS) (c,b,ch)=(6,0,0)

2

5

2

-

TVC sigma (RMS) (c,b,ch)=(6,0,8)

TVC sigma (RMS) (c,b,ch)=(6,0,12)

T
ok

TVC sigma (RMS) (c,b,ch)=(6,0,1)

T
2k

15

TVC sigma (RMS) (c,b,ch)=(6,0,5)

1
100

TVC sigma (RMS) (c,b,ch)=(6,0,9)

TVC sigma (RMS) (c,b,ch)=(6,0,13)

100

TVC sigma (RMS) (c,b,ch)=(6,0,2)

TVC sigma (RMS) (c,b,ch)=(6,0,6)

1
100

TVC sigma (RMS) (c,b,ch)=(6,0,10)

£

1
100

TVC sigma (RMS) (c,b,ch)=(6,0,14)

TVC sigma (RMS) (c,b,ch)=(6,0,3)

TVC sigma (RMS) (c,b,ch)=(6,0,7)

2k 4
15% ]
i 4

TVC sigma (RMS) (c,b,ch)=(6,0,11)

100

TVC sigma (RMS) (c,b,ch)=(6,0,15)




TVC sigma (RMS) (c,b,ch)=(6,1,0)

TVC sigma (RMS) (c,b,ch)=(6,1,4)

2 T T =

4

50 100

TVC sigma (RMS) (c,b,ch)=(6,1,8)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(6,1,12)

TVC sigma (RMS) (c,b,ch)=(6,1,1)

TVC sigma (RMS) (c,b,ch)=(6,1,5)

T T
2k -

TVC sigma (RMS) (c,b,ch)=(6,1,9)

T T
2k -

15 -1

TVC sigma (RMS) (c,b,ch)=(6,1,13)

TVC sigma (RMS) (c,b,ch)=(6,1,2)

TVC sigma (RMS) (c,b,ch)=(6,1,6)

15

| I T

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,1,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(6,1,14)

TVC sigma (RMS) (c,b,ch)=(6,1,3)

TVC sigma (RMS) (c,b,ch)=(6,1,7)

TVC sigma (RMS) (c,b,ch)=(6,1,11)

TVC sigma (RMS) (c,b,ch)=(6,1,15)

T T
2k .




TVC sigma (RMS) (c,b,ch)=(6,2,0)

TVC sigma (RMS) (c,b,ch)=(6,2,4)

,_‘
T
1

TVC sigma (RMS) (c,b,ch)=(6,2,8)

T T
N 4
15 E
- 4
L
1 1
0 50 100
TVC sigma (RMS) (c,b,ch)=(6,2,12)
T T
ok 4
15[ -
= 4
L
n n n n 1 n n n n 1 n
50 100

TVC sigma (RMS) (c,b,ch)=(6,2,1)

TVC sigma (RMS) (c,b,ch)=(6,2,5)

T T
2k -

15 -1

TVC sigma (RMS) (c,b,ch)=(6,2,9)

TVC sigma (RMS) (c,b,ch)=(6,2,13)

151 -

TVC sigma (RMS) (c,b,ch)=(6,2,2)

TVC sigma (RMS) (c,b,ch)=(6,2,6)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,2,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(6,2,14)

15

A T

TVC sigma (RMS) (c,b,ch)=(6,2,3)

TVC sigma (RMS) (c,b,ch)=(6,2,7)

.l i
HM
i L

TVC sigma (RMS) (c,b,ch)=(6,2,11)

15F -1

TVC sigma (RMS) (c,b,ch)=(6,2,15)




TVC sigma (RMS) (c,b,ch)=(6,3,0)

el
N 2 N
%\
1 1 1

TVC sigma (RMS) (c,b,ch)=(6,3,4)

TVC sigma (RMS) (c,b,ch)=(6,3,8)

100

o
ol
o

TVC sigma (RMS) (c,b,ch)=(6,3,12)

TVC sigma (RMS) (c,b,ch)=(6,3,1)

151

TVC sigma (RMS) (c,b,ch)=(6,3,5)

ok
15f
1 1A

TVC sigma (RMS) (c,b,ch)=(6,3,2)

TVC sigma (RMS) (c,b,ch)=(6,3,6)

15

F I

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,3,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(6,3,14)

TVC sigma (RMS) (c,b,ch)=(6,3,3)

15k -

TVC sigma (RMS) (c,b,ch)=(6,3,7)

15 -1

TVC sigma (RMS) (c,b,ch)=(6,3,11)

10

TVC sigma (RMS) (c,b,ch)=(6,3,15)




TVC sigma (RMS) (c,b,ch)=(6,4,0)

TVC sigma (RMS) (c,b,ch)=(6,4,4)

1
100

T
2

-
T

TVC sigma (RMS) (c,b,ch)=(6,4,8)

100

o
ol
o

TVC sigma (RMS) (c,b,ch)=(6,4,12)

100

TVC sigma (RMS) (c,b,ch)=(6,4,1)

TVC sigma (RMS) (c,b,ch)=(6,4,5)

15

TVC sigma (RMS) (c,b,ch)=(6,4,9)

100

TVC sigma (RMS) (c,b,ch)=(6,4,13)

TVC sigma (RMS) (c,b,ch)=(6,4,2)

TVC sigma (RMS) (c,b,ch)=(6,4,6)

1
100

TVC sigma (RMS) (c,b,ch)=(6,4,10)

1
100

TVC sigma (RMS) (c,b,ch)=(6,4,14)

TVC sigma (RMS) (c,b,ch)=(6,4,3)

TVC sigma (RMS) (c,b,ch)=(6,4,7)

2

15F

TVC sigma (RMS) (c,b,ch)=(6,4,11)

100

2

15pF

TVC sigma (RMS) (c,b,ch)=(6,4,15)

100

15F




TVC sigma (RMS) (c,b,ch)=(6,5,0)

£

TVC sigma (RMS) (c,b,ch)=(6,5,4)

2F -
s ‘\IIM/_IJV _
L]

TVC sigma (RMS) (c,b,ch)=(6,5,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(6,5,12)

TVC sigma (RMS) (c,b,ch)=(6,5,1)

15

15

TVC sigma (RMS) (c,b,ch)=(6,5,5)
2

151

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,5,9)

TVC sigma (RMS) (c,b,ch)=(6,5,13)

!

TVC sigma (RMS) (c,b,ch)=(6,5,2)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,5,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(6,5,14)

TVC sigma (RMS) (c,b,ch)=(6,5,3)

TVC sigma (RMS) (c,b,ch)=(6,5,7)

15pF -1

TVC sigma (RMS) (c,b,ch)=(6,5,11)

TVC sigma (RMS) (c,b,ch)=(6,5,15)

15k E




TVC sigma (RMS) (c,b,ch)=(6,6,0)

T T
2k .

TVC sigma (RMS) (c,b,ch)=(6,6,4)

T T
2k .

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,6,8)

TVC sigma (RMS) (c,b,ch)=(6,6,12)

TVC sigma (RMS) (c,b,ch)=(6,6,1)

T T
2k

TVC sigma (RMS) (c,b,ch)=(6,6,5)

TVC sigma (RMS) (c,b,ch)=(6,6,9)

TVC sigma (RMS) (c,b,ch)=(6,6,13)

TVC sigma (RMS) (c,b,ch)=(6,6,2)

TVC sigma (RMS) (c,b,ch)=(6,6,6)

l'|r||I||||I||||I|

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,6,10)

TVC sigma (RMS) (c,b,ch)=(6,6,14)

TVC sigma (RMS) (c,b,ch)=(6,6,3)

2k .

15F -

1 L]
|

TVC sigma (RMS) (c,b,ch)=(6,6,7)

15 1

TVC sigma (RMS) (c,b,ch)=(6,6,11)

TVC sigma (RMS) (c,b,ch)=(6,6,15)




TVC sigma (RMS) (c,b,ch)=(6,7,0)

L

-

JF 4
ISJN\/\A\HJ ]
1

s ]
15W _

TVC sigma (RMS) (c,b,ch)=(6,7,8)

o
ol
o
ol
o
3

TVC sigma (RMS) (c,b,ch)=(6,7,12)

TVC sigma (RMS) (c,b,ch)=(6,7,1)

151 E

TVC sigma (RMS) (c,b,ch)=(6,7,5)

15 =1

TVC sigma (RMS) (c,b,ch)=(6,7,9)

TVC sigma (RMS) (c,b,ch)=(6,7,13)

TVC sigma (RMS) (c,b,ch)=(6,7,2)

TVC sigma (RMS) (c,b,ch)=(6,7,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,7,10)

N
—TTT T

15

AT

1
100

o
ol
oS

TVC sigma (RMS) (c,b,ch)=(6,7,14)

15

A1

TVC sigma (RMS) (c,b,ch)=(6,7,3)

TVC sigma (RMS) (c,b,ch)=(6,7,7)

15k -

50 100

TVC sigma (RMS) (c,b,ch)=(6,7,11)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,7,15)




TVC sigma (RMS) (c,b,ch)=(6,8,0)

-

AN 4
15‘\)M _
I

TVC sigma (RMS) (c,b,ch)=(6,8,4)

TVC sigma (RMS) (c,b,ch)=(6,8,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(6,8,12)

TVC sigma (RMS) (c,b,ch)=(6,8,1)

E T T ]

TVC sigma (RMS) (c,b,ch)=(6,8,5)

15 -1

ih

TVC sigma (RMS) (c,b,ch)=(6,8,9)

2

TVC sigma (RMS) (c,b,ch)=(6,8,13)

151 -

I

TVC sigma (RMS) (c,b,ch)=(6,8,2)

TVC sigma (RMS) (c,b,ch)=(6,8,6)

25

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,8,10)

TVC sigma (RMS) (c,b,ch)=(6,8,14)

TVC sigma (RMS) (c,b,ch)=(6,8,3)

2k i

15f E
1 4

| L

TVC sigma (RMS) (c,b,ch)=(6,8,7)

15F -

TVC sigma (RMS) (c,b,ch)=(6,8,11)
T T
2k 4

15pF -1

TVC sigma (RMS) (c,b,ch)=(6,8,15)

15 -1




TVC sigma (RMS) (c,b,ch)=(6,9,0)

TVC sigma (RMS) (c,b,ch)=(6,9,4)

1
100

2

-

TVC sigma (RMS) (c,b,ch)=(6,9,8)

-

F
mlu\yjk(w

o

TVC sigma (RMS) (c,b,ch)=(6,9,1)

L[
15J\(\rﬁ\}w
1]
1

TVC sigma (RMS) (c,b,ch)=(6,9,5)

TVC sigma (RMS) (c,b,ch)=(6,9,9)

T
2k

15

o

TVC sigma (RMS) (c,b,ch)=(6,9,13)

100

TVC sigma (RMS) (c,b,ch)=(6,9,2)

TVC sigma (RMS) (c,b,ch)=(6,9,6)

1
100

TVC sigma (RMS) (c,b,ch)=(6,9,10)

1
100

TVC sigma (RMS) (c,b,ch)=(6,9,14)

TVC sigma (RMS) (c,b,ch)=(6,9,3)

TVC sigma (RMS) (c,b,ch)=(6,9,7)

15F

b

50

100

TVC sigma (RMS) (c,b,ch)=(6,9,11)

15

1
100

TVC sigma (RMS) (c,b,ch)=(6,9,15)

15[




TVC sigma (RMS) (c,b,ch)=(6,10,0)

ljl 1 1

TVC sigma (RMS) (c,b,ch)=(6,10,4)

TVC sigma (RMS) (c,b,ch)=(6,10,8)

TVC sigma (RMS) (c,b,ch)=(6,10,12)

TVC sigma (RMS) (c,b,ch)=(6,10,1)

15 B

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,10,5)

TVC sigma (RMS) (c,b,ch)=(6,10,9)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,10,13)

TVC sigma (RMS) (c,b,ch)=(6,10,2)

15

|q||||||||||||||||

TVC sigma (RMS) (c,b,ch)=(6,10,6)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(6,10,14)

TVC sigma (RMS) (c,b,ch)=(6,10,3)

15F

TVC sigma (RMS) (c,b,ch)=(6,10,7)

TVC sigma (RMS) (c,b,ch)=(6,10,11)

15[

TVC sigma (RMS) (c,b,ch)=(6,10,15)




TVC sigma (RMS) (c,b,ch)=(6,11,0)

J

TVC sigma (RMS) (c,b,ch)=(6,11,4)

TVC sigma (RMS) (c,b,ch)=(6,11,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(6,11,12)

TVC sigma (RMS) (c,b,ch)=(6,11,1)

T T
2k -

15 B

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,11,5)

TVC sigma (RMS) (c,b,ch)=(6,11,9)

15 =

L
1 1
50 00
TVC sigma (RMS) (c,b,ch)=(6,11,13)
T T
AR .
15 -
1 .
n n n n 1 n n n n 1 n
50 100

TVC sigma (RMS) (c,b,ch)=(6,11,2)

TVC sigma (RMS) (c,b,ch)=(6,11,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,11,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(6,11,14)

TVC sigma (RMS) (c,b,ch)=(6,11,3)
25 T T

15 1

TVC sigma (RMS) (c,b,ch)=(6,11,7)

T T
2k .

15 R

TVC sigma (RMS) (c,b,ch)=(6,11,11)

15 N

TVC sigma (RMS) (c,b,ch)=(6,11,15)

15 R




TVC sigma (RMS) (c,b,ch)=(6,12,0)

TVC sigma (RMS) (c,b,ch)=(6,12,4)

TVC sigma (RMS) (c,b,ch)=(6,12,8)

25F T T =

TVC sigma (RMS) (c,b,ch)=(6,12,12)

TVC sigma (RMS) (c,b,ch)=(6,12,1)

15

TVC sigma (RMS) (c,b,ch)=(6,12,5)

15

0

TVC sigma (RMS) (c,b,ch)=(6,12,9)

TVC sigma (RMS) (c,b,ch)=(6,12,13)

1

TVC sigma (RMS) (c,b,ch)=(6,12,2)

TVC sigma (RMS) (c,b,ch)=(6,12,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,12,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(6,12,14)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,12,3)
T T

15 1

TVC sigma (RMS) (c,b,ch)=(6,12,7)
T T

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,12,11)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,12,15)

15F -1




TVC sigma (RMS) (c,b,ch)=(6,13,0)

TVC sigma (RMS) (c,b,ch)=(6,13,4)

1
100

TVC sigma (RMS) (c,b,ch)=(6,13,8)

1
100

25F T

TVC sigma (RMS) (c,b,ch)=(6,13,12)

TVC sigma (RMS) (c,b,ch)=(6,13,1)

1
100

TVC sigma (RMS) (c,b,ch)=(6,13,5)

15

1
100

TVC sigma (RMS) (c,b,ch)=(6,13,9)

TVC sigma (RMS) (c,b,ch)=(6,13,13)

T
2k

TVC sigma (RMS) (c,b,ch)=(6,13,2)

TVC sigma (RMS) (c,b,ch)=(6,13,6)

TVC sigma (RMS) (c,b,ch)=(6,13,10)

1
100

TVC sigma (RMS) (c,b,ch)=(6,13,14)

T

TVC sigma (RMS) (c,b,ch)=(6,13,3)

15F

1
100

TVC sigma (RMS) (c,b,ch)=(6,13,7)

15

Hh

100

TVC sigma (RMS) (c,b,ch)=(6,13,11)

TVC sigma (RMS) (c,b,ch)=(6,13,15)




TVC sigma (RMS) (c,b,ch)=(6,14,0)

L |
1( 50 100

TVC sigma (RMS) (c,b,ch)=(6,14,4)

TVC sigma (RMS) (c,b,ch)=(6,14,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(6,14,12)

TVC sigma (RMS) (c,b,ch)=(6,14,1)

15

TVC sigma (RMS) (c,b,ch)=(6,14,5)

15

TVC sigma (RMS) (c,b,ch)=(6,14,9)

TVC sigma (RMS) (c,b,ch)=(6,14,13)

151

TVC sigma (RMS) (c,b,ch)=(6,14,2)

TVC sigma (RMS) (c,b,ch)=(6,14,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,14,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(6,14,14)

TVC sigma (RMS) (c,b,ch)=(6,14,3)
T T

15 1

TVC sigma (RMS) (c,b,ch)=(6,14,7)
T T

TVC sigma (RMS) (c,b,ch)=(6,14,11)

TVC sigma (RMS) (c,b,ch)=(6,14,15)




TVC sigma (RMS) (c,b,ch)=(6,15,0)

-
T

TVC sigma (RMS) (c,b,ch)=(6,15,4)

1
100

T
2k

-
T

TVC sigma (RMS) (c,b,ch)=(6,15,8)

100

TVC sigma (RMS) (c,b,ch)=(6,15,12)

TVC sigma (RMS) (c,b,ch)=(6,15,1)

TVC sigma (RMS) (c,b,ch)=(6,15,9)

TVC sigma (RMS) (c,b,ch)=(6,15,13)

TVC sigma (RMS) (c,b,ch)=(6,15,2)

TVC sigma (RMS) (c,b,ch)=(6,15,6)

1
100

TVC sigma (RMS) (c,b,ch)=(6,15,10)

TVC sigma (RMS) (c,b,ch)=(6,15,3)

T
2k

15

1
100

TVC sigma (RMS) (c,b,ch)=(6,15,7)

2F T

TVC sigma (RMS) (c,b,ch)=(6,15,11)

TVC sigma (RMS) (c,b,ch)=(6,15,15)




TVC sigma (RMS) (c,b,ch)=(7,0,0)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,0,4)

5 T T

TVC sigma (RMS) (c,b,ch)=(7,0,8)

=

TVC sigma (RMS) (c,b,ch)=(7,0,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,0,1)

TVC sigma (RMS) (c,b,ch)=(7,0,5)

T T
25 -

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,0,9)

15 -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,0,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,0,2)

:F--I--I--I-

TVC sigma (RMS) (c,b,ch)=(7,0,6)

15

- N T

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,0,10)

25

N
LI e e e e

I T T

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(7,0,14)

-|I_|I|I||||I||||I||||

TVC sigma (RMS) (c,b,ch)=(7,0,3)

TVC sigma (RMS) (c,b,ch)=(7,0,7)

15pF

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,0,11)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,0,15)

3F T T




TVC sigma (RMS) (c,b,ch)=(7,1,0)

-

L ]
15}% |
LT

1

J/V\NJU\I\MIL

-

|||J 1 1

TVC sigma (RMS) (c,b,ch)=(7,1,1)

T T
2k -

15F E

TVC sigma (RMS) (c,b,ch)=(7,1,5)

TVC sigma (RMS) (c,b,ch)=(7,1,9)

TVC sigma (RMS) (c,b,ch)=(7,1,2)

TVC sigma (RMS) (c,b,ch)=(7,1,6)

TVC sigma (RMS) (c,b,ch)=(7,1,3)

T T
2k .

15 -1

TVC sigma (RMS) (c,b,ch)=(7,1,7)

15 -

TVC sigma (RMS) (c,b,ch)=(7,1,11)

T T
2k .

o
ol
o

TVC sigma (RMS) (c,b,ch)=(7,1,12)

100

TVC sigma (RMS) (c,b,ch)=(7,1,13)

1
100

TVC sigma (RMS) (c,b,ch)=(7,1,14)

100

TVC sigma (RMS) (c,b,ch)=(7,1,15)




TVC sigma (RMS) (c,b,ch)=(7,2,0)

-
T

1
100

TVC sigma (RMS) (c,b,ch)=(7,2,4)

-
T

100

TVC sigma (RMS) (c,b,ch)=(7,2,8)

by

TVC sigma (RMS) (c,b,ch)=(7,2,12)

TVC sigma (RMS) (c,b,ch)=(7,2,1)

T
2k

TVC sigma (RMS) (c,b,ch)=(7,2,5)

1
100

TVC sigma (RMS) (c,b,ch)=(7,2,9)

TVC sigma (RMS) (c,b,ch)=(7,2,13)

100

TVC sigma (RMS) (c,b,ch)=(7,2,2)

15

|#|I||||I||||I||

1
100

TVC sigma (RMS) (c,b,ch)=(7,2,6)

15

A T N

1
100

TVC sigma (RMS) (c,b,ch)=(7,2,10)

15

|

1
100

TVC sigma (RMS) (c,b,ch)=(7,2,14)

TVC sigma (RMS) (c,b,ch)=(7,2,3)

TVC sigma (RMS) (c,b,ch)=(7,2,7)

15F

TVC sigma (RMS) (c,b,ch)=(7,2,11)

100

15

TVC sigma (RMS) (c,b,ch)=(7,2,15)

100




TVC sigma (RMS) (c,b,ch)=(7,3,0)

TVC sigma (RMS) (c,b,ch)=(7,3,4)

-

o
ol
o
ol
o
3

TVC sigma (RMS) (c,b,ch)=(7,3,12)

Il

TVC sigma (RMS) (c,b,ch)=(7,3,1)

TVC sigma (RMS) (c,b,ch)=(7,3,5)

15 =1

TVC sigma (RMS) (c,b,ch)=(7,3,9)

15

TVC sigma (RMS) (c,b,ch)=(7,3,13)

15 -1

TVC sigma (RMS) (c,b,ch)=(7,3,2)

TVC sigma (RMS) (c,b,ch)=(7,3,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,3,10)

1
100

o
ol
oS

TVC sigma (RMS) (c,b,ch)=(7,3,14)

TVC sigma (RMS) (c,b,ch)=(7,3,3)

TVC sigma (RMS) (c,b,ch)=(7,3,7)

15F -

TVC sigma (RMS) (c,b,ch)=(7,3,11)

L ]
lsl\/l\/'l/—/ﬁn
1

TVC sigma (RMS) (c,b,ch)=(7,3,15)

LT

15 -1




TVC sigma (RMS) (c,b,ch)=(7,4,0)

,_‘
T
1

TVC sigma (RMS) (c,b,ch)=(7,4,4)

TVC sigma (RMS) (c,b,ch)=(7,4,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(7,4,12)

TVC sigma (RMS) (c,b,ch)=(7,4,1)

T T
P -

15 N

TVC sigma (RMS) (c,b,ch)=(7,4,5)

T T
AN -

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,4,9)

25

15

TVC sigma (RMS) (c,b,ch)=(7,4,13)

TVC sigma (RMS) (c,b,ch)=(7,4,2)

TVC sigma (RMS) (c,b,ch)=(7,4,6)

15

T

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,4,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(7,4,14)

15

N

TVC sigma (RMS) (c,b,ch)=(7,4,3)

15 T

15

TVC sigma (RMS) (c,b,ch)=(7,4,7)

1 L3

TVC sigma (RMS) (c,b,ch)=(7,4,11)

15 7

TVC sigma (RMS) (c,b,ch)=(7,4,15)




TVC sigma (RMS) (c,b,ch)=(7,5,0)

TVC sigma (RMS) (c,b,ch)=(7,5,4)

Lk ]
15“‘\/\|\|~rklﬁ |

TVC sigma (RMS) (c,b,ch)=(7,5,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(7,5,12)

TVC sigma (RMS) (c,b,ch)=(7,5,1)

2 T T

TVC sigma (RMS) (c,b,ch)=(7,5,5)

T T
2k -

TVC sigma (RMS) (c,b,ch)=(7,5,9)

TVC sigma (RMS) (c,b,ch)=(7,5,13)

TVC sigma (RMS) (c,b,ch)=(7,5,2)

s

TVC sigma (RMS) (c,b,ch)=(7,5,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,5,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(7,5,14)

15

A

TVC sigma (RMS) (c,b,ch)=(7,5,3)

TVC sigma (RMS) (c,b,ch)=(7,5,7)

15F -

TVC sigma (RMS) (c,b,ch)=(7,5,11)
T T
s 4

15pF -1

TVC sigma (RMS) (c,b,ch)=(7,5,15)




TVC sigma (RMS) (c,b,ch)=(7,6,0)

T T
2

TVC sigma (RMS) (c,b,ch)=(7,6,4)

T T
2k

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,6,8)

TVC sigma (RMS) (c,b,ch)=(7,6,12)

TVC sigma (RMS) (c,b,ch)=(7,6,1)

TVC sigma (RMS) (c,b,ch)=(7,6,5)

2k -

15 =1

TVC sigma (RMS) (c,b,ch)=(7,6,9)

15 -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,6,13)

2 T T

15 -1

TVC sigma (RMS) (c,b,ch)=(7,6,2)

2

15

l'!‘uuluuuuluuuul

TVC sigma (RMS) (c,b,ch)=(7,6,6)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,6,10)

15

N

1
100

o
ol
oS

TVC sigma (RMS) (c,b,ch)=(7,6,14)

TVC sigma (RMS) (c,b,ch)=(7,6,3)

TVC sigma (RMS) (c,b,ch)=(7,6,7)

2k .

15k -

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,6,11)

15[ 1

o

05F 1 1
50 100

TVC sigma (RMS) (c,b,ch)=(7,6,15)

2k -




TVC sigma (RMS) (c,b,ch)=(7,7,0)

=
- 5 N
i{_ﬁ

TVC sigma (RMS) (c,b,ch)=(7,7,4)

TVC sigma (RMS) (c,b,ch)=(7,7,1)

15

oy

1
100

TVC sigma (RMS) (c,b,ch)=(7,7,5)

100

TVC sigma (RMS) (c,b,ch)=(7,7,8)

o

o
ol
o

TVC sigma (RMS) (c,b,ch)=(7,7,12)

100

TVC sigma (RMS) (c,b,ch)=(7,7,9)

25 T T

15 -1

TVC sigma (RMS) (c,b,ch)=(7,7,13)

15 -1

TVC sigma (RMS) (c,b,ch)=(7,7,2)

15

|¢I||||I||||I|||

1
100

TVC sigma (RMS) (c,b,ch)=(7,7,6)

TVC sigma (RMS) (c,b,ch)=(7,7,3)

TVC sigma (RMS) (c,b,ch)=(7,7,7)

15F -

1
100

TVC sigma (RMS) (c,b,ch)=(7,7,10)

15

N A

o
ol
oS

1
100

TVC sigma (RMS) (c,b,ch)=(7,7,14)

15

N T N

TVC sigma (RMS) (c,b,ch)=(7,7,11)

100

TVC sigma (RMS) (c,b,ch)=(7,7,15)

100




TVC sigma (RMS) (c,b,ch)=(7,8,0)

2

-

TVC sigma (RMS) (c,b,ch)=(7,8,4)

2k .
15 1
L

-

TVC sigma (RMS) (c,b,ch)=(7,8,8)

2 .
15 1
1 .
L—]

TVC sigma (RMS) (c,b,ch)=(7,8,12)

TVC sigma (RMS) (c,b,ch)=(7,8,1)

TVC sigma (RMS) (c,b,ch)=(7,8,13)

TVC sigma (RMS) (c,b,ch)=(7,8,2)

1
100

TVC sigma (RMS) (c,b,ch)=(7,8,10)

2F T

1
100

TVC sigma (RMS) (c,b,ch)=(7,8,14)

15

TVC sigma (RMS) (c,b,ch)=(7,8,3)

2k

15

1
100

TVC sigma (RMS) (c,b,ch)=(7,8,7)

15

o

100

TVC sigma (RMS) (c,b,ch)=(7,8,11)

2k

15pF

100

TVC sigma (RMS) (c,b,ch)=(7,8,15)

15F




TVC sigma (RMS) (c,b,ch)=(7,9,0)

TVC sigma (RMS) (c,b,ch)=(7,9,4)

|
50

1
100

2

TVC sigma (RMS) (c,b,ch)=(7,9,8)

50

100

25

TVC sigma (RMS) (c,b,ch)=(7,9,12)

1
100

TVC sigma (RMS) (c,b,ch)=(7,9,1)

T
2k

1
100

TVC sigma (RMS) (c,b,ch)=(7,9,5)

2

15

TVC sigma (RMS) (c,b,ch)=(7,9,9)

TVC sigma (RMS) (c,b,ch)=(7,9,13)

TVC sigma (RMS) (c,b,ch)=(7,9,2)

TVC sigma (RMS) (c,b,ch)=(7,9,6)

LI||I||||I||||I|

1
100

TVC sigma (RMS) (c,b,ch)=(7,9,10)

1
100

TVC sigma (RMS) (c,b,ch)=(7,9,14)

N

TVC sigma (RMS) (c,b,ch)=(7,9,3)

TVC sigma (RMS) (c,b,ch)=(7,9,7)

50

100

TVC sigma (RMS) (c,b,ch)=(7,9,11)

15F

1
100

TVC sigma (RMS) (c,b,ch)=(7,9,15)

15




